(® idealer”

EMREEE RAS— BB T A A MR Saho e r=#,
FERDLBRE T HRERSIK OEM £R, RINBRFAWMNEN, #AE2ER, BT, RAEHRR

Ideal bell continually strives to be a leading manufacturer of pneumatic components and systems for distributors and OEMs

worldwide. We want to satisfy our customers, employees, owners and society in equal measure




What We Value
BITEMAA?

B1E 0I5 Al 8hE
Confident, Honesty, Open, Creative

AMAARN T

[ thaddal 1o

*

ZE R snRBIEE

Business Strategy Quality Policy

RetlET, ERMZRE HEE—, ARk, BREH

Stay innovative and professional, work together with Quality first, technology- oriented, pursuit of excellence
customers!

i

RERE
Service Principle

WiERE, BY W 2R
Integrity-based, gain a "win-win" goall

1]

Directory

BHX

Certifications

Introduction

Stainless Steel Fittings

Erass Push Fittings

Welding Fittings

Composite Push In Fittings & Valves
Speed Controllers

Brass Pipe Fittings

Barbed Fittings

Brass Push On Fittings

Compression Fittings

Vacuum Generators

Air Tubes

Pneumatic Silencer

www.ideal-bell.com

Zhejiang Ideal Bell Technology Co.,Ltd. 02




Certifications
ABNED

CortiTicate Noi L01IGISEIEAS

ZHEJIANG IDEAL BELL
TECHNOLOGY CO., LTI

Ohqunito e o S T
40 4 AT TR ST RGABRAN AN VDR STBIAL IR S8, . EULLAS)
Az

jing homglLien ThruRue Cortif TR covcif e the
Qraley Mingprrornt Spatrm of rie shots mepancurien s buew sisemad and foand 10 bt
i oy mith shy reguaremat of iy et
1505001z 2008

SOOPE OF CERTIFICATION REGISTHATION
PRIBUCTEN, EUMATIC FITT O

1006 OSI

Syt
GOD¥I 0140080

. \ijusting Pocumatic Tubs

i : Flitings

nejlang Ideal-bogl

L Teehnology (o, LD P eien e

L1006 OSI

T Carhcals 6 A o7 § Tl of B s By
erm Now FOuk, X004 To: Naw Stk 2017

riaflests chsl]

Betrusied Tegy

Beljing Zhangliantianrun Certification Center

e b

&

b g bbbl b o0 bl
e : F £

L ] Dot MmN g e

e AL BELL TECHARO0T G0.110
50, Bt it ol P e inoatied Pk Sy, G

Sarmpie infetmien.
Syl s Stmalons Soael Posh ba F g

Mot

Samyle compoimon, s sl {meppicd by chemis Rl e socbee: § of dhe U503 pmponm Tnformumn 2

e
5618 0THTS - B

- ‘Stmrtesa e

ol gt e 08 Ao 200
e T
e R By R
e et 1 et i)
[T —

fgrodben
B prs Froe g 34, 2012 80 St o, 5008

Bsnend o o - .
iercury, €ariraam, Hexmaiied Cirnrem ompl Wi e e st oy ke

© K pordied by the cliowt. w e Mnesial Salry Dia Sheoes (VIS iy e sl
gl miereston

T A el by e el This aafiry i deut s perpand o sl il LY
A% BT, The U CLF HATALATION 003 e | 375008, sl 1% CTSI0A usasd
Cormmmicaian Sy 127 (1R 1910 2300, Pl iy w0 s stuchod v b
deiah

Bped s oo beva
CTC aredarth Sl Sosrsies. CHangra] G LML
‘Shanghu Changym Toumg Tachaslogy Ca Lui

&

i R g Bl B €5 L1
o 110, V8 Tirmes esrarat Gusing, o 16, Kysn Kioad, Arang 17w, judes (s, Shamghs
ek 216 1T, T w0331 £8P0 - puclichargyin-ak o, e chagin-ih

)8

%

Company Prolife
AR

TEIRBE—REEEHENBER RS —ENRE, BT 2007 &, FFEMUTFITRETWERK, SHMER 10000 F5%, Fil
AREERSBDRERE, TRUFAURIFELERES, AFFEM™ 2500 H17=mIIRES I,

EPURE LR ESENEL, S, BEE, SEAEY, S8, HERET R, XEFRIOZATSEMNS, TLEE, Ak BHN,
EfT, SEIMEFTL.

3GaPURERIMR—E SR BRI EE— k. Jik, AT 1S09001: 2008, HEIFIAIREEEERMNEHERIE
FamBKIREYE, FFHEE CE, SGS F-MmiliE. ZHERIAIREFH “IDEALER'™ RIERTISETHREEHEM. JbeM, M
M, T, PREL0 BIERNUX, FRASEPRIATAER.

Ideal-bell originated in 2007 as a professional manufacturer of pneumatic components. We owning and operating “IDEALER"” trademark fittings,
but also is experienced in ODM & OEM service.

We offer a wide range of products to satisfy your requirements. Such as Push in fittings, Pneumatic Cylinders, Solenoid valves, Air source Unit,
Air Tube, Muffler & air gun etc., which are widely used in automotive industry, auto-machinery, environmental protection, medical equipments,
construction, and packaging industries and so on.

Ideal Bell production plant locates in Panan Industrial park, Jinhua, which is 2 hours away from Ningbo port. It covers 10000m?, equipped with dust-
free work shop & auto assembly lines & modernized laboratory, annual production capacity reaches 25 million pcs. Quality is the priority of Ideal
bell, cost efficiency constant! In order to earning that, we passed 15S09001:2008 to standardize our production procedure and guality control system,
also getting CE, SGS, etc. certifications. Our goods are well recognized in world market, such as Europe, South America, North America, Asia, Middle
East, etc.

To work better with our customers, we will continually develop new and innovative solutions to meet your needs. Our experienced staff and high

equipped facility enabled us to support you competitive in your market!

Zhejiang Ideal Bell Technology Co.,Ltd. 04




www.ideal-bell.com

Stainless Steel Fittings
R eEE Features/

Stainless Steel Fittngs suitable for all those applications where brass nickel-plated and acetal fittings are banned, the new AISI 316L
fitting is conceived to withstand corrosive environments (substances), to channel aggressive fluids and to be used in the food and chemical

industries. Stainless Steel fittings line is standard equipped with Viton seals that will assure endurance at the highest temperatures.

ock Claw (SUS) dy (SUS) Claw (SUS)

oliar {SUS} ollar (SUS)
Release Sleeve (SUS) lease Sleeve (SUS)

| _“"‘:7 ,\m
X Ring (SUS) Ring {SUS)
Packing (FKM) ki e
ng (FKM)
Irclips (spring steel) irclips (spring stuel}
Ring (FKM) Ring (FKM)
O-Ring (FKM)
atal Body (SUS) atal Body (SUS)
Specifications/ HARMIE
Working Pressure Range  BEirwies] -0.98~ 15 Bar
Working Temperature Range EREEEyiNS -15°C ~220°C
Vacuum Rating to T50mmHg
Recommanded Tubings PAL1, PAL2, PA6, PE, PU,PTFEFEP
Pneumatics, Food Industry, Chemical, Medical and Pharmaceutical Industry
Tube Outside Diameter You Can Choose As Follows: Thread Size For Your Choice As Follows:
A LiERNSEIMERSHINT: EELLAENBA RN INT:

[ | MetricSize/ ABIRY Inch Size/ EMR T Code No. £53

CodeNo.fi8 | 4 | 6 | 8 |10 | 12 | 532 | 14 |56 | 3/8 | 112

T“"?é’;‘;;g Dia| oa | o6 | o8 | 010| 012|05/32| 014 |05/26| 93/8 | 9112

Thread Size &R <+

Zhejiang Ideal Bell Technology Co.,Ltd. 06




www.ideal-bell.com

Stainless Steel Fittings
ARG

SSPC

o E =l B | T e e Y T T
SSPC4-GO1 2 4 G1/8 55 14
SSPCA-MS 201 4 M5 35 10 SSPCA-GO2 239 4 G1/4 7 17
SSPC6-GO1 208 6 G1/8 55 14
SSPCA-ME 211 4 M 45 10 SERCBICE? on . ¢ 14 - o
SSPCE-M5 207 6 M5 35 12 S5PCE-GO3 208 6 G3/8 a 19
SSPCE-GO4 2.7 6 612 9 24
SSPC6-ME 217 6 MG 45 12 SSPCB-GO1 278 8 G1/8 55 14
SSPCB-GO2 238 8 G1/4 T 17
SSPC5/32-M5 201 53 M5 35 10 : SSPCB-GO3 238 8 638 8 19
SSPC5/32-U10 201 5/32 u10-32 35 10 SSPCE-GO4 22.8 8 G1/2 9 24
$SPC10-GO1 278 10 G1/8 55 17
- >I__ SSPC5/22-M6 211 5/32 M6 45 10 — SSPC10-G02 208 10 G 1/4 7 17
— b SSPC10-GO3 208 10 G3/8 8 19
FHENAHE a3 HA e 3 A% SSPC10-GD4 248 10 6172 9 n
SSPC1/4-U10 207 174 U10-32 35 12 SSPC12-G02 316 12 G1/4 7 19
oW - SSPC12-G03 26 12 38 8 19
S5PC1/4-M6 217 1/4 M6 45 12 < SSPC12-GO4 276 12 G1/2 9 24

SSPC1/4-UL 247 1/4 UN1/8 6 14

o ORing | o :-ﬂﬂi

| temCoge [ A | 8 | ¢ | o | s |
S5PCF4-M5 236 4 M5 T 12
SS Pc SS PCF SSPCF4-M6 236 4 ME& 5 12
' SSPCF6-M5 237 6 M5 7 12
I tace A S T | [~ " B SSPCF6-M6 237 6 M6 7 12
55PC4-01 20.7 4 PT1/8 8 10 SSPCF4-01 24.6 4 PT 1/8 8 14
S5PCA-02 24.1 4 PT1/4 11 14 SSPCF4-02 216 4 PT 1/4 11 17
S5PCE-01 20.7 6 PT1/8 8 12 SSPCFE01 24.7 6 PT1/8 8 14
S5PCG-02 247 6 FT 1/4 3] 14 SSPCF6-02 1.7 6 PT 1/4 11 17
55PCE-03 5.7 6 PT3/8 12 19 SSPCFE03 287 6 PT3/8 12 19
S5PCG-04 30.7 6 PT1/2 15 22 S5PCF5-04 317 6 PT1/2 15 24
S5PC8-01 27 8 PT1/8 8 14 S5PCFR-01 26.3 8 PT1/8 8 14
SSPC8-02 %5 8 PT 1/4 1 14 ) SSPCFE-02 293 8 PT 1/4 11 17
SSPC8-03 26 8 PT3/8 12 19 . SSPCFB-03 303 8 PT3/8 12 19
SSPC8-04 31 8 PE12 15 2 SSPCF8-04 333 8 PT1/2 15 24
SSPC10-01 29.7 10 PT1/8 B 1T SSPCF10-01 289 10 PT 1/8 ] 17
SSPC10-02 322 10 PT1/4 1 17 SSPCF10-02 313 10 PT 1/4 11 17
S5PC10-03 325 10 PT3/8 12 19 SSPCFL0-03 329 10 PT3/8 12 19
SSPC10-04 36.5 10 PT1/2 15 2 SSPCFL0-04 359 10 PT1/2 15 24
S5PC12-02 347 12 PT 1/4 1 19 SSPCF12-02 341 12 PT1/4 11 21
SSPC12-03 347 12 PT 3/8 12 19 SSPCF12-03 351 12 PT 3/8 12 21
SSPCIZ-04 387 12 PT1/2 15 22 SSPCF12-04 381 12 PT1/2 15 24
tem code T e B ——— SSPCFS/32 S 26 52 s : 1
SSPC5/32-N01 20.7 5/32 NPT 1/8 8 10 SSPCF5/32-M6 23.6 5/32 M6 T 12
SSPC5/32-N02 24.1 532 NPT 1/4 11 14 SSPCF1/4-M5 237 1/4 M5 7 12
B_..o-’_g SSPC1/4-ND1 207 1/4 NPT 1/8 8 12 B j_ SSPCF1/4-M6 237 14 M6 7 12
SSPC1/4-N02 247 1/4 NPT 1/4 11 14 SSPCF5/32-N0L 246 5/32 NPT 1/8 B 14
IEI SSPCL/4-ND3 25.7 1/4 NPT 3/8 12 14 SSPCF5/32-N02 276 5/32 NPT 1/4 11 17
SSPC1/4-MD4 30.7 1/4 NPT 1/2 15 2 [ ] SSPCF1/4-NOL 247 1/4 NPT 1/8 8 14
sw SSPC5/16-NOL 27 5/16 NPT 1/8 8 14 SSPCF1/4-NO2 1.7 14 NPT 1/4 11 17
< \F SSPC5/16-N02 25 5/16 NPT L/4 11 14 SSPCF5/16-M0L 26.3 5/16 NPT 1/8 8 14
= SSPCS/16-N0O3 26 5/16 NPT 3/8 12 19 < W c SSPCF5/16-N02 293 5/16 NPT 1/4 1n 17
SSPC5/{16-N04 31 5/16 NPT 1/2 15 2 I I SSPCF5/16-M03 303 5/16 NPT 3/8 12 19
e M ¢ SSPC3/8-N01 292 38 NPT 1/8 -] 17 | | = SSPCF5/16-N04 333 5/16 NPT 1/2 15 24
SSPC3/8-N02 317 3/8 NPT 1/4 11 17 SSPCF3/8-NOL 289 38 NPT 1/& 8 17
SSPC3/8-ND3 317 3/8 NPT 3/8 12 18 SSPCF3/8-N0O2 319 38 NPT 1/4 1 17
SSPC3/8-ND4 357 3/8 NPT 1/2 15 2 SSPCF3/8-NO3 329 38 NPT 3/8 12 13
SSPCL/2-ND2 347 12 NPT 1/4 11 19 SSPCF3/8-NO4 359 3/8 NPT 1/2 15 24
SSPC1/2-N03 347 12 NPT 3/8 12 19 SSPCF1/2-NO2 341 172 NPT 1/4 11 21
SSPC1/2-ND2 387 12 NPT 1/2 15 n SSPCF1/2-NO3 351 12 NPT 3/8 12 21
SSPCF1/2-N04 38.1 1/2 NPT 1/2 15 24

07 Zhejiang Ideal Bell Technology Co.,Ltd. D8



www.ideal-bell.com

Stainless Steel Fittings
AEEPIRFERE L

SSPCF T T S -
S5PL5/32- N'Dl. 186 5;32 NPT 1{3
SSerEccnt e . 618 - 14 SSPL1/4-NOL 187 1/4 NPT 1/8 8 234 21 27 12
SSPL1/4-ND2 187 1/4 NPT 1/4 11 234 205 265 14
SSPCF-G02 274 4 G/ 2L i SSPL1/4-NO3 187 1/5 NPT 3/8 12 23.4 265 325 19
S5RCRG-GOL 2447 G G1/8 8 14 SSPL1/4-NO4 187 1/6 NPT 1/2 15 234 305 365 2
S5PCF6-G02 217 6 G1l/4 1 17 SSPL5/16-NO1 20 5/16 NPT 1/8 8 252 2 29 1
SSPCF8-GOL 26.8 8 G1/8 8 14 SSPL5/16-N02 20 5/16 NPT 1/4 11 252 24.5 315 14
SSPCF8-GO2 208 8 G1/4 11 17 S5PL5/16-N03 20 5/16 NPT 3/8 12 252 215 345 19
SSPCFE.GO3 08 % 638 2 19 S5PL5/16-N04 20 5/16 NPT 1/2 15 252 315 38.5 2
r— e - 61 18 - | SSPL3/8-NOL 24.7 3/8 NPT1/8 8 312 28 36.5 17
@ SSPL3/8-NO2 247 38 NPT 1/4 11 312 31 39,5 17
Sl 2 L 61/8 4 2 SSPL3/8-N03 247 3/8 NPT 3/8 12 312 31 395 19
SSPCF10-G02 L9 10 G1/4 i . i SSPL3/8-NO4 247 3/8 NPT 1/2 15 a2 34 425 2
SSPCF10-GO3 29 10 G3/8 12 19 5 v SSPLI/2-NO2 272 12 NPT1/4 11 349 323 42 17
SSPCF10-GO4 359 1o 61/2 15 24 a ¢ SSPL1/2-NO3 21.2 12 NPT 3/8 12 349 323 42 19
SSPCF12-GO2 341 12 G1/4 11 21 SSPL1/2-NO4 272 2 NPT 1/2 15 349 353 45 2
SSPCF12-GO3 35.1 12 G3/8 12 21
SSPCF12-G04 38.1 12 G172 15 24

N T T T T T O R N T S O
SSPL4-GOL 186 4 61/8 255
ZEARAE L SSPL4-GO2 1856 4 GL/4 T n.a 2n 25 17
SSPL4-M6 186 4 M6 45 23 195 245 12 SSPLG-GOL 187 6 G1/8 55 234 215 215 14
SSPL6-GO2 187 6 G1/4 7 3.4 21 pig 17
SSPLE-MS5 18.7 6 M5 35 234 19.5 255 12 SSPL6-GO3 187 5 638 8 234 2 28 19
SSPLE-ME 187 6 M 45 234 205 %65 I SSPL6-GO4 187 6 G1/2 9 234 235 295 24
SSPL8-GO1 20 8 G1/8 55 252 75 295 14
SSPLS5/32-M5 186 5/32 M5 35 223 185 235 12 SSPLE-GO2 20 8 G1/4 7 252 2 29 17
SSPL8-GO3 20 8 G3/8 8 252 23 34 19
SSPL5/32-U10 186 5 U10-32 5 23 185 235 12
3 / e SSPL8-GO4 20 8 G1/2 9 252 245 355 24
SSPLS/32-M8 186 5/32 M6 45 23 195 245 12 E SSPL10-GO1 252 10 G1/8 55 3L7 265 35 17
A SSPL10-GO2 252 10 G174 7 T 275 36 17
SSPL1/4-M5 18.7 1/4 M5 35 234 19.5 255 12 - ek e ik c8 . 457 e 5 18
o SSPL1/4-U10 18.7 1/4 U10-32 35 234 19,5 255 12 & “‘I SSPL10-GO04 252 10 G1/2 9 317 295 28 24
v sw SSPL12-G02 27.2 1 G1/4 7 34.9 28.8 385 17
s S SSPL1/a-M6 18.7 14 M6 45 234 205 265 12 of SSPLIA GO 313 i 638 s %13 a3 e 1
=] SSPL1/4-01U 18.7 1/4 UN1/8 6 234 2 28 14 T SSPL12-GO4 212 13 G612 9 348 213 37 24
[=]

--:---_-—m
B N A S B N

55PL4-01 4 PT 1/8
S5PL4-02 1&6 4 PT 1/4 11 12.3 22.5 2?.5 14 CSPTA-MS 272 4
SSPLE-01 187 6 PT1/8 8 234 21 27 12
SSPLE-02 18.7 6 PT 1/4 11 234 235 29.5 14 S5PT4-M6 372 4 M6 4.5 195 245 12
S 602 18T 5 PT3/8 2 24 255 52 1 SSPT6-M5 374 6 M5 35 195 255 12
SSPL6-04 187 6 FT1/2 15 234 305 365 22
SSPL8-01 20 8 PT1/8 8 252 2 29 12 SSPT6-M6 375 6 M6 45 20.5 265 12
S5PLE-02 20 8 PT 1/4 11 252 245 3.5 14
SepLB.03 20 p PT3/8 1 55 275 e 18 SSPT5/32-M5 372 5/32 M5 35 185 235 12
E SSPLB-04 20 8 PT1/2 15 252 35 385 2 SSPT5/32-U10 37.2 5/32 U10-32 35 185 235 12
A SSPL10-0L 252 10 PT1/8 8 317 28 365 17
gy iy 10 PT 1/4 = a7 51 85 o SSPT5/32-M6 372 5/32 M6 45 195 245 12
o SSPL10-03 752 10 PT3/8 12 317 3 395 19 SSPT1/4-M5 314 1/4 M5 35 19.5 255 12
SSPLL0-04 252 10 PT 12 15 37 34 425 p7)
" SSPLI2-02 279 2 PT /4 57 348 323 o I SSPT1/4-U10 374 1/4 U10-32 35 19.5 255 12
e W SSPL12-03 212 -2 FT3/8 12 348 323 42 12 SSPT1/4-M6 375 174 M6 45 205 265 12
SSPL12-04 212 12 FT 12 15 49 353 45 2
a = SSPT1/4-U01 375 1/4 UN1/B 6 2 28 14

09 Zhejiang Ideal Bell Technology Co.,Ltd. 10



www.ideal-bell.com

Stainless Steel Fittings
AEEPIRFERE L

SSPT SSPUC
--__-“

sw 7 . A v 7 R e
PT4- 2 1 u 22 21, 14
Soigy i 5 108 - 5 s s SSPUCA 324 105 4 SSPUCS/32
S5PT6-02 374 g PT 1/4 11 235 29.5 14 S5PUCE 326 125 B SSPUCL/4 326 12.5 1!4
SSPT6-03 374 6 PT3/8 12 265 125 19 SSPUCS 356 145 8 SSPUCS/16 356 145 5/16
gﬁgﬁ 374 6 F"Tr 12 15 3;5 3;5 ﬁ $SPUCI0 411 175 10 SSPUC3/8 411 175 3/8
ss:‘?ra-oz ﬁ g g’r ]1‘;2 i s e 1% SSPUCI2 4.7 195 12 SSPUCL/2 447 195 12
SSPT8-03 40 8 PT3/8 12 215 345 19
SSPT8.04 40 8 PT 12 15 35 385 2
SSPT10-01 454 10 PT1/8 8 8 365 17
SSPT10-02 454 10 PT 1/4 1 3 395 17
SSPT10-03 454 10 PT3/8 12 31 39.5 19
SSPT10-04 454 10 PT1/2 15 34 134 i m-“ _“—“
SSPT12-02 54.4 12 PT 1/4 11 23 ) 17 — E sSRalimEE | 188
SSPT12-03 544 12 PT3/8 12 223 I 19
CEBTIoNN p 5 oT1n i 363 & 5 SSPULG 18.7 234 12 6 SSPULL/A 187 234 12 114
SSPULB 20 252 14 8 SSPUL5/16 20 252 14 5/16
SSPULIO 247 312 17 10 SSPUL3/E 247 312 17 38
-‘-m—“ e bl 1 SRS AP IS IS e
SSPT5/32-NO1 372 NPT 1/8
SSPT5/32-N02 312 5,?32 NPT 1/4 11 22,5 27.5 14
A SSPT1/4-NO01 374 1/4 NPT 1/8 8 21 27 12
2 SSPT1/4-N02 74 1/4 NPT 1/4 11 20.5 2.5 14
SSPT1/4-N03 274 1/4 NPT 3/8 12 265 325 19
permio e o e o . e e —ﬂn -n—
SSPT5/16-NO1 40 5/16 NPT 1/8 8 2 29 12 SSPUT4 a2 1o SSPUTS/32 186
SSPT5/16-M02 40 5/16 NPT 1/4 11 24.5 31.5 14 SSPUTE 18.7 234 12 6 SSPUT1/4 187 234 12 1{4
SSPT5/16-N03 40 5/16 NPT3/8 12 275 345 19 SSPUTB 20 252 1 SSPUTS/16 20 252 14 5/16
SSPT5/16-N04 40 5/16 NPT 1/2 15 s 385 2 SSPUTI0 247 312 17 10 SSPUT3/8 247 312 17 3/8
SETAEA0L A5A /e NET3/8 B = 355 I ssPUTI2 272 3459 195 2 SPUTI2 272 34.9 195 12
SSPT3/8-N02 454 38 NPT 1/4 11 31 395 17
SSPT3/8-N03 454 3/8 NPT 3/8 12 3 305 19
SSPT3/8-M04 454 3/8 NFT 1/2 15 34 425 2
SSPT1/2-N02 54.4 172 NPT 1/4 1 23 a2 7
SSPT1/2-M03 54.4 112 NPT3/8 12 23 42 19
SSPT1/2-N04 544 12 NPT 1/2 15 353 45 n

CEDSSEE AT [T S S T
M12*1

SSPT SSPMM4 M12°L SSPMM5/32 324  5/32

-n——-“ el S A i T M .. . R .55 M= AR

SSPT4-G01 37.2 4 G1/8 205 SSPMM3E 356 B M1671 19 12 SSPMME/16 356 5/16 M16*1 19 12

SSPT4-G02 372 4 G1/4 11 20 25 17 SSPMM10 4Ll 10 M20*1 24 14 SSPMM3/8 4Ll 3/8 M20*L 24 14

SSPT6-GOL 37.4 6 G1/8 8 215 215 14 7 :

g v . i 1 iy 57 o SSPMM12 447 12 M1 26 17 SSPMM1/2 447 12 M22'1 26 17

SSPTE-G03 37.4 [ G3/8 12 22 28 19

SSPT6-G04 37.4 6 G1/2 15 235 295 24

SSPT8-GO1 40 8 G1/8 8 225 29.5 14

SSPT8-G02 40 8 G1/4 11 22 29 17

SSPT8-G03 40 8 G3/8 12 23 34 19

SSPTB-GO4 40 8 G172 15 245 3558 24

SSPT10-GO1 45.4 10 G1/8 3T 265 35 17

SSPT10-G02 454 10 G1/4 317 215 36 17

SSPT10-G03 45.4 10 G3/8 317 285 27 19

SSPT10-G04 45.4 10 G1/2 317 29.5 28 24

sPIGR2 544 2 G1/4 349 253 35 17 -IIII“II “—-

SSPT12-G03 54.4 12 G3/8 349 263 36 19 SSPG12-10 175 195 SSPGL1/2:3/8 429

S5PT12-G04 54.4 12 G1/2 348 273 37 24 SSPG10-8 384 8 10 145 175 SSPG3/8-5/16 384 5;15 3;3 145 175
SSPGB-6 341 6 8 125 145 SSPG5/16-1/4 341  1/4 5/16 125 145
SSPGG4 288 4 6 125 105 SSPG1/4-5/32 288 532 1/4 125 105

1 Zhejiang |deal Bell Technology Co.,Ltd. 12



Brass Push Fittings
2 REREE L

www.ideal-bell.com

Structural Diagram

Lock Claw (SUS)

Body (Brass)

Collar (Brass)
Release Sleeve (Brass)

. Back Ring (POM)
“U-Packing (NBR. FKM)

. . ~Circlips (spring steel)
¢ =) O-Ring (NBR. FKM)
O-Ring (NBR., FKM)

5
N
& Matal Body (Brass)

Features/ J54iE

* Double O-Ring design make sure the 100% sealing

* The collet made in Stainless Steel ensure the perfect tube clamping with every kinds of materials without damage the surface
*The connection between the tube and the fittings ensure a total tightness even in severe conditions such as impact and vibration
* The particular geometric shape of the seals ensure the perfect tightness even with vacuum.

Specifications/ ERME

Applicable Fluid Type Air, Water(No Drinking Water) Vacuum

Working Pressure Range ~ BIEEFLYE -0.99~15Bar

Working Temperature Range Bl -15%C ~71°C

Vacuum Rating t028"Hg

Recommanded Tubings PALL, PAL2, PAB, PE, PU,FEPPFA

Tube Outside Diameter You Can Choose As Follows: Thread Size For Your Choice As Follows:
BRI LOERNSEIMERSITF: ERILOEERNBL R

[ | MetricSize/ A¥RY Inch Size/ EMR T Code No. £53

CodeNo.fi8 | 4 | 6 | 8 |10 | 12 | 532 | 14 | 56| 3/8 | 12

T“"'ﬁ’;";;g Dial w4 | o6 | 98 | o10| 012|05/32| o1/4 | 05/16| 9378 | w1/

Thread Size &R <+

Zhejiang Ideal Bell Technology Co.,Ltd. 14



www.ideal-bell.com

Brass Push Fittings
RiEE X

MPC-BSPT | | MPC-BSPP

Tube OD

Tube OD

ftem Code Tube ¢

\ i Item Code . Tube ¢

MPC3-01 3 1/8 T5 19.5 10 2 MPC3-G01 3 14 1/8 55 185 10 2
MPC3-02 3 1/4 9 185 14 2 o MPC3-G02 3 17 1/4 6.9 185 10 2
MPC3-03 3 3/8 10 0.5 17 2 MPC4-G01 4 14 i/8 55 185 10 3
MPC3-04 3 12 13 235 21 2 MPC4-G02 4 17 1/4 6.9 185 10 3
MPC4-01 4 1/8 75 19.5 10 3 MPC6-GO1 6 14 1/8 5.5 18.7 12 5
MPC4-02 4 1/4 ] 185 14 3 MPC6-G02 6 17 1f4 6.9 202 12 5
MPC6-01 6 1/8 7.5 19.7 12 5 MPC6-G03 6 19 3f8 82 0.2 12 5
MPC6-02 6 1/4 9 20.2 14 5 MPC6-G04 6 24 1/2 9.2 212 12 5
MPC6-03 6 3/8 10 1.2 17 5 MPC8-GO1 8 14 1/8 55 23 14 5
MPC6-04 6 1/2 13 242 21 5 MPC8-G02 8 17 1/4 6.9 214 14 [
MPCE-01 8 1/8 75 24 14 5 MPC8-503 8 19 38 8.2 2.2 14 6
@ MPC8-02 8 1/4 g 225 14 6 MPC8-G04 8 24 1/2 9.2 217 14 &
MPCB-03 8 3/8 10 1.2 17 ] MFPC10-GOL 10 14 1/8 55 54 17 5
MPC8-04 8 12 13 2432 21 5 MPC10-G02 10 17 1/4 6.9 267 17 §
MPC10-01 10 1/8 75 265 17 5 MPC10-G03 10 19 3/8 B2 252 17 8
MPCI0-02 10 1/4 9 6.5 17 [ MPC10-GO4 10 74 1f2 9.2 2T 17 8
MPC10-03 10 3/8 10 6.2 17 B MPC12-G02 12 17 1/4 6.9 BT 19 [
MPC10-04 10 12 13 4.7 21 8 MPC12-G03 12 18 3/8 8.2 27 19 8
MPC12-02 12 1/4 9 30.2 19 (5 MPC12-G04 12 24 12 9.2 283 21 8
MPC12-03 12 3/8 10 283 19 8
MPC12-04 12 12 13 28.7 21 8

MPCF-BSPT

Tube OD NPT Tube OD
Item Code Tube ¢ B C L ‘ sw1 SW2 \ .:‘n Item Code | Tube & |
MPCL/8-NOL 1/8 18 75 195 10 2 MPCE3-01 3 106 1/8 95 245 12
MPC1/8-N02 18 14 g 185 14 2 MPCF3-02 3 106 174 1 2% 17
MPC5/32-N01 5/32 1/8 15 195 10 3 MPCF4-01 a 106 1/8 95 25 12
MPC5/32-N02 5/32 1/4 9 185 14 3 MPCFA-02 4 106 1/4 11 2% 17
MPC1/4-NOL 1/4 18 7.5 18.7 12 5 MPCF6-01 6 124 18 95 47 14
MPC1/4-N02 /4 s 9 0.2 el 5 MPCF6-02 6 124 1/4 11 262 17
MPCL/4-N03 174 38 10 212 17 5 e g 5 ™ 3 % %
MPCL/4-No4 1/4 12 13 242 21 5 e - o " 15 - -
MECHIs I BB i e = 3 3 MPCF8.01 8 137 8 95 % 14
MPCS/16-N02 5/16 i 9 e . = MPCF8-02 8 14.6 1/4 11 215 17
MPC5/16-N03 5/16 38 10 212 17 6 e - e - 5 - I
MPC5/16-N04 5/16 1/2 13 42 21 6
Sl i i s o o . MPCF8-04 8 146 12 15 205 24
MPC3/8-N02 38 1/4 g 265 17 6 N MPCF10-01 10 16.8 1/8 9.5 284 1r
3 — S = 5 % — = = MPCF10-02 10 168 1/4 11 299 17
MPC3/8-NO4 38 12 13 24.7 21 8 MPCF10-03 10 176 3/8 12 308 15
o R i i 5 555 % . == & MPCF10-04 10 176 12 15 339 2
e MPCL/2-N03 12 8 3 — 15 = 4 A = MPCF12-02 12 196 1/4 11 321 21
5 < \’\ 5? MPC1/2-No4 12 12 13 287 21 g 13 / MPCF12-03 12 196 3/8 12 331 21
& 7} | MPCF12-04 12 196 12 15 36.1 24
|

15 Zhejiang Ideal Bell Technology Co.,Ltd. 16



www.ideal-bell.com

Brass Push Fittings
2 REREE L

MPCF-NPT | | MPOC-BSPT

Tube OD ‘

|

Item Code

Item Code Tube ¢ |

MPCF1/8-N01 1/8 106 18 9.5 245 12 MPOC 3-01 3 10 1/8 75 185 2
MPCF1/8-NO2 1/8 10.6 1/4 1 26 17 MPOC 3-02 3 14 1/4 9 185 2
MPCF5/32-N01 5/32 106 1/8 9.5 245 12 MPOC 4-01 4 10 1/8 75 195 3
MPCF5/32-N02 5/32 10.6 1/a 11 26 17 MPOC 4-02 4 14 1/4 9 18.5 3
MPCF1/4-No1 1/4 124 1/8 9.5 247 14 MPOC 6-01 6 12 1/8 15 187 5
MPCF1/4-N02 1/4 124 1/4 11 26.2 17 MPOC 6-02 6 14 1/4 9 202 5
A MPCF1/4-N03 1/4 124 3/8 12 212 13 MPOC 6-03 6 17 3/8 10 212 5
. MPCF1/4-N04 1/4 124 1/2 15 30.2 24 MPOC 6-04 6 n 1/2 13 242 5
/E MPCF5/16-ND1 5/16 137 /8 9.5 26 14 MPOCS8-01 a 14 1/8 75 24 5
i MPCF5/16-ND2 5/16 14.6 1/4 11 215 17 MPOC 8-02 8 14 1/4 g 225 6
MPCF5/16-N03 5/16 14.6 38 12 285 19 = MPOC8-03 8 17 3/8 10 212
- . MPCF5/16-N04 5/16 14.6 12 15 295 24 MPOC 8-04 8 2 12 13 242 6
Isw g = ] MPCF3/8-Nol 38 16.8 1/8 95 84 17 MPOC 10-01 10 17 18 15 265 5
| _ 1] MPCF3/8-NO2 38 168 14 1 299 17 MPOC 10-02 10 17 1/4 9 265 6
N = MPCF3/8-N03 38 176 38 12 09 19 MPOC10-03 10 17 3/8 10 2.2 8
I B / MPCF3/8-NO4 3/8 176 11 15 39 24 MPOC 10-04 10 22 1/2 13 265 &
MPCF1/2-N02 12 196 1/4 11 321 21 MPOC12-02 12 20 1/ 9 30.7 6
MPCF1/2-N03 12 19.6 38 12 331 21 MPOC 12-03 12 20 3/8 10 283 8
MPCF1/2-No4 12 196 112 15 361 24 MPOC 12-04 12 22 12 13 26.5 8
MPCF-BSPP MPOC-NPT
Tube OD ' : Tube DD
\ ediny Item Code . Tube ¢ c Item Code Tube ¢ . SW
MPCF3-GO1 3 10.6 1/8 8 23 12 MPOC 1/8-N01 1/8 10 1/8 75 195 2
MPCF3-G02 3 106 1/4 8 24 17 MPOC 1/8-N02 1/8 14 1/4 9 185 2
MPCF4-GOL 4 106 18 8 2 12 MPOC 5/32-N01 5/32 10 1/ 7.5 195 2
MPCF4-G02 4 106 1/4 g 24 17 MPOC 5/32-N02 5/32 14 1/4 9 i85 3
MPCF6-GOL 6 124 1/8 8 232 14 MPOC L/4-NO1 o = 18 e P z
MPCFB-G02 6 124 1/4 9 242 17 MPOC 1/4-N02 14 i 4 5 2% 2
MPCF6-GO3 5 124 3/8 10 252 19 e v = 5 - o z
MPCF6-G04 6 124 1/2 13 282 24
ir—-‘ MPCF8-GOL ! 138 1/8 8 245 14 oozt N e & n s e §
— e 8 iE V4 B - = MPOC 5/16-N01 5/16 14 1/8 7.5 24 5
[ i — RS AE x TiE 8 1o ok W MPOC 5/16-N02 5/16 14 1/4 9 225 6
1 MPCFB-GO4 8 146 12 13 205 24 MPOC 5/16-N03 5/16 Y 3/8 10 212 &
i MPCF10-GO1 10 16.8 1/8 8 26.9 17 4 MPOC 5[16-N04 516 22 1f2 13 242 6
- MPCFL0-G02 10 16.8 1/4 9 278 17 MPOC 3/8-N01 3/8 7 1/8 75 265 5
MPCF10-G03 10 17.6 3/8 10 289 19 R =77 MPOC 3/8-N02 3/8 17 1/4 9 265 [
SW - = MPCF10-G04 10 176 12 13 319 24 o / j\ MPOC 3/8-N03 38 17 38 10 262 8
\ =" “ MPCF12-G02 12 19.6 1/4 9 30.1 21 ! "//3; 8 MPOC 3/8-N04 38 22 12 13 265 8
. = 1 MPCF12-G03 12 1956 38 10 311 21 & MPOC 12-N02 12 % 1 5 S ¢
8/ MRREA O _ s “ 1 2 2 i MPOC 1/2-N03 12 20 3 10 283 8
MPOC 1/2-N04 12 2 12 13 265 8

17 Zhejiang Ideal Bell Technology Co.,Ltd. 18



www.ideal-bell.com

Brass Push Fittings
2 REREE L

MPOC-M | | MPL-NPT

Tube OD

Itern Code

MPOC 3-M5 3 10 MS 35 1 2 MPLL/BNOL 18 10 18 15 o4 18.8 206 10
MPOC 3-M6 3 10 M8 45 20 2 MPLL/E-NOZ  1/8 ®10 14 9 o4 188 21 14

MPOC 4-M5 4 10 M5 35 19 2 MPLS/32N01  5/32 10 18 75 o4 188 206 10

MPOC 4-M& 4 10 MB& 4.5 20 2 MPL5/32-N02 5/32 ®©10 1/4 9 (-1} 188 211 14

MPOC 6-M5 6 12 M5 35 198 2 MPL1/4-NOL 1/4 ©12 1/8 ] 4 204 21 10

MPOC 6-M6 6 1 M6 45 208 2 MPLL/A-NOZ  1/4 o12 1/4 9 04 20.4 25 14

MPLS/IE-NOL  5/16 14 18 75 o4 234 s 10

MPOC 1/8-M5 18 10 M5 35 19 2 o MPLS/I6-N02  5/16 ®14 14 9 o1 234 255 14

e - MPOC 1/8-M6 1/8 10 ME 45 20 2 P MPL5/16-N03 5/16 @14 3/8 10 @7 234 255 17
S MPOC 5/32-M5 532 10 M5 35 19 2 { ] < MPLS/16NO4  5/16 14 112 13 o7 234 285 P2

' MPOC 5/32-M6 5/32 10 M6 45 2 2 Lk MPL3/&-NOL  3/8 17 18 15 o4 272 25 10

i - MPOC 1/4-M5 1/4 12 M5 35 198 2 3 ' MPL3/8-N02 3/8 ®1T 1/4 9 o7 272 26 14
MPOC 1/4-M6 14 1 M6 45 208 2 o =18 MPL3/S-NO3 38 17 3/8 10 10 2 215 17

— E ] MPL3/8-N04 3/8 17 1f2 13 @10 272 305 2
= o MPOC 1/8-U10 18 10 UNF10-32 3s 19 2 8" | MPLI/2-N02 12 ®20 14 9 7 309 2 14
- MPOC 5/32-U10 5/32 10 UNF10-32 35 19 2 MPLL/2Z-NO3  1/2 020 38 10 10 30.9 25 17

MPOC 1/4-U10 14 n UNF1032 15 198 2 MPLL2-NO4 172 20 112 13 10 309 305 n

MPL-BSPT MPL-M

| TuBeoD |

as | Tube

MPL3-01 3 @10 1/8 75 4 188 06 10 MPL3-M5 3 ®10 M5*0.8 35 @2 188 18.8 10
MPL3-02 3 ©10 1/a g ut] 18.8 211 14 MPL3-M& 3 ©10 M&*1 45 $15 18.8 0.8 10
MPL4-01 4 @¢10 1/8 75 @4 18.8 206 10 MPL4-M5 4 10 M5*0.8 3.5 @2 18.8 15.8 10
MPL4-02 4 10 1/4 9 o4 18.8 211 14 MPL4-MG 4 @10 M6"1 45 2.5 18.3 208 10
MPL6-01 6 12 1/8 75 o4 204 21 10 MPLG-M5 6 ®12 M5%0.8 35 ®2 204 20.2 10
MPLG-02 5 12 1/4 9 o4 204 215 14 MPLE-M& 6 ®12 ME*1 45 25 204 212 10
MPL8-01 8 14 1/8 75 o4 234 225 10
MPL8-02 8 14 1/4 £ &7 234 255 14 MPL1/8-M5 1/8 ®10 M5*0.8 35 ®2 188 15.8 10
MPL8-03 8 14 38 10 &7 234 255 17 e MPL1/8-M& 1/8 @10 M5*1 45 @25 18.8 208 10
. MPLS-04 8 o14 12 13 @7 234 285 21 f 2 MPL5/32-M5 5/32 ®10 M5'0.8 35 2 18.8 19.8 10
/r#’z_ w, MPL10-01 10 ©17 1/8 7.5 4 212 245 10 MPL5/32-M& 5/32 ©10 ME*1 45 $2.5 18.8 208 10
= [ : a MPL10-02 10 @17 1/4 L] @7 212 26 14 MPL1/4-M5 1/4 ®12 M5*0.8 35 2 204 202 10
: m&L ZEgn NN vy MPL10-03 10 17 38 10 10 2712 275 17 MPL1/4-M6 1/4 $12 M1 45 2.5 204 212 10
9 L| L MPL10-04 10 ©17 12 13 10 272 305 21
& '; MPL12-02 12 $20 14 ] o7 309 28 14 MPLL/8-U10 1/8 $10 UNF10-32 3.5 P2 18.8 19.8 10
i — 5 MPL12-03 12 ©20 3/8 10 Q10 309 215 17 MPL5/32-U10 532 @10 UNF10-32 35 ®2 18.8 158 10
B MPL12-D4 12 20 112 13 10 309 305 bil MPL1/4-U10 1/4 ®12 UNF10-32 35 ®2 20.4 202 10

19 Zhejiang |deal Bell Technology Co.,Ltd. 20



www.ideal-bell.com

Brass Push Fittings
2 REREE L

MPL-BSPP | | MPLF-BSPT

TUBECD

Tube Itme Code

MPL3-G01 3 @10 1/8 55 v 188 206 12 MPLF3-01 3 10 3 18 188 241 14
MPL3-GO2 3 @10 1/4 6.9 &4 la8 205 14 MPLF3-02 3 10 11 1/4 18.8 271 17
MPL4-GO1 4 @10 1/8 55 @4 188 206 12 MPLF4-01 4 10 8 1/8 18.8 24,1 14
MPLA-GO2 4 @10 1/4 69 >4 138 205 1 MPLF4-02 4 10 1 1/4 18.8 211 17
MPL6-GO1 6 @12 1/8 55 4 204 21 12 MPLEGOL ¢ i 3 s 204 o a
MPLE-G0Z & o1 i 52 &4 04 203 s MPLF6-02 6 12 1 14 204 75 7
MPL8-GO1 8 @14 1/8 55 4 234 25 12 e . » . N 224 ” »
MPL8-G02 8 @14 1/4 59 o7 234 249 14 Py g “ " e iy 5 .
MPL8-G03 8 @14 3/8 8.2 @7 234 242 17 S 2 . = = = 7 =
MPLB-GO4 8 @14 12 02 7 234 272 17
MPL10-GO1 10 @17 1/8 5.5 LT 272 24.5 12 HpLEE oL ¢ 1‘ * i B * 24
MPL10-G02 10 17 1/4 69 @7 272 254 14 upLrio ot 1 " ¢ 2 e ® “
MPL10-G03 10 ®17 3/8 82 ®10 272 287 17 MPLFID-02 10 Y " i = T v
MPL10-GO4 10 17 12 92 ®10 272 292 17 MEHIO 1 i ¥ e i “ &
MPL12-G02 12 @20 1/4 69 o7 309 274 14 MPLERY. # - - W2 Ak i &
MPL12-G03 12 @20 38 82 ®10 308 287 17 MBCFID = 2 L 1 203 35 i
MPL12-G04 12 20 12 92 10 309 292 17 MPLF12-03 12 20 12 3/8 308 34 18
MPLF12-04 12 20 15 1/2 30,9 37 24
MPLF-NPT
item Cade tube A B c L1 | 2 SW
MPLF3-M5 3 10 7 M5 18.8 231 12
B $ ” 5 i — - - MPLE1/8-N01 18 10 8 18 18.8 241 14
MPLF4-M5 4 10 7 M5 18.8 231 12 MPLFL/8-NO2 18 10 11 1/4 18.8 211 17
pEp— " i 5 o p— = 13 MPLF5/32-N01 5/32 10 3 1/8 18.8 241 1
MPLFE-M5 6 12 T M5 04 235 12 MPLF5/32-N02 532 10 11 1/4 18.8 211 17
N A " 5 - i - - - MPLF1/4-NO1 1/4 12 3 18 204 245 14
MPLF1/4-N02 14 12 1 14 204 715 17
MPLF5/32-M5 5/32 10 7 M5 18.8 231 12 MPLF5/16-N0O1 5/16 14 £ /8 234 6 14
MPLF5/32:M6 532 10 7 Mg 188 21 45 MPLF5/16-N02 5/16 14 1 14 23.4 28 17
MPLE L A % z o 204 e % MPLF5/16-N03 5/16 14 12 38 234 28 19
PN ” = g i 54 s i3 MPLF5/16-N04 5/16 14 15 12 234 28 2
MPLF3/8-N01 3/8 17 8 18 272 28 14
MPLF3/8-N02 38 17 1 1/4 212 215 17
MPLF5/32-U10 532 10 7 10-32UNF 188 2.1 12 e S 5 5 7 = 5 %
MPLF1/4-U10 532 12 7 10-32UNF 204 25 12 MPLF3/8-N0A a8 ¥ 5 2 % i -
MPLF1/2-N02 12 20 11 14 209 35 17
MPLFL/2-N03 12 20 2 38 30.9 3 19
MPLF1/2-N04 12 20 15 12 309 a7 2

27 Zhejiang |deal Bell Technology Co.,Ltd. 22



www.ideal-bell.com

Brass Push Fittings
2 RERE L

MPLF-BSPP MPT-NPT

MPLF3-GO1 3 10 8 1/8 18.8 24.1 14 MPT1/8-N01 18 10 18 15 4 376 206 10
MPLF3-G02 3 1 11 1/4 18.8 27.1 iy MPT1/8-N02 1/8 10 1/4 g b4 316 211 14
MPLF4-G01 4 10 8 /8 18.8 241 14 MPT5/32-NO1 5/32 10 1/8 75 o4 31.6 206 10
MPLF4-G02 4 10 11 1/a 18.8 71 1 MPT5/32-N02 5/32 10 1/4 9 4 3186 211 14
MPLFE-GO1 & 12 8 1/8 204 24.5 14 MPT1/4-NO1 1/4 @12 1/8 75 D4 40.8 21 10
MPLFB-G02 ] 12 11 1/4 204 215 17 2 MPT1/4-N02 1/4 @12 1/4 ] tha 408 215 14
MPLFB-GO1 8 14 8 1/8 234 26 14 e MPTS/16-N01 5/16 D14 1/8 1.5 P4 46.8 225 10
MPLFB-G02 8 14 11 1/4 234 28 17 MPT5/16-N02 5/16 h14 1/4 9 &7 488 255 14
MPLFE-G03 8 14 12 38 234 28 19 MPT5/16-N03 5/16 P14 3/8 10 @7 46.8 255 17
MPLFE-G04 ] 14 15 12 234 28 24 N N | «  MPT5/16-N04 5/15 14 112 13 o7 468 28.5 21
MPLF10-GO1 10 7 8 1/8 272 28 14 7 ! | MPT3/8-NO1 3/8 17 1/8 7.5 4 54.4 245 10
MPLF10-G02 10 7 1 1/a 212 315 7 B‘E; MPT3/8-N02 3/8 17 1/4 9 o 54.4 26 14
MPLF10-G03 10 7 12 3/8 272 34 19 — MPT3/8-N03 3/8 @17 38 10 10 54.4 215 17
MPLF10-GD4 10 7 15 1/2 2 37 24 “l E—-& MPT3/8-N04 3/8 17 12 13 10 544 305 21
MPLF12-GD2 12 20 11 1/4 309 335 17 - B MPT1/2-N02 1/2 20 1/4 g a7 618 28 14
MPLF12-G03 12 20 12 3/8 30.9 34 19 MPTL/2-N03 1/2 920 s 10 10 618 215 17
MPLF12-G04 12 20 15 1/2 309 37 24 MPT1/2-No4 1/2 ©20 12 13 10 618 305 21

MPT-BSPT MPT-BSPP

MPT3-01 3 10 1/8 75 ®4 376 206 10 MPT3-GO1 3 P10 /8 55 4 76 20.6 12

MPT3-02 3 10 1/4 9 ®4 376 211 14 MPT3-G02 3 P10 1/4 6.9 o4 e 205 14

MPT4-01 4 P10 1/8 7.5 o4 376 20,6 10 MPT4-GOL 4 ©10 1/8 55 b4 are 20.6 12

MPT4-02 4 10 1/4 9 4 376 211 14 MPT4-GO2 4 $10 14 6.9 B4 e 205 14

MPT&-01 6 12 i/8 7.5 7] 40.8 21 10 MPT6-GOL 6 $12 1/8 5.5 b4 40.8 pil 12

MPTE-02 6 12 1/4 ] >4 40.8 215 14 MPT6-GO2 6 P12 1/4 6.9 B4 408 209 14

MPT8-01 8 14 1/8 75 b4 46.8 25 10 MPT8-GOL 8 ®14 1/8 5.5 o4 46.8 25 12

MPT8-02 8 14 1/4 9 o7 46.8 255 14 MPT8-GO2 8 ®14 1/4 6.9 @7 46.8 248 14

! 5 MPT8-03 8 ©l14 38 10 o7 458 25.5 17 MPTE-GO3 8 14 38 82 @7 46.8 242 17
MPT8-04 8 14 12 13 o7 46.8 285 21 MPT8-G04 8 ®14 1/2 9.2 o7 468 72 7

2 | q MPT10-01 10 17 1/ 7.5 &4 544 245 10 MPT10-GO1 10 17 1/8 5.5 ®4 544 245 12

o fg.\ MPT10-02 10 17 1/4 9 @7 544 26 14 MPT10-G02 10 P17 1/4 6.9 @7 54.4 254 14
f;t&\ MPT10-03 10 17 3/8 10 ©10 544 275 17 MPT10-G03 10 17 3/8 8.2 ®10 54.4 28.7 17

. \ MPT10-04 10 ®17 12 13 ©10 544 305 21 MPT10-G04 10 ®17 1/2 9.2 @10 544 292 17

MPT12-02 12 ®20 1/4 9 o7 618 28 14 MPT12-G02 12 @20 1/4 6.9 a7 61.8 274 14

MPT12-03 12 ©20 3/8 10 010 618 275 17 MPT12-G03 12 ®20 3/8 82 ®10 61.8 287 17

MPT12-04 12 ®20 1/2 13 ©10 618 305 21 MPT12-G04 12 20 1/2 9.2 ®10 61.8 292 17

73 Zhejiang Ideal Bell Technology Co.,Ltd. 24



www.ideal-bell.com

Brass Push Fittings
2 REREE L

MPT-M | | MPST-BSPP

MPT3-M5 3 P10 M5*0.8 35 2 376 19.8 10 s MPST3-GO1 3 D10 1/8 5.5 D4 18.8 394 12
MPT3-M6 3 @10 M6*1 45 2.5 3716 20.8 10 MPST3-G02 3 10 1/4 6.9 D4 18.8 393 14
MPT4-M5 4 @10 M50.8 35 &2 316 198 10 Fﬁ, MPST4-G01 4 @10 18 5.5 @4 188 394 12
MPTA-ME " 10 ME°1 45 2.5 76 208 10 ' FE MBST4-G02 4 10 1/4 5.9 d4 18.8 383 14
MPTEMS 6 o2 M5%0.8 35 ®2 408 202 10 MPSTE-GOL 6 12 1/ 5.5 &4 20.4 41.4 12
MPT6-M6 6 @12 M6*1 45 25 408 212 10 i MPSTE-G02 5 ®12 14 63 >4 204 414 %
MPSTS-GO1 8 D14 1/8 5.5 4 23.4 459 12

MPT1/8-M5 1/8 $10 M5*0.8 35 @2 37.6 198 10 MPSTB-G02 8 14 1/4 6.9 o7 234 483 14
MPT1/8-M& 1/8 ©10 M&"1 4.5 15 376 208 10 ;‘:":—r,L = MPST8-G03 8 14 38 B2 o7 234 476 17
MPT5/32-M5 5/32 10 M5*0.8 a5 2 316 198 10 | — MPSTB-G04 8 14 142 9.2 @7 234 50.6 17
MPT5/32-M6 5/32 ®10 MG*1 4.5 P25 376 208 10 MPST10-GO1 10 P17 18 5.5 D4 272 51.7 12
MPT1/4-M5 1/4 $@12 M5*0.8 3K 2 40.8 202 10 MPST10-G02 10 @17 14 6.9 @7 21.2 526 14
MPT1/4-MG 14 o1 s &5 @25 408 913 10 - I < wpsti0G03 10 17 38 8.2 @10 272 559 17
L [T MPST10-GD4 10 ®17 1/2 9.2 ©10 72 56.4 17

MPTL/8-U10 u1o ©10 UNF10-32 a5 ©2 376 198 10 i MPST12-G02 12 20 1/4 6.9 o7 30.9 58.3 14
MPT5/32-U10 u10 10 UNF10-32 35 ©2 376 19.8 10 o _ MP5T12-G03 12 20 38 8.2 10 30.9 59.6 17
MPT1/4-U10 u1o ©12 UNF10-32 a5 ©2 408 20.2 10 _ ,_ MPST12-G04 12 20 12 9.2 10 30.9 60.1 17

MPST-BSPT MPST-NPT

B
MP5T3-01 3 ®10 1/8 15 o4 188 394 10 MPST1/8-NO1 /8 P10 /8 7.5 P4 18.8 394 10
MPST3-02 3 ®10 1/4 9 4 188 399 14 MPSTL/8-NOZ /8 10 1/4 9 b4 188 399 14
MP5T4-01 4 ®10 18 75 4 188 394 10 MPST5/32-N01 5/32 ®10 1/8 7.5 P4 188 354 10
MPST4-02 4 10 1/4 9 @4 188 39.9 14 MPST5/32-ND2 5/32 @10 1/4 9 o4 18.8 399 14
MPSTE-01 6 ®i2 1/8 1.5 @4 20.4 41.4 10 MPST1/4-NO1 1/4 ©12 1/8 T.5 4 204 41.4 10
MPSTE-02 ] P12 1/4 ] ] 204 41.9 14 MPSTL/4-NO2 1/4 ©12 14 9 b4 204 419 14
MPST8-0L 8 P14 1/8 75 b4 234 459 10 MPSTS/156-NO1 5/16 bl4 1/8 7.5 b4 234 459 10
MPST8-02 8 P14 1/4 9 o7 234 48.9 14 MPST5/16-N02 5/16 Pld 1/4 9 7 234 483 14
MPST8-03 8 P14 3/8 10 o7 234 43.9 17 MPST5/16-N03 5/16 P14 38 10 ®7 234 489 1T
MPST8-04 8 ®14 1/2 13 o7 234 519 21 MPST5/16-N04 5/16 14 1/2 13 o7 234 518 2
MPST10-01 10 17 1/8 75 >4 272 517 10 MPST3/8-N01 3/8 o17 1/8 75 4 272 517 10
< MPST10-02 10 17 1/4 E] »7 272 532 14 : MPST3/8-N02 38 ©17 1/4 9 @7 FI] 532 14
MPST10-03 10 17 3/8 10 P10 272 547 17 3 ll < MPST3/8-N03 3/8 ©17 38 10 P10 212 54.7 17
MPSTL0-04 10 17 1f2 13 P10 12 57.7 21 - = MPST3/8-NO4 3/8 ®17 12 13 ®10 272 57.7 2
MPST12-02 12 20 1/4 9 o7 309 589 14 E MPSTL/2-N02 1/2 $20 1/4 9 ®7 309 589 14
MPST12-03 12 20 3/8 10 ®10 309 584 17 o ; MPST1/2-NO3 12 20 38 10 ®10 309 58.4 17
MP5T12-04 12 20 1/2 13 10 3049 61.4 1 = B!' MPST1/2-N04 12 &30 1/2 13 ®10 309 614 22

75 Zhejiang |deal Bell Technology Co.,Ltd. 26



www.ideal-bell.com

Brass Push Fittings
2 REREE L

MPST-M MPMF-BSPP

| i

C
N
MPMF3-G01 M12°1 8 235
MPST3-M5 3 ®10 M5*0.8
MPMF3-G02 3 M12*1 1/4 g9 4.5 245 14 17
- MPST3-M6 3 $10 M6*L 45 2.5 18.8 39.6 10
H MPMF4-GOL 4 M12*1 1/8 8 4.5 23.5 14 14
. ' MPST4-M5 4 @10 M5+0.8 35 2 188 386 10
‘ﬂ' MPMF4-G02 4 M12*L 1/4 9 45 245 14 17
MPST4-M& 4 @10 ME*1 45 ©25 188 306 10 MPMEE-GO1 6 M14*1 148 8 6 242 17 7
pEsToH 2 Y L a3 92 Pt 406 0 A MPMFE-GO2 6 M14*1 1/4 9 6 26.7 1 17
MPST6-M6 6 ®12 ME"1 45 25 204 416 10 MPMF5-G03 6 M14*L ET 10 6 211 17 19
MPMF5-G04 6 M14*L 12 13 6 0.7 17 24
- MPST1/8-M5 1/8 @10 M5*0.8 35 2 18.8 386 10 swi MPMFB-GOL 8 M16*1 18 8 6 24.2 15 17
L 4
T MPST1/8-M§ 1/8 ®10 ME*1 45 2.5 188 396 10 E E MPMF8-G02 8 M16%1 1/4 9 € 5.7 19 1w
MPSTS/32-M5  5/32 ®10 M5*0.8 35 2 188 386 10 g MPMFS-G03 8 M1671 38 10 6 2t 18 19
MPSTS/32-M6 5/32 ©10 ME*1 4.5 D25 18.8 39.6 10 MPRFSEGOA - ML 2 - 5 AT 4 2%
MPMF10-GOL 10 M18°1 1/8 8 105 27 1 19
MPST1/4-M5 18 ®12 M5*0.8 35 ) 204 406 10
9 < MPMF10-G02 10 M18*1 1/4 9 105 282 21 19
MPST1/4-M6 174 ®12 MB*L 45 25 204 416 10
MPMF10-G03 10 M18"1 38 10 105 317 21 19
MPMF10-G04 10 M18*1 12 13 105 B2 71 24
MPST1/8-U10 18 ®10 UNF10-32 5 2 188 386 10 e s i 14 5 n o ¥ o
1@ MPST5/32-U10 5/32 ©10 UNF10-32 35 ®2 18.8 386 10 MPMEL2-G03 12 M22*1 38 10 12 31 24 24
MPST1/4-U10 1/4 @12 UNF10-32 a5 o2 20.4 40.6 10 MPMF12-G04 12 M22*1L 12 13 12 26.5 24 24

MPMF-BSPT MPMF-NPT
——m——ﬂ

NS
M12°1

MPMF3-01 M12*1 5 14 14 MPMF1/8-NO1 1/8 95 45 25 14 14
MPMF3-02 3 M12*1 1/4 11 45 26.5 14 17 MPMF1/8-N02 18 M12*1 1/4 11 4.5 6.5 14 17
MPMF4-01 4 M12*1 1/8 ) 45 25 14 14 MPMF5/32-N01 5/32 M12°1 1/8 95 45 25 14 14
MPMF4-02 4 M12*1 1/4 1 45 265 14 17 MPMF5/32-N02 5/32 M12*1 1/4 11 4.5 26,5 14 17
MPMFE-01 6 M1471 i/8 9.5 6 257 17 17 MPMF1/4-NO1 1/4 M14%1 1/8 9.5 6 5.7 17 17
MPMFB-02 1 M14*1 1/4 11 6 287 17 17 A MPMF1/4-N02 1/4 M14*1 1/4 11 6 287 17 17
MPMF6-03 ] M14*1 3/8 12 ] 9.7 17 19 MPMF1/4-N03 1/4 M14*1 38 12 6 9.7 17 19
MPMF6-04 6 M14%1 1/2 15 6 27 17 24 MPMFL1/4-N04 1/4 M14*1 12 15 6 3T 17 24
MPMF8-01 8 M16*1 1/8 8.5 6 5.7 19 17 MPMF5/16-ND1 5/16 M16*1 18 9.5 6 5.7 19 17
MPMF8-02 ;] M16%1 1/4 11 6 nT 15 17 - = i MPMF5/16-N02 5/16 M16*1 1/4 11 6 2.7 15 17
MPMF8-03 8 M16*'1 3/8 12 6 297 18 19 B MPMF5/16-N03 5/16 M16*1 3/a 12 6 287 19 13
MPMF8-04 8 M16%1 12 15 6 327 18 24 P MPMF5/16-N04 5/18 M16%1 12 15 6 37 19 24
MPMF10-01 10 M1871 1/8 9.5 10.5 292 21 19 '{ MPMF3/8-NO1 3f8 M18*1 18 9.5 105 292 21 19
MPMF10-02 10 M1871 1/4 11 10.5 302 21 19 o/ MPMF3/8-N02 3/8 M1871 1/4 11 105 30.2 21 19
MPMF10-03 10 M1871 3/8 12 10.5 337 21 19 MPMF3/8-N03 3/8 M18°1 3/8 12 105 37 21 15
MPMF10-04 10 M18*1 12 15 10.5 372 i} 24 MPMF3/8-N04 3/8 M18*1 12 15 105 372 21 24
MPMF12-02 12 M22°1 1/4 11 12 32 24 24 MPMF1/2-N02 1f2 M22"1 1/4 11 12 32 24 29
MPMF12-03 12 M2271 3/8 12 12 33 24 24 MPMF1/2-N03 12 M22*1 3/8 12 12 33 24 24
MPMF12-04 12 M22*1 1/2 15 12 385 24 24 MPMF1/2-N04 1f2 M22*1 12 15 12 385 24 24

77 Zhejiang Ideal Bell Technology Co.,Ltd. 28



www.ideal-bell.com

Brass Push Fittings
RiEE X

MPUC MPG

; | #FE | | | BRFRE | | s Tube 0D Tube OD
= _ me Tube A L me Tube F L | = : ; - - - ; o St
Tub temn Code B
MPUC3 3 10 31 MPUCL/8 18 10 31 bt
— | MPUCA 4 10 3 MPUC5/32 5/32 10 31 ﬁ— MPGE4 6 4 1 10 312 MPG1/4-5/32 14 532 12 10 312
-
- MPUCE 6 12 314 MPUCL/4 14 B 314 MPGE6S 8 & 14 12 331 MPGS/16-1/4 5/16  1/4 14 12 3
—— MPUCB 8 14 348 MPUCS5/16 5/16 14 348
MPUCLO 10 17 394 MPUC3/8 38 17 394 ' Lt 8 i | e ol R S i il
| = MPUC12 12 20 43 MPUCL/2 12 20 43 L8 MPGI2-10 12 10 20 7 412 MPG1/2-3/8 12 3/8 20 ir 412

ltem Code| A® B® | co L item Code | A® B® | co L

: MPG.6-4 6 4 10 318 MPGJI/4-532 6 4 10 318
SR
2 & = e A L A ol = wl MPaue4 8 4 10 28 MPGJ5/16-5/32 8 4 10 28
Al g 0 e o Ll E B o o MPGJI0-8 10 8 14 383 MPGJ3/8-5/16 10 8 14 383
MticA & = 154 158 PR H 16 184 MPGJIO6 10 6 12 365 MPGJ3/8-1/4 10 6 12 6.5
MRLs : L a0k i MERE T a5 L g & MPGJIO4 10 a 10 333 MPGJ3/8-5732 10 a 10 233
UFAA q o4 it A MFULISE._ Siis 14 =4 a4 MPGJI12-10 12 10 17 3.7 MPGJ1/2-3/8 12 10 17 437
MPUL10 10 17 272 272 MPUL3/E  3/8 17 212 212 o 3 ” pre MPGI/SAE 12 4 % 410
MPUL12 12 20 309 309 MPULLZ 12 20 309 309 ] eSS . . - e = & =

MPUT MPP

g1 MPP3 3 25 MPP1/8 1/8 25
LSRRG o 35S 258 MPP4 4 25 MPP5/32 5/32 25
MPUT4 4 10 e 18.8 MPUTS/22  5/32 10 376 18.8 GEe 6 30 MPP1/4 V4 %0
MPUTE 6 12 408 204 MPUT1/4 1/4 12 408 04 MPPS s - MPPS/16 5/16 25
MPUTS 8 14 468 234 MPUT5/16  5/16 14 468 234 e 2 PR PP/ 8 g
MPUT10 10 17 544 272 MPUT3/8 s 17 544 212 ViEp2 i i MPP1/2 1\ “
MPUT12 12 20 618 309 MPUT1/2 12 20 61.8 309
'_Tune OD| THICKNESS | | | Item Code = Tubed |A(max) L | B SW
Item Code | Tuheq: A (max) L B SwW MPMM].{G 1/8 13 30 Mizxd 14
MENAERIS 1 S O MPMM5/32 532 13 1 Mza 14
MPMM4 4 13 30 M12x1 14
MPMM1/4  1/4 13 14 Mba 17
MPMME 6 13 314 Mldxl 17
s : 15 5 thed. W MPMM5/16  5/16 15 334 MG 19
MPMM1D 10 18 374 MiBxl 21 MPMM3/8  3/8 1s 374 Misd 21
MPMM12 12 2 434 ML 24 MPMML/2  1/2 2 434 M2a 24

79 Zhejiang Ideal Bell Technology Co.,Ltd. 30



Welding Fittings
eSS

www.ideal-bell.com

Features/ 51

* Brass body + Brass Button + SUS collect + NBR or Viton Seals
* Add dust Free protector to make sure cleanness of tubing during operation.
*The connection between the tube and the fittings ensure a total tightness even in severe conditions such as impact and vibration.

Specifications/ BARMIE

Applicable Fluid Type Air

Working Pressure Range  BEEryLIES)| -0.99~15Bar

Negative Pressure -4 °F ~160 °F =15°C=T1°C

Working Temperature Renge RGPLEE

el T Bl le L RIETTT - R Weeld Spatter Resistant Tubings

Thread Size For Your Choice As Follows:
TR LS ERNEA R I0TF:

Tube Qutside Diameter You Can Choose As Follows;
ERLOERNSEIMERSTIT:

_ Metric Size/ AFIR Inch Sizef EHIR Code No. {055
Sve o | @ | w6

CodeNo.#t88 | 4 | 6 | 8 |10 | 12 | 532 | 14 |56 | 3/8 | 112

= : Thread Size 84~
T s % 04 | 06 | 08 | 010( o12|05/32| oL/4 |05/16| 038 | 012

@

Zhejiang Ideal Bell Technology Co.,Ltd. 32



www.ideal-bell.com

Welding Fittings
eSS

WPC WPCF
wriE | BSPT | . wigE | NPT
0
) 7

iteW Code Tube 0D B T o 57 ey | lieW Code TubeoD | B
WPC4-01 4 ys WPC5/32-NO1 5/32 18 WPCF4-01 4 WPCF5/32-N01 5/32 18
WPC4-02 4 4 WPC5/32-NO2 5/32 14 WPCF4-02 4 14 WPCF5/32-N02 5/32 1/4
WPCE-01 6 1/8 WPC1/4-N01 Y4 18 WPCF6-01 6 ys WPCF1/4-No1 14 18
WPC6-02 6 174 WPC1/4-N02 14 1/4 WPCF6-02 6 1/4 WPCF1/4-N02 1/4 1/4
WPC6-03 5 3/8 WPC1/4-N03 14 38 WPCF6-03 6 38 WPCF1/4-N03 1/4 3/8
WPCE-04 6 12 WRC1/4-N04 1/a 12 WPCF6-04 6 12 WPCF1/4-N04 14 112
WPCa-01 a 1/8 WPCS5/16-NO1 5/16 1/8 WPCF8-01 8 /8 WPCF5/16-ND1 5/16 1/8
WPCE-02 8 14 WPC5/16-N02 5/16 1/4 WPCF8-02 8 14 WPCF5/16-N02 5/16 1/
WPCB-03 8 38 WPC5/16-NO3 5/16 3/8 WPCF8-03 8 WPCF5/16-N03 5/16 3/8
WPC8-04 8 12 WPCS5/16-NO4 5/16 12 WPCF8-04 8 12 WPCF5/16-ND4 5/16 12
WPC10-01 10 18 WPC3/8-NO1 38 18 WPCF10-01 10 ya WPCF3/8-N01 38 ya
WPC10-02 10 14 WPC3/8-N02 38 1/4 WPCF10-02 10 ya WPCF3/8-N02 38 14
WPC10-03 10 3/8 WPC3/8-N03 38 3/8 WPCF10-03 10 38 WPCF3/8-N03 38 3/8
WPC10-04 10 2 WPC3/8-N04 38 12 WPCF10-04 10 2 WPCF3/8-N04 38 12
WPC12-02 12 1/4 WPC1/2-N02 12 1/4 WPCF12-02 12 1/4 WPCF1/2-N02 12 1/4
WPC12-03 12 3/8 WPC1/2-N03 12 38 WPCF12-03 12 38 WPCF1/2-N03 12 3/8
WPC12-04 12 102 WPC1/2-N04 102 12 WPCF12-04 12 12 WPCF1/2-N04 12 12
WPC WPCF

IteW Code TubeoD | B eWCode | TubeoD :
WPCA-M5 4 M5 ;
e g o WPCF4-G01 4 ys
WPCB-M12°1.5 6 M12 WPCF4-G02 4 ya
WPC8-M12"1.5 8 M12 WPCF5-G01 6 1/8
yEA ST : s WPCF6-GD2 6 14
WPC4-G02 4 14
—— . i WPCF6-G03 6 38
WPC6-GO2 6 14 WPCFG-GD4 6 12
WPC6-G03 5 3f8 WPCFB-G0L 8 y8
WPC6-G04 6 112

WPCFB-GO02 8 14
WPCB-G01 8 ys
D g a WPCFB-G03 8 38
WPCS-GO03 8 3/8 WPCF8-G04 8 12
MW ECHG E 12 WPCF10-601 10 8
WPC10-G01 10 s

WPCF10-G02 10 14
WPC10-G02 10 14
po—— 15 8 WPCF10-603 10 38
WPC10-G04 10 G612 WPCF10-G04 10 12
WG 2 1A WPCF12-G02 12 1/4
WPC12-G03 12 3/8

WPCF12-G03 12 38
WPC12-G04 12 12

WPCF12-G04 12 12

33 Zhejiang Ideal Bell Technology Co.,Ltd. 34



www.ideal-bell.com

Welding Fittings
eSS

WPL WPT

- IteW Code TubeOD | B [ fteWCode | TubeoD [ B |
: - WPL4-01 4 18 WPL5/32-NO1 5/32 18 WPT4-01 4 18 WPT5/32-NO1 5/32 18
WPL4-02 4 14 WPLS/32-NO2 5/32 /4 WPT402 4 1/4 WPT5/32-N02 5132 1/4
WPL6-01 5 18 WPL1/4-NO1 1/4 18 WPTE-01 5 1/8 WPT1/4-NO1 1/4 1/8
WPLE-02 6 14 WPL1/4-N02 1/4 1/4 WPT6-02 6 1/4 WPT1/4-N02 1/4 1/4
WPLE-03 & 3/8 WPL1/4-N03 1/4 3/8 WPTE-03 6 3/8 WPT1/4-N03 1/4 38
WPL6-04 5 1/2 WPL1/4-N04 1/4 12 WPT6-04 5 12 WPT1/4-No4 1/4 12
WPLE-01 8 /8 WPL5/16-NO1 5/16 1/8 WPTa-01 8 1/8 WPT5/16-NO1 5/16 1/8
WPLE-02 8 /4 WPL5/16-N02 5/16 1/4 WPTB-02 8 1/4 WPT5/16-N02 5/16 1/4
WPL8-03 8 3/8 WPL5/16-N03 5/16 3/8 WPT8-03 8 3/8 WPT5/16-N03 5/16 38
WPLE-04 8 112 WPL5/16-N04 5/16 12 WPTE-04 8 1/2 WPT5/16-N04 5/16 12
WPLL0-01 10 18 WPL3/8-NO1 /8 18 WPT10-01 10 1/8 WPT3/8-NO1 3/8 1/8
WPLL0-02 10 14 WPL3/8-N02 38 1/4 WPT10-02 10 1/4 WPT3/8-N02 38 14
WPL10-03 10 3/8 WPL3/8-N03 8 3/8 WPT10-03 10 3/8 WPT3/8-NO3 3/8 8
WPL10-04 10 2 WPL2/8-N04 3/8 12 WPTL0-04 10 12 WPT3/8-N04 38 12
WPL12-02 12 14 WhLL/2-N02 12 14 WPT12-02 12 1/a WPT1/2-N02 1/2 14
WPL12-03 12 3/8 WPL1/2-N03 12 3/8 WPT12-03 12 3/8 WPT1/2-N03 1/2 3/8
WPLL2-04 12 12 WPL1/2-N04 12 12 WPT12-04 12 12 WPT1/2-N04 1/2 12

WPL WPT

IteW Code TweoD | B | IteW Code e
WPL4-M5 4 M5 - WPT4-GO1 4 1/8
WPL4-MG 4 M6
WPT4-G02 4 1/4
WPLE-M5 5 M5
GO 8
WPLE-M6 6 M6 e 2 i
WPL4-GO1 4 s ool icnto 8 i
WhLAGoa 4 4 WPT6-G03 5 3/8
WPL6-GO1 6 1/8 WET6-G04 6 12
WPLE-GOZ 6 14 WPTB-GO1 8 1/8
WPL6-G03 6 3/8 WPT8-G02 8 1/4
WPL6-GO4 6
HE WPT8-G03 8 s
WPL8-GO1 8
04
WPL8-GO2 8 14 WrTe€ ¢ 1
— e - s WPT10-GOL 10 1/8
WPLS-G04 8 112 WPT10-G02 10 1/4
WPL10-GOL 10 1/8 WPT10-GO3 10 3/8
WPL10-G02 10 174 WPT10-G04 10 12
WPL10-GO3 10 3/8 WPT12-G02 12 1/4
WPL10-G04 29 112 WPT12-G03 12 3/8
WPL12-G02 12 14
WPT12-G04 12 12
WPL12-G03 12 3/8
WPL12-G04 12 12

i
BFsHE BSPT e | wFhe BSPT [ [ wexs | NPT N
S — ! | B

35 Zhejiang Ideal Bell Technology Co.,Ltd. 36



www.ideal-bell.com

Welding Fittings
FRiEERE L

WPST WPUC

EFIHE BSPT [ | mwe | NeT | e [ ) | [ — 57—
iteW Code Tube O B [ wewcose | Ttweod | B |
WPST4-01 4 18 WPSTS/32-N01 5/32 18 WRUC4 4 WPUC5/32 5/32
e = 4 WPSTS/32-N02 53 V4 WPUCE 6 WPUC1/4 1/4

i — - - — e - WPUC8 8 WPUC5/16 5/16
‘_**_ WPST6.02 6 14 WPST1/4-N02 14 14 WPUCI0 10 WPUC3/8 3/8
WPST6-03 5 3/8 WPST1/4-N03 y4 3/8 WPUCT) 12 WPUC1/2 112
WPST6.04 3 102 WPST1/4-No4 14 12
WPSTE-01 a 1/8 WPST5/16-NO1 5/16 1/8
WPSTB-02 8 1/4 WPSTS5/16-N02 5/16 14
WPSTB-03 8 3/8 WPST5/16-N03 5/16 38
WPSTB-04 8 102 WPSTS5/16-N04 5/16 12
WPST10-01 10 8 WPST3/8-NO1 38 8 | 00000 I wee @ 020000000 | 2 wwE 0 |
WPST10-02 10 4 WPST3/8-N02 3/8 14
WPST10-03 10 3/8 WPST3/8-N03 38 3/8 WeUL4 4 WPULS/32 52
WPST10-04 10 12 WPST3/8-N04 38 12 WPULG & WPULL/4 1/4
WPST12-02 12 1/4 WPST1/2-N02 12 1/4 WPULS 8 WPULS/16 5/16
WPST12-03 12 38 WPST1/2-N03 12 38 WPUL10 1o WPUL3/8 3/8
WPST12-04 12 12 WPST1/2-N04 12 12 WYL 1z WPLLY2 2
WPST
BEihE | BSPP
s Tube B
WPST4-GO1 4 s
IteW Code Tube OD IteW Code Tube OD
WPST8-G01 6 18 WPUT4 4 WPUTS/32
WPST6-G02 8 1/4 WPUTG 6 WPUT1/4
WPST6-G03 6 3/8 WPUTS 8 WPUT5/16 5/16
WPSTE-G04 5 112 WPUT10 10 WPUT3/8 3/8
WPSTS01 g 18 WPUT12 12 WPUT1/2 12
WPST8-G02 8 14
WPSTB-G03 8 3/8
WPSTS-G04 8 12
WPST10-G01 10 18
WPST10-G02 10 14 _
s . - Tube0o
WPST10-G04 - 1 WPMMA q WPMMS5/32 5/32
WPMM6 6 WPMM1/4 1/4
il 2 A WPMMS 8 WPMMS/16 5/16
L RS i 3/8 WPMM10 10 WPMM3/8 38
WPST12-Go4 1 12 WPMM12 12 WPMM1/2 12

317 Zhejiang |deal Bell Technology Co.,Ltd. 38



www.ideal-bell.com

Composite Push In

Structural Diagram

) Tube(Polyurethane,Nylon)
@) Collar(Zinc) EE (PUE, BEE)

gE (B4%)

) Release Sleeve(POM)
BhE (BETE)

© Lock Claw({SUS)
8 (FHWN)

Back Ring(POM)
® FiRH (R

@ U-Packing(NBR)
B (TSR

@ Plastic Body(PBT)
B (PBT)

@ O-Ring(NBR)
O & (THIRE)

@ Thread
Eiad

@) Metal Body(Brass)
®&EHS (8)

Features/ $§1{E

+ One-Touch push-to-connect conflguration allows an instant tubing connection.

- Smoth-Edge release sleeve design facilitates a quick tubing disconnection.

- we can make both Brass or Nickel plated color. Nickel plated ensures anti-contamination properties for an extended product life.

- Pre-applied sealant on all external threads eliminates the additional sealing requirement.

- Internal and/for external flat-to-flat hexagonal configurations for both metric and inch specifications allow a proper tightening or directional
orientation upon installation by using L key or allen wrench for the applicable model types.

Specifications/ AR KE

Applicable Fluid Type Air, Water(No Drinking Water/Hot water)

Working Pressure Range  BERILTIE -0.99~9.9Kgf/m*(-99~930Kpa)

Negative Pressure -29.5in Hg(-14PSI) -750mmHg(-750Torr)

TR E R EN T2 23~140 °F (Air)  32~104 °F (Water) -5~60°C (Air) 0~40°C (Water)
PA11, PAL2, PAB, PE, PU,FEPPFA

Tube Qutside Diameter You Can Choose As Follows: Thread Size For Your Choice As Follows:
BRI LOERNSEIMERSITF: ERILOEERNBA R0

[ | MetricSize/ ABIRY Inch Size/ EHIR Code No. 85
CodeNo. 6 | 4 | 6 | 8 | 10| 12 | 5/32| 14 | 506 | 3/8 | 12 | M6 | o1 [ 02 | 03

T“bg’;ﬁg Dial w4 | o6 | 98 | o10| 012|05/32| o1/4 | 05/16| 9378 | w1/

Thread Size B8R~

Zhejiang Ideal Bell Technology Co.,Ltd. 40




www.ideal-bell.com

Composite Push In Fittings
M i

PC PC

I Y I S I N S S e T e e e
e T S O S S S S S T T S S S B S Wy S
PC3-01 3 1/8 15 205 2 PC3-GOL 3 1}8 195 10 2
PC3-02 3 1/4 9 195 14 2 PC3-GO2 3 1? 1/4 6.9 195 10 2
PC4-01 4 1/8 75 205 10 3 PC4-GO1 4 14 1/8 ok 19.5 10 3
PC4-02 4 1/4 g 195 14 3 PC4-GO2 4 17 1/4 6.9 19.5 10 3
PC6-01 6 1/8 75 209 12 5 PCE-GOL 1 14 1/8 55 199 12 5
PC6-02 6 1/4 g 214 14 5 PCB-GO2 6 17 1/4 6.9 214 12 5
PCE-03 6 3/8 10 224 17 5 PC6-GO3 & 15 3/8 8.2 214 12 5]
PCE-04 6 1/2 13 254 21 5 PCE-GO4 1 24 142 9.2 224 12 5
PC8-01 8 1/8 75 255 14 5 PC8-GO1 B 14 1/8 5.5 245 14 5
PC8-02 8 1/4 ] 24 14 6 PC8-G02 B 17 1/4 6.9 229 14 6
PCa-03 8 3/8 10 227 17 6 PC8-G03 B 15 ifs 8.2 23T 14 6
PC8-04 8 12 13 5.7 21 6 PCa-G04 8 24 1/2 9.2 232 14 6
PC10-01 10 1/8 75 79 17 5 PC10-GD1 10 14 1/8 5 26.8 17 5
PC10-02 10 1/4 g 1.9 1T 6 PC10-G02 10 17 1/4 6.9 28.1 17 6
PC10-03 10 3/8 10 7.6 17 a8 PC10-G03 10 18 3/8 82 266 17 8
PC10-04 10 12 13 6.1 21 8 PC10-G04 10 24 1/2 9.2 24.1 17 8
PC12-02 12 1/4 ] 3l5 18 6 PC12-G02 12 17 1/4 6.9 30 19 6
PC12-03 12 3/8 10 29.6 19 B PC12-G03 12 19 i/8 8.2 31 19 8
PC12-04 12 12 13 30 21 8 PC12-G04 12 24 1/2 9.2 206 21 8
PC16-02 16 1/4 9 355 24 $9 PC16-G02 16 20 1/4 82 344 24 ¢9
PC16-03 16 3/8 10 36.5 24 $12.5 PC16-G03 16 2 3/8 9.2 357 24 $125
PC16-04 16 12 13 355 24 ®15 PC16-G04 16 24 172 10 267 24 $15
PC16-06 16 3/4 14 29 27 $l5 PC16-G06 16 30 34 10 8 24 fl5

j— |- kOl M [ 3] o~  TubeOD
Item Code Tube ¢ sw1 -
PC5/32-N01 5/32 1/8 75 205 10 3 , remCode |  Tubeo
PC5/32-N02 5/32 1/4 9 19.5 14 3 : g POC 3-01 2

PC1/4-NO1 1/4 1/8 75 209 12 5

SC N2 14 s 5 g s s POC3-02 3 10 z,m 9 195 2

PC1/4-N0O3 1/4 38 10 224 17 5 POC 4-01 4 10 1/8 15 205 3

PC1/4-NO4 1/4 12 13 254 21 5

PC5/16-NO1 5186 18 75 255 14 5 FOC#02 4 1 4 ¢ 195 3
PC5/16-N02 5/16 /4 9 24 14 6 POC 601 6 12 18 75 209 5
PC5/16-N03 5/16 3fa 10 27 17 6
PC5/16-N04 5/16 12 13 5.7 21 g PEEIE & 3 i 2 — *
PC3/8-NO1 38 18 75 279 17 5 by POC 603 6 17 38 10 224 5
PC3/8-N02 3/8 14 9 279 17 6

POC ) 112 254

PC3/8-NO3 3/8 38 10 26 17 8 e i / . 3

PC3/8-N04 38 12 3 26.1 21 B Fy POC&01 8 14 1/8 75 25.5 5

PC1/2-NO2 12 /4 9 315 19 6

POC 802 8 14 /4 9 24 6

PCL/2-NO3 1/2 3/ 10 96 19 8 o /

PCL/2-NO4 12 12 13 30 21 8 POCS-03 8 17 3/8 10 21 6

POCS-04 8 2 112 13 257 6

o POC 10-01 10 17 1/8 75 279 5

2 POC 10-02 10 1 14 9 279 6

POC 10-03 10 17 38 10 276 8

e— e E—— — —— — aw rocoos 1 2 2 s 219 ;
| ftemCode | Tube¢ | B [ ¢ | _-"'h-_

HEEUi L 1 e 6 . 1 POC 12-02 12 20 1/4 9 32 5
PC3-M5 3 M5 35 20 10 POC 12-03 12 20 38 10 296 8
PC3-M6 3 M6 45 21 10
o - i o o o POC 12:04 12 2 12 13 278 8
PC4-M6 4 M6 45 21 10 POC 16-03 16 24 38 10 365 8
PCA-G 6 M3 34 202 2 POC 16.04 16 2 12 13 365 10
PCE-M6 6 M6 45 214 12

Iyl Zhejiang Ideal Bell Technology Co.,Ltd. 42



www.ideal-bell.com

Composite Push In Fittings
M R K

POC PCF
e e

[ Tt [

| _temCode | Tubep [ A | 8 [ ¢ | L [ _sw | [ wemcode | tbes | A | 8 | ¢ |  t |
- ttem Cod Tub A (=
POC5/32-NO1 5/32 10 18 5 205 3 S —
POCS/32-N02 532 10 1/4 9 19.5 3 PCF5/32-N01 5/32 106 1/8 9.5 255 12
POC1/4-NO1 1/4 12 18 15 209 5 PCF5/32-N02 5/32 106 1/4 11 27 17
POC1/4-N02 1/4 u 1/4 9 214 5 PCFL/A-NOL /4 124 18 9.5 259 14
POCL/4-N03 1/4 17 3/8 10 2.4 5
POC1/4-No4 1/4 72 1/2 13 5.4 5 PCF1/4-N02 1/4 124 1/4 11 274 17
POCS5/16-NO1 5/16 14 8 75 255 5 PCF1/4-N03 1/4 124 38 12 284 19
POCS5/16-N02 5/16 14 1/4 9 24 6 PCF1/4-NO4 14 124 12 15 314 24
POCS5/16-N03 516 17 3/8 10 27 6
POCS/16.N04 516 % 12 e %y 5 PCF5/16-N01 5/16 137 18 95 215 14
A POC3/8-NO1 38 17 18 75 279 5 PCF5/16-N02 5/16 146 1/4 11 29 17
a POCS:B—NOE 3:8 17 1}’4 9 7.8 6 PCF5/16-N03 5/16 146 38 12 30 19
POC3/8-N03 38 17 3/8 10 276 8
sy 8 oy in o4 s - PCF5/16-N04 5/16 146 12 15 3 24
o POC1/2-N02 12 20 14 9 2 6 4 PCF3/8-NO1 38 168 18 95 298 17
B PCC1/2-N03 1/2 20 38 10 29.6 8 PCF3/8-N0Z 38 16.8 1/4 11 313 i
= RAEHE o = Lz 3 25 & o PCF3/8-N03 kT 176 /8 12 323 19
PCF3/8-N04 38 176 12 15 353 24
“& PCF1/2-N02 112 196 14 11 334 21
B PCF1/2-N03 12 196 3/8 12 34.4 21
POC PCFL/2-N04 12 196 12 15 314 24
T T e T | — ]
ftemCode | Tubedp | A | B L
POC 3-M5 3 10 M5 35 20 2
A POC3-M6 3 10 M6 45 21 2 PCF
POC 4-M5 4 10 M5 a5 20 2
ociwe 4 o e ¥ 2 : e T | e TP
rocews s 2 us 53 2 : e | e o B o e i Tl
ROGE:ME g 11 Mg Al i 2] PCF3-GOL 3 106 18 8 24 12
© O-Ring PCF3-G02 3 106 14 9 25 17
B = B PCF4-GOL 4 106 1/8 8 2 12
PCFA-GO4 4 106 1/2 13 29 24
PCF6-GOL 6 124 1/8 8 244 14
PCF PCFE-G02 6 124 1/4 5 254 17
PCF6-G03 6 124 38 10 264 19
A PCFG-GO4 6 124 12 13 294 24
e r o o - . PCFB-GOL 8 138 18 8 26 14
PCF3-02 3 10.6 1/4 11 27 17 /E PCF8-GO2 8 146 1/4 8 27 17
PCFA-01 4 10.6 18 95 255 12 PCF8-GO3 8 146 3/8 10 28 19
PCF4-02 4 10.6 1/4 11 27 17
CFE-G04 8 146 2 3 2
PCFE-01 6 12.4 18 95 253 14 g 4 v o 1 i
POFB-02 6 124 14 o) Y 7 y PCF10-GO1 10 168 1/8 8 283 17
PCF6-03 6 124 38 12 28.4 19 PCF10-G02 10 168 1/4 g 203 17
4 PGFB04 & 124 42 13 8 a4 sw PCF10-G03 10 176 38 10 303 1
PCF8-01 8 137 18 95 215 14
POEB.02 g 145 V4 iy 29 i ) PCF10-G04 10 176 1/2 13 333 24
E PCF8-03 8 146 3/8 12 30 19 PCF12-G02 12 196 1/4 g 314 21
:&Fltﬁ:l 1‘; i;-: i{: 9155 ;‘3 i‘: '8/ PCF12-G03 12 196 38 10 324 21
4 PCF10.02 10 168 1/4 11 313 17 FEF12-608 i L35 12 L 34 24
. PCF10-03 10 176 3/8 12 23 19 PCF16-G02 16 237 1/4 g 37 24
£ PCF10-04 10 176 1/2 15 353 24 PCF16-G03 16 237 3/e 10 38 24
o PCF12-02 12 196 1/4 1 334 21
il = Ty 38 i s 2 PCF16-G0A 16 17 12 13 41 24
87 PCF12-04 ib) 196 12 15 374 24 PCF16-G06 16 237 3/4 16 4 32
PCF16-02 16 237 /4 11 37 24 PC16-GOG 16 30 3/4 10 28 24
PCF16.-03 16 217 38 1 38 24
PCF16-04 16 237 12 15 41 24
PCF16-06 16 17 34 16 42 32

43 Zhejiang Ideal Bell Technology Co.,Ltd. 44



www.ideal-bell.com

Composite Push In Fittings
M i

PL PL

I ——— e | [T T
Lo B S e I R R N TS T N
11 T4 4 M& 3.2 245

PL3-01 3 1/8 8 32 6
PL3-02 3 9 1 14 8 32 6 178 233 302 14 i Ca # 58 8 v
PL4-01 4 75 11 1/8 8 32 6 17.8 233 287 10 PL4-M5 4 1 74 3.5 M5 32 21 17.8 8 10
PLA-02 4 9 11 1/a 8 3.2 6 178 233 30.2 14 PL4-M6 4 1 74 45 M6 32 22 17.8 B8 10
L 6 5 F X T, 12
FLa T 12 3e ? R g a3 £l ok PL&-M5 ] 13 9.3 3.5 M5 3.2 238 209 ] 12
PL5-02 6 9 13 1/4 9 32 6.5 20.8 273 337 14
PL6-03 6 10 13 3/8 9 32 65 208 213 357 17 BLEho s A 13 L Mo s i ik £ i
PL6-04 8 13 13 1/2 9 32 65 20,8 273 387 2
0 0 D 0 0 0 e | e o o |
PL8-02 8 9 146 1/4 10 3.2 6.5 234 307 389 14 _— A . | c c ” | X p”
emcode [Twbeo | A | 8o | ¢ | o | & | F [ | b [ L | ]
PLE03 8 10 146 3 10 32 65 234 307 408 17 " EIEACE | BU-C. 0 ¢
PL8-04 8 13 146 12 10 32 6.5 234 30.7 439 21 @ PL3-GO1 3 5.5 i /8 8 32 6 17.8 233 26.7 14
H PLIO-01 10 1.5 176 1/8 1 32 6.5 25.7 345 40,9 17 PL3-GO2 3 6.9 11 1/4 8 32 6 17.8 733 28.2 17
G
PL10-02 10 9 17.6 1/4 11 32 6.5 257 345 423 17 & e z i & 1ye 3 = : o o = i
PLIC03 10 10 176 3/8 11 32 65 25.7 345 443 17
) viEaH | 0 P e 12 ¥ %3 i o P po 5 PL4-GO2 4 6.9 11 /4 8 32 6 17.8 233 282 17
PLIZO2 12 9 21 14 12.75 32 65 29.7 40.2 471 19 PL6-GO1 ] 5.5 13 18 9 32 65 2048 213 302 14
PL12-03 12 10 21 3/8 12.75 32 6.5 29.7 40.2 496 19 PLB-GO2 (1 6.9 13 1/4 ] 32 65 0.8 573 316 17
- |
PLI204 12 13 21 12 12.75 32 6.5 297 402 526 21 e e a = 8 o i e S Soh o 37
PL16-02 16 9 26 1/4 15 42 8 345 4715 56.7 24
PL6-G04 6 9.2 13 1 9 32 65 20.8 273 349 24
PL1G-03 16 10 26 3/8 15 42 8 345 415 51.7 24 f2
PL16-D4 16 13 26 12 15 472 a 345 415 607 24 PLB-GO1 a 55 14.6 1/8 10 £ 6.5 234 30.7 354 14
PLIGOE 16 14 26 3/4 15 42 8 345 415 61.7 7 PL8-G02 8 6.9 146 1/4 10 32 65 234 307 36.9 7
PL3-GO03 8 8.2 146 3/8 10 32 65 234 30.7 39.1 19
PL8-GO4 8 9.2 14.6 12 10 32 6.5 234 307 40.1 24
PL10-GO1 10 5.5 176 1/8 11 32 6.5 5.7 345 38.8 7
PL1C-GO2 10 6.9 176 1/4 11 3.2 65 5.7 345 404 17
PL10-GO3 10 8.2 176 3f8 11 32 6.5 257 345 424 19
PL PL10-GO4 10 9.2 176 12 11 32 65 5.7 345 435 24

T | [ e [ T
PL12-GO2 12 6.9 21 1/4 12,75 3.2 65 29.7 40.2 45 19
P T : st

PL5/32-NOL 53 = e = 18" = = PLIZGO3 12 8.2 21 3/8 1275 32 6.5 29.7 402 416 19
PL5/32-N02 5/32 g 25 188 14" 1 14 PLIZ-GOA 12 9.2 2 1 1275 32 65 297 402 486 24
PLI/4-N01 14 75 2 2086 /87 11 1 PLIGGO3 16 8.2 2 38 15 42 8 345 415 55.4 24
PL1/4-N02 14 9 245 206 14" 13 14
i PLIEGO4 16 9.2 2 2 15 42 8 35 415 56.4 24
PLI/4-N03 14 10 255 206 378 13 17
PL1/A-NO4 e £ e = iy ) e PLIGGOE 16 10 2% 34 15 42 8 345 415 57.7 30
PL5/16-NO1 5/16 15 22 2.8 18" 14.5 12
PL5/16-N02 5/16 9 245 2.8 14" 14.5 1
PL5/16-N03 5/16 10 285 28 38" 145 17
e PL5/16-N04 5/16 13 315 228 12" 145 21
PL3/8-NO1 38 75 2 252 18" 17.8 17
PL3/8-N02 3/8 g 215 52 1/4" 17.8 17
® PL3/8-N02 38 10 295 252 38" 178 17
PL3/8-N04 38 325 252 172" 17.8 21
PL1/2-N02 12 g 285 30.7 14 21 17
PL1/2-MO3 1/2 10 305 30.7 3/8" n 17
PL1/2-N04 172 13 335 30.7 2" 21 21

45 Zhejiang Ideal Bell Technology Co.,Ltd. 46



www.ideal-bell.com

Composite Push In Fittings
M i

NPL NPL T T | [ T e |

| R B S TS T T R
ik MS{IM : - -

NPL5/32-NO1 5/32 75 225 188 1/8"

NPL5/32-N02 5/32 9 35 188 14" 11 14
Item Code Tube ¢

ok B0 NPL1/4-No1 1/4 75 2 206 1/8 13 12
el 111 fj\ LA NPL1/4-N02 1/4 9 245 206 14" 13 14
1 NPL1/4-N03 1/4 10 255 206 38" 13 17
3 /3“' PL4-M& 4 45 205 18.8 1 12 NPL1/4-NO4 1/4 13 295 20.6 1/2" 13 21
- O-Ring e . o " e 5 = NPL5/16-NO1 5/16 7] 22 228 IfB' 145 12
& : NPL5/16-NO2 5/16 ] 245 238 4" 145 14
i i 4 - ki % i NPL5/16-N03 5/16 10 285 228 38 145 17
NPLS/16-NO4 5/16 13 315 28 12" 145 21
NPL3/8-NO1 3/8 75 36 252 18" 178 17
NPL3/8-N02 38 9 275 252 1/4" 178 17
NPL3/8-N03 3/8 10 29.5 25.2 3;'8' 17.8 17
NPL3/8-N04 38 13 32.5 25.2 le' 17.8 21
NPL NPL1/2-NO2 12 9 285 307 1/4" 21 17

NPL1/2-NO3 12 10 30.5 30.7 38" 21 17
NPLL/2-NO4 12 13 335 30.7 12 21 21
———m

NPL4-01 1/8" 1 12
NPL4-02 4 g 25 188 14" 1 14
NPLE-01 6 75 22 206 1/8" 13 12 PLF
NPLE-02 6 9 245 20.6 14" 13 14 Tube OD 55 PT
NPL6-03 6 10 255 206 38" 13 Bd Tube | A L) _
NPL6-04 6 13 295 206 112" 13 21 2 = ”8 u 2 e
3 13 11 1/4 8 32 6 178 233 302 17 1
NPLS-01 8 7.5 2 28 8" 145 12
A 20 P e e e a s e s
NPLE-D2 8 e 245 28 ya 14.5 1 PLF4-02 4 13 11 14 8 32 6 178 233 302 17 1
NPLS-03 8 10 285 238 3/8" 14.5 17 PLF6-01 6 105 13 18 g 32 65 208 273 312 12 95
— 3 5 - il i T i PLF602 6 13 13 174 g 32 65 208 273 337 17 1
PLFE03 6 14 13 38 9 32 65 208 213 7 19 12
W NPL10-01 10 75 2 252 1/8" 17.8 17
5 PLF604 & 17 13 12 8 32 65 208 273 317 24 15
i "
NPL10-02 10 ¢ 15 52 14 17.8 1 PLFEOL 8 105 146 18 10 32 65 234 307 364 14 95
NPL10-03 10 10 295 252 38" 17.8 17 PLFE-02 8 125 146 14 10 32 65 234 307 384 17 1
NPL10-04 10 13 325 252 12" 17.8 21 PLF8-03 B8 14 148 3/8 10 32 6.5 23.4 307 399 19 12
e . = e e ya m = PLF8-04 8 17 146 172 10 32 65 234 307 429 24 15
, PLFID-01 10 6.1 176 18 11 32 65 257 345 354 17 95
NPL12.03 12 10 305 307 8 21 17
& PLFI002 10 11 116 14 11 32 65 257 345 404 17 1
NPL12-04 12 B 335 0.7 12" n 2 PLFI0-03 10 136 174 3/8 1 32 65 357 345 429 19 12
PLF1004 10 171 176 12 11 32 65 257 345 464 24 15
PLF1202 12 6 21 Y4 1275 32 65 297 402 401 19 1
PLFI203 12 125 21 358 1275 32 65 297 402 466 19 12
PLFI2-04 12 17 21 12 1215 32 65 297 402 511 24 15
PLFI603 16 6 26 3/8 15 42 8 345 415 417 24 12
PLFI6-04 16 167 26 12 15 42 8 345 415 584 24 15

47 Zhejiang Ideal Bell Technology Co.,Ltd. 48



www.ideal-bell.com

Composite Push In Fittings
M i

PLF PLL

owoo| | e | [ - Twweo| [ Jew | | T
[rcade Jmbeo| 3 [ 8o | ¢ [ o | & | [ ¢ w [ [ o NI T R T

o

PLFS/32-N01  5/32 115 1 18 8 32 a e | 3 | By | o 9.5 PLL3-01 3 & ] 7.8 437
PLF5/32-N02 532 13 11 14 8 32 6 178 233 302 17 11 PLL3-02 3 9 1 114 ] 22 6 17.8 233 452 14
PLFI/4-NOL  1/4 105 13 18 9 32 65 208 273 312 12 3.5 PLL4-01 4 75 11 1/8 8 32 6 7.8 233 43.7 10
PLF1/4-NO2  1/4 13 13 1/4 9 32 65 208 273 337 St 11 PLL4-02 4 9 11 1/4 8 3.2 6 7.8 233 452 14
PLF1/4-NO3  1/4 14 13 3/8 9 32 65 208 273 347 19 12 PLL6-01 6 15 13 1/8 9 3.2 6.5 20.8 273 482 12
PLF1/4-NO4  1/4 7 13 12 ] 32 65 208 273 3T 24 15 PLL6-02 6 /4 9 12 65 20.8 27.3 49.7 14
PLFS/16-NO1  5/16 105 146  1/8 10 32 65 234 307 364 14 9.5 PLL6-03 6 10 13 3/8 9 3.2 65 20.8 27.3 517 17
PLFS/16-NO2  5/16 125 146  1/4 10 32 65 234 307 384 17 11 PLLG-04 6 13 13 1/2 9 3.2 65 20.8 273 547 21
4 = PLF5/16-N03  5/16 14 148 38 10 32 65 234 307 399 19 1 PLLS-D1 ] 15 14.6 1/8 10 32 65 234 307 56.4 14
- PLF5/16-N04  5/16 17 146 12 10 32 65 234 307 429 4 15 PLL8-02 8 9 14.6 1/4 10 32 6.5 23.4 30.7 57.9 14
J PLF3/8-NO1 3/8 6.1 176 1/8 11 3.2 6.5 5.7 345 354 17 9.5 F_ FLL8-03 8 10 14.6 3/8 10 32 6.5 234 30.7 59.9 17
& PLF3/8-NOZ  3/8  1L1 176  1/4 11 32 65 257 345 404 1T 11 ol PLLB-04 8 13 14.6 12 10 32 65 23.4 30.7 629 21
% & PLF3/8-NO3  3/8 136 176  3/8 1 32 65 257 345 429 19 12 D PLL10-01 10 75 7.6 1/8 1 32 65 25.1 345 649 17
, 1 & PLF3/8-N04  3/8 171 176 12 1 3.2 65 257 345 464 24 15 4 PLL10-02 10 9 17.6 1/4 11 32 65 25,7 345 66.3 17
I ]:_ 2 PLFIf2N02 12 6 21 /4 1275 32 65 297 402 400 19 11 Liew PLL10-03 10 10 17.6 3/8 11 32 65 251 345 68.3 17
PLF1/2-NO3 12 125 21 38 12715 32 65 207 402 466 19 12 PLL10-04 10 13 176 12 11 3.2 6.5 5.1 345 713 21
gl PLF1/2-NO4 12 17 21 Y2 1715 32 65 287 402 5Ll 24 15 & o PLL12-02 12 9 21 1/4 1275 12 65 29.7 402 711 19
E PLL12-03 12 10 21 3/8 1275 12 65 29.7 402 736 19
PLL12-04 12 13 21 112 12.75 32 65 20.7 40.2 76.6 21

PLF PLL

----—--— ----—----—
PLF3-GO01 3 11 ua 8 32 6 T8 233 | a2 12 8 PLL/32-NOL g T o
Hmﬁzl > 2 i 1": : :,z 5 ”‘: 23': 2:'1 i 3 PLL5/32-NO2  5/32 1 11 1{4 8 32 6 17.8 273 45.2 14
:’;z 0; : i: E i’; . . 32 : i:.s 2 . zai i: : PLL1/4-NO1 1/4 75 13 1/8 9 32 65 208 273 482 12
S = 5 e T 3 25 T e p e s = & PLLI/4-NOZ  1/4 9 13 1/4 9 32 6.5 20.8 273 49,7 14
PLF6-GO2 6 11 13 1/4 9 32 6.5 208 273 317 17 9 PLLI/A-NC3  1/4 10 13 38 9 32 6.5 0.8 273 5L7 17
PLF6-G03 6 12 13 3/8 9 32 6.5 08 2713 327 19 10 PLLL/4-NO4  1/4 13 13 1/2 9 12 6.5 20.8 273 54.7 21
PLF6-GO4 6 15 13 112 9 32 65 208 273 357 24 13 PLLS/I6-NOL  5/16 7.5 14.6 1/8 10 32 6.5 234 30.7 56.4 14
PLF8-GO1 8 9 145 1/8 10 32 6.5 34 30.7 343 14 8 H PLL5/16-NO2  5/16 9 146 1/4 10 32 6.5 234 30.7 57.9 14
FLEgc % 105 A4E: S Mi_ a R  add  JF g6t A PLLS/16-NO3  5/16 10 146 38 10 32 6.5 234 307 598 17
H A PLFs:zos & L A 3 12 3‘2 2:5 it LT j;‘: = L 4 L PLL5/16-M04  5[16 13 146 12 10 3.2 6.5 234 30,7 62.9 21
:LLFF: - G‘: ; :] :i i:: ﬁ i : : . 5_: ::: 2:; 35 - i: l; - PLL3/-NO1 38 75 17.6 1/8 11 32 6.5 257 345 64.9 17
f o POGR2 10 ex w6 w4 m 32 65 257 345 384 19 b ALBNE 3 L A R . N R
{ ;‘_ PLF10-603 10 116 176 38 u 32 &5 257 345 408 19 10 = PLL/BNDS | ae 10 a6 e A 82 E A O i
% E PLF10-G04 10 151 116 12 1 32 65 250 345 444 24 13 PLL3/8-NO4  3/8 13 176 112 11 32 6.5 5.7 345 713 1
B & PLF12-G02 12 6 21 Y4 1275 32 65 207 402 401 19 9 &= : PLLI/2-NO2 12 9 21 1/4 12.75 32 65 29.7 402 7.1 19
% 5 % PLF12-G03 12 10,5 21 3/8 12,75 3.2 6.5 297 40.2 16.6 19 10 ' PLL1/2-NO3 12 10 21 3/8 12,75 12 6.5 28,7 402 73.6 19
i PLFI2-GO4 12 15 21 12 1275 32 6.5 297 402 511 24 13 MUPNM 1R 13 2 1 1275 32 e 267 0.2 766 21
cS PLFIEGO3 16 g 26 3/8 15 42 8 345 415 417 24 10
PLFIG-GO4 16 14,7 26 12 15 42 8 345 415 564 24 13

49 Zhejiang Ideal Bell Technology Co.,Ltd. 50



www.ideal-bell.com

Composite Push In Fittings
R AR Sk

PLL PT

) ) e e | ) K[ (.2 ] [l
e s e e e e e L e

LS 2 8 3 T8 it PTS/32-NO1  5/32 356 287 8
PLL3-G02 3 6.9 u 1{4 8 32 6 T8 B3 432 17 g A o ~ 2 i : - . ! : ; i
PLL4-GO1 4 5.5 11 1/8 8 3.2 B 178 233 41.7 14 PT1/4-NOL 1/4 418 322 13 9 18 €5 32 18 15 12
PLL4-GO2 4 6.9 11 1/4 a8 3.2 6 17.8 233 43.2 17 PT1/4-N02 14 1.8 33.7 13 g9 18 65 39 14 g 14
PLLG-GOL L 3 1 L = L &3 408 . k PTI/4-N03 14 418 357 13 9 18 6.5 32 38 10 17
PLL6-GO2 6 6.9 13 14 9 208 213 476 17 e ZE o fon - - — — = > - o
PLLE-GO3 6 8.2 13 3/8 g 32 6.5 08 213 499 19 PT5/16NOL  5/16 468 374 146 10 20 65 32 18 75 14
PLLE-G04 6 5.2 13 112 2 32 &5 208 &3 503 L PT5/16N02  5/16 468 389 146 10 20 6.5 32 4 9 14
PLLE-GO1 B 55 146 1/8 10 32 6.5 224 30.7 54.4 14 PT5/16-N03 5/16 46.8 40.9 146 10 20 65 332 3/8 10 17
PLL8-GO2 8 6.9 146 1/4 10 32 65 234 307 559 17 A FEOEE G  GER MR WK - - 45 - in 4 %
Ho PLLB-GO3 8 8.2 146 38 10 32 65 234 307 581 19 T PT3/8-N01  3/8 514 409 176 1 n 65 32 18 75 17
F_ i PLESG 8 a2 A8 e i 32 5 s . i liPaN] J PT3/8-NO2  3/8 524 423 176 11 2 65 32 14 5 17

@ PLLIO-GOI 10 5.5 176 18 1 32 65 257 345 628 17 I l
L e, S —— LT | e S e S
2 . ; ! : ] 3
) PLLIOGOI 10 82 176 38 11 32 65 | 257 | 345 &4 19 R s i - . N — - - i . i
PLLIO-GO4 10 92 e 12 1 32 65 257 345 615 2% G aNGE - i Sl I s - - 3 5 i
T=sw PLLIZGOZ 12 6.9 21 Y4 1275 32 65 207 402 69 19 I - - TN .5 > N " 2%
PLLIZGOI 12 8.2 21 8 1215 32 65 297 402 716 19
- g PLLIZGO4 12 92 21 12 1215 32 65 207 402 726 2%
PT
_“—_—
PT4-M5 4 24.7 11 8 16 32 M5*0.8 35 10
PT4-M6 4 356 257 11 8 16 6 32 ME'1 45 10
PTE-M5 6 a8 282 13 9 18 6.5 32 M508 35 12
PT PTE-MB 6 418 202 13 9 18 65 32 M6l 45 12
Tube OD BSPT
PT3-01 56 2& 0 8 s 3 2 8 | item Code | C"“‘ | Tube ¢ | "’ ““_ EEEEE

PT3-02 3 ®/E 302 1 8 16 6 32 1,!4 9 1 9 BlG0s 2k 2 2 42 38 g =
PTa01 . el . 6 s T E 0 8 PT3-G04 3 6 312 11 8 16 6 32 12 92 24
—c - o y— : ” 5 83 I % - 5 PT4-G01 4 /6 267 1 8 16 6 32 18 55 14
PT6-01 ] 41.8 322 13 | 18 8.5 3.2 1/8 T.5 12 8 PT4-G02 4 35.8 282 n 8 18 & 32 14 69 ol
FT6-02 6 418 33.7 13 g 18 6.5 32 1/4 9 14 9 PTE-GO1 6 418 30.2 13 9 18 6.5 3.2 1/8 55 14
PT6-03 6 e »B7 13 9 18 65 32 38 10 17 10 i " e 33 2 8 fa — i/ ut i
PT6-04 6 48 387 13 g 18 6.5 22 12 13 21 13 PT6-G03 6 4L8 339 13 9 18 6.5 3.2 8 8.2 13
PT8.0L 8 468 | T4 | 148 | 1 20 65 || 32 Y8 15 14 N PTE&-G4 6 A8 49 13 9 18 65 3.2 12 82 o
= i S5 =% B = 59 & A = & PT8-GO1 8 468 354 146 10 20 65 32 18 55 14
e % s s T 55 ol o - 5 PT8-G02 8 468 369 146 10 20 65 32 174 69 17
PT8-04 8 468 438 146 10 20 65 32 12 13 21 13 Gl 3 AR | 1 Al it St 25 2 &
e I T e e G - e E . PTE-G04 8 468 401 146 10 20 65 32 12 92 24
TR e & a2 W s r PT10-G01 10 514 388 176 1 2 65 32 18 55 17
PT10-03 10 534 443 176 11 2 6.5 32 3/8 10 17 10 PT10-GO2 10 524 40.4 17.6 11 2 6.5 32 1/4 6.9 17
= 5 B G Gm & = % 3@ i3 & ™ = PT10-G03 10 534 424 176 1 2 65 32 38 82 18
PT12-02 12 58 47.1 21 12.75 255 6.5 3.2 1/4 9 19 9 PT10-GD4 10 544 43.5 176 n n 6.5 32 12 9.2 2
PT12-03 12 58 496 21 12.75 255 65 32 38 10 19 10 PT12-GD2 12 58 45 21 12,75 255 6.5 32 1/4 6.9 15
G, T W mE B Wm WE &S I 1 » - PT12-G03 12 58 416 21 1275 255 6.5 32 38 82 18
SR S S & % " T . - - PT12-G04 12 58 486 21 1275 255 65 32 12 92 24
PT1603 16 69 517 26 15 30 8 42 38 10 2 13 8 e 16 L A 26 - 30 8 52 /L 82 “
ST T e - - - el = - PT16-G04 16 69 56.4 2% 15 30 8 a2 12 92 24
PT16-06 16 69  6LT 26 15 30 8 42 3 14 7 13 FFie.08 L oY 25 L L ol 5 g2 e LU 80

51 Zhejiang Ideal Bell Technology Co.,Ltd. 52



www.ideal-bell.com

Composite Push In Fittings
M i

PST PST
I T S 2 -
[amcade [nbeo] & | 5 | co | o | € [ ¢ | & [ v | i | @ %

215 11 10

PST3-01 3 428 8 16 6 32 1/8 7.5 :
PST4-01 4 42.8 215 11 8 16 6 3.2 1/8 7.5 10
BATAL 2 e 3% % p e 8 i3 7 4 = PST4-M5 4 388 215 11 g 16 6 32 M5%08 35 10
PST6-01 6 485 255 13 9 18 6.5 32 1/8 7.5 12
p———— 5 - e o % e &5 4 14 - ™ PST4-M6G 4 398 215 11 8 16 6 32 M6'08 45 10
PST6-03 6 52 255 13 9 18 6.5 32 3/8 10 17 i
i 5 s s s % <5 s et 12 1% = - PST6-M5 6 44,5 25.5 13 9 18 6.5 32 M508 35 12
PST8-01 B 535 307 146 10 20 6.5 32 1/8 1.5 14 <
PST8-02 8 55 307 146 10 20 6.5 12 1/4 9 14 < PST6-M6 6 45.5 5.5 13 9 18 65 32 ME*1 4.5 12
PST8-03 8 57 307 146 10 20 6.5 3.2 3/8 10 17 u e
PST8-04 8 60 307 146 10 20 6.5 32 172 13 21 J o
. PST10-01 10 5T.8 345 176 11 22 6.5 32 1/8 7.5 17
PST10-02 10 50,2 34,5 176 11 2 6.5 12 14 9 17 =
e | PST10-03 10 612 345 176 11 22 6.5 32 38 10 17
= PST10-04 10 642 345 176 11 22 6.5 32 142 13 21
PST12-02 12 65.6 395 21 1275 255 6.5 3.2 1/4 9 19
[m - PST12-03 12 68.1 395 21 12.715 25.5 6.5 32 3/8 10 19
)\ Vs PST12-04 12 711 395 21 1275 255 6.5 32 12 13 21
swW PST16-02 16 182 475 26 15 30 8 432 1/4 g 24 PST
TE T e L AT e | e | ] ] ] ] feee ]
= PST16-04 16 822 47.5 76 15 30 8 4.2 12 13 24
PST16-06 16 832 415 26 15 30 8 42 374 14 27

e KN N R N N N N
11

PST3-GO1 3 40.8 215 8 16 32 1/8 55 14

(- B R -

P5T3-G02 3 42.3 215 11 ] 16 312 1/4 6.9 17
PST4-GO1 4 408 215 1 8 16 32 1/8 55 14
PST PST4-GO2 4 423 215 11 ] 16 6 32 1/4 6.9 17
T T T e s s s ms  m s s 2 m s ou
[ temcode |Tubeo | A [ B | co | 0 [ e | F | 6 | 1| sw PSTEGR2 6 478 %55 13 8 8 65 32 oy 69 17
PST5/32-N0O1 532 428 215 ' 8 16 b 32 1/8 75 10
PST6-G03 6 502 255 13 g 18 65 32 3/8 8.2 19
PSTS/32-N02 532 443 215 11 8 16 6 32 1/4 9 14
PSTi/4-No1 1/ 485 255 13 9 18 32 i/8 7.5 12 B PSTE-604 & A2 AW 13 9 12 &5 32 12 92 4
PSTI/4-NO2  1/4 50 255 13 9 18 65 32 1/4 9 14 e PST8-GO1 8 515 307 146 10 20 65 32 18 55 14
PST1/4-N03  1/4 32 23 2 2 18 &a e 38 10 Ly D PST8-602 8 53 307 146 10 20 6.5 32 1/4 69 17
PSTI/ANO4 174 53 255 13 9 18 65 32 172 13 71
PST8-GO3 8 552 307 146 10 20 65 32 3/8 82 19
PST5/16-N01 5/16 535 30.7 14.6 10 20 65 32 1/8 75 14 w <
PSTS/16-NO2  5/16 55 30.7 146 10 20 6.5 32 1/a 9 14 J i PST8-G04 8 56.2 30.7 14.6 10 20 6.5 32 12 3.2 24
PSTS/16-N03  5/16 57 307 146 10 20 6.5 32 38 10 17 | PSTI0G0L 10 557 345 176 1 n 65 32 18 55 17
PSTS/16-NO4 5716 60 07 146 10 20 6.5 32 2 13 2 g PST10-G02 10 583 345 176 11 2 65 32 1a 6.9 17
PST3/S-NOL  3/8 578 345 176 11 2 65 32 1/8 75 17
PST10-G03 10 613 345 176 1 2 65 32 3/8 8.2 19
PST3/8-NOZ 3/ 592 345 176 11 » 6.5 32 1/4 9 17
reriangs | 3 e e g % = 2 55 . . = PSTI0-G04 10 634 345 176 1 n 6.5 12 112 92 24
PST3/8-NO4  3/8 642 345 176 11 2 6.5 32 112 13 21 PSTI2-G02 12 635 395 21 1275 255 6.5 32 1/4 69 19
ESKH/ZNO0TS) S L2 S0 IS0 6 ) 1993 2L S 2 i A 2 L PSTI2-GO3 12 g61 395 2l 1275 B5 65 32 38 82 19
PSTI/2-NO3 1, 681 395 2 1275 255 65 32 10 18
/ 12 3 PST12-G04 12 67.1 335 21 1275 255 6.5 32 172 9.2 24
PST1/2-N04 12 71l 395 21 12,75 255 6.5 32 12 13 21
PST16-G03 16 769 475 26 15 30 8 42 3/8 9.2 24
PSTI6-GO4 16 719 475 26 15 30 8 42 12 10 24
PST16-G06 16 792 475 26 15 30 8 42 3/4 14 30

53 Zhejiang Ideal Bell Technology Co.,Ltd. 54



www.ideal-bell.com

Composite Push In Fittings
R AR Sk

PTF PTF
B e e e e

I I N O
wemcode [1wbso| % | 5 | co | o | |

I o S
PTF301 3 3|6 W7 1 8 16 6 32 1B 95 TR e PTF3GOL 3 B6E 72 1 8 16
PTF3-02 3 356 302 11 8 16 6 32 14 11 17 13 PTF3GO2 3 B6 282 11 8 16
PTF4-0L 4 /6 | w7 1 8 16 6 32 1B 95 il s PIFAGOL 4 ase | zi2 || 8 16
PTF4-02 4 6 302 1 g 16 6 2 14 1 17 13 PIFA-GO2 4 6 282 11 8 16
PTF6-01 6 41.8 31.2 13 9 18 6.5 3.2 1,1’3 9.5 12 10.5 PTFE-GOL 6 41.8 297 13 ] 13
PTF6-02 6 418 337 13 9 18 65 32 14 11 7 12 PTF6-GO2 6 a8 37 13 g 18
PTF6-03 6 418 347 13 9 18 65 32 38 12 19 14 PTF6-G03 & 418 327 13 3 18 &5 | 32 3B 10 19 12
PTEG-04 6 418 317 13 9 18 65 32 12 15 24 17 PTFE-GO4 5 a8 37 13 g 18 65 32 17 13 2
PTF8-0L 8 468 364 146 10 20 SSRGS 14 105 PTFEGOL B 468 249 146 10 20 65 32 18 8 1 9
PTF8-02 8 468 384 146 10 20 65 32 1/ 11 17 125 PIFEGO2 8 468 364 146 10 20 65 32 1/ 9 17 105
PTF8-03 8 46.8 39.9 146 10 20 6.5 3.2 3 12 19 14 PTF8-GO3 8 46.8 379 14.6 10 20 6.5 32 ifs 10 19 12
PTF8-04 8 468 429 146 10 20 65 32 12 15 2% 17 PTFE-GO4 8 468 408 146 10 20 65 32 12 13 24 15
| A PTFLO0L 10 514 354 176 11 2 85 3z 18 85 7 6.1 PTFI0G0L 10 514 354 176 11 2 65 32 18 8 17 6.1
PTFI002 10 524 404 176 11 n 65 32 1/ 11 7 111 PIFI0-G02 10 524 384 176 11 2 65 32 14 9 17 9.1
E PTF10-03 10 53.4 42.9 17.6 11 22 6.5 32 3/8 12 19 136 PTF10-G0O3 1o 53.4 40.9 17.6 11 22 6.5 32 3/8 10 19 116
e __7\ J PTFIO04 10 544 464 176 1 » 6.5 32 102 15 2 171 PTFI0-G04 10 544 444 176 1 2 6.5 32 12 13 24 151
o P22 n2 58 401 20 1275 255 65 32  1/4 11 19 6 PTF12.G02 12 58 | oy ||z mms | ss | Es | 32 aa 5 19 6
W i PTFI203 12 58 466 21 1275 255 65 32 38 12 19 125 PTFI2GO3 12 58 46 21 1275 255 65 32 38 10 19 105
5 PTFI2-04 12 58 511 21 1275 255 65 32 12 15 2% 17 PTFI12-G04 12 s8 sz Tarsmsles ez |an 13 2 15
L PTFIG02 16 6 411 2% 15 30 8 42 38 12 24 6 PIF16-G0Z 16 69 417 26 15 30 8 42 38 10 24 8
PTFIG04 16 69 584 26 15 EN) 8 42 12 15 2 167 L pTF16-G04 16 88 564 26 15 30 8 42 1p 13 24 147

PTF PWT
| [ ) 5 ] [

[rweon [ || (S S ™ A
T T s |

| temcode [Tweo| A | 8 Jco | o | e | F [ [ w [ 1 [sw[ L] e R -
PWT4-01 4 10.9 3.2 418 11 212 1/8 75 10
dpicz | b | e ] ek 2k S - 9 ) il e Lt A5 PWT4-02 4 10.9 32 433 11 28.7 1/4 9 14
PTF5/32-N02 5/32 356 302 11 8 16 6 32 1/4 11 17 13 PWT6-01 6 129 32 42,8 132 428 1/8 15 12
PTF1/4-NO1  1/4 418 312 13 9 18 6.5 3.2 1/8 9.5 12 105 PWT6-02 6 128 32 44.2 132 315 1/4 9 14
PTFL/ANO2  1/4 418 337 13 9 8 65 32 14 1 11 13 EWTORS 6 12 Be 46 L S8 = 4 i
PWT6-04 6 129 32 49.2 132 365 12 13 21
PTF1/4-M03  1/4 418 347 13 9 18 6.5 32 38 12 19 14 SR 8 e 55 T W i W 5 =
PTF1/4-N04 1/4 41.8 317 13 9 18 6.5 32 1/2 15 24 17 PWTS-02 8 14.7 32 53 146 34.7 1/4 -] 14
PTFS/16-NO1  5/16 468 364 14.6 10 20 65 32 1/8 9.5 14 105 PWTB-03 8 14.7 32 55 146 36.7 3/8 10 17
PTF5/16-N02  5/16 468 384 14.6 10 20 6.5 32 1/a 11 17 125 FYETE0Y s T $2 3 Ak [l Vi 33 il
" PWT10-01 10 18 32 54.9 17.6 339 1/8 75 7
PTF5/16-N03  5/16 468 399 146 10 20 6.5 32 38 12 19 14 — e i6 o %5 s o ez A i 4
PTF5/16N04 5/16 468 429 146 10 20 65 32 12 15 2 17 =1 1 ey 10 18 12 s34 P 273 38 = i
“| prr3/sNoL 38 514 354 176 1 2 6.5 3.2 1/8 9.5 17 6.1 = PWT10-04 10 18 32 613 17.6 40.3 1/2 13 21
PTF3/8-M02  3/8 524 404 176 11 22 6.5 32 1/4 11 17 111 3 i A o o Bl A e hs: 2 he
PWT12-03 12 21 32 64.7 21 433 38 10 19
PTF2/a-M03  3/8 534 429 176 1 22 65 3.2 38 12 13 136 - G T B e s = s 12 3 i
PTF3/8-No4 3/8 54.4 46.4 17.6 IE 22 6.5 32 1/2 15 24 17.1 A b’ PWT16-02 16 26 42 8.8 2% 46 1/4 g 24
PTFL/2-N0O2 12 58 40.1 21 1275 255 6.5 32 1/4 11 19 6 PWT16-03 16 6 42 69.8 26 47 3/8 10 24
PTEL/2NOZ  1/2 58 466 21 1275 255 65 32 38 12 19 125 o PWT15-04 16 % 42 728 26 50 12 13 A
PTF1/2-M04 12 58 51.1 21 1275 255 6.5 32 1/2 15 24 17 PWT16-06 16 26 42 73.8 26 51 3/4 14 27

55 Zhejiang Ideal Bell Technology Co.,Ltd. 56



Composite Push In Fittings
M i

PWT

T [ e e | [
T T ) O
11 1/8 TS 10

TR
PWT5/32-NOL  5/32 109 32 418 772
PWTS/32-N02  5/32 109 32 433 1 287 14 9 14
PWT1/4-NOL 1/4 129 32 4238 132 428 18 75 12
PWT1/4-N0O2 14 12.9 32 442 13.2 315 1/4 9 14
PWT1/4-NO3 1/a 129 12 46.2 132 25 38 10 17
PWTL/4-N04 14 129 32 49.2 132 365 12 13 21
PWTS/16-NOL  5/16 147 32 517 14.6 334 s 75 14
PWT5/16-N02 516 147 32 53 146 47 1/4 ] 14
PWT5/16-N03 516 14.7 32 55 14.6 36.7 3/8 10 17
PWT5/16-NO2  5/16 14.7 32 58 1456 207 112 13 21
PWT3/8-NOL 38 18 32 548 176 239 1/8 75 17
PWT3/8-NO2 38 18 32 56.3 1756 53 14 9 7
PWT3/8-NO3 38 18 32 58.3 176 273 38 10 17
PWT3/8-NO4 38 18 32 613 176 403 112 13 21
PWT1/2-N02 112 21 32 62.7 21 413 14 9 19
PWTL/2-NO3 12 21 32 64.7 21 433 38 10 19
PWT PWT1/2-N0O4 112 21 32 6.7 21 463 19 13 21
< [ mwbeoo | [ | e ==
tem Code Ad B L1
| PWT4-M5 4 10.9 32 378 11 232 35 M5*0.8 10
] PWT4-M6 4 10.9 32 388 1 242 45 M6*1 10
PWTE-M5 6 129 32 387 132 2 35 M5*0.8 12
PWTE-M6 6 129 32 39.7 132 27 45 M6*1 12

I Sy 5 I
[ encoss [ wee [ po | 5 | 0 | & | 5 [ | & | o

PWT4-GO1 4 10.9 32 35.8 11 252 55 8 14
PWT4-G02 4 10.9 32 41.3 1 26.7 69 1/4 ir
PWTE-GO1 6 12.9 3.2 40.7 13.2 28 55 18 14
PWTE-GO2 6 129 32 421 13.2 29.4 6.9 1/4 17
PWT6-G03 6 12.9 a9 44.4 132 T 82 3/8 19
PWT6-G04 6 129 32 454 13.2 327 9.2 12 24
PWT8-GO1 8 147 32 49.5 14.6 .2 55 1/8 14
PWTB-G02 8 147 32 51 14.6 327 6.9 1/4 17
PWTE-GO3 a8 147 32 53.2 146 34.9 B2 3/8 13
PWTE-GO4 8 147 32 54.2 14.6 35.9 9.2 L2 24
PWT10-G01 10 18 32 52.8 17.6 aLs 55 18 17
PWT10-GD2 10 18 32 54.4 176 234 6.9 1/4 1T
PWT10-G03 10 18 32 56.4 17.6 35.4 82 3/8 19
PWT10-GD4 10 18 32 571.5 17.6 36.5 92 12 24
PWT12-G02 12 21 32 60.6 21 39.2 6.9 1/4 19
PWT12-G03 12 21 a2 63.2 21 418 82 3/ 19
PWT12-G04 12 21 32 64.2 1 428 82 1/2 24
PWT16-G03 16 26 4.2 67.5 26 4.7 9.2 3/8 24
PWT16-G04 16 26 42 68.5 26 45.7 10 12 24
PWT16-GD6 16 26 42 69.8 26 47 14 3/4 30

www.ideal-bell.com

PH

Tmmeon | T ey |
—emcode | Tbeo | Ae | B | € | 5 | E | ¢ |
11 23 245

PH4-01 4 15 7.8 18 12
PH4-02 4 1 246 266 20.7 10.5 1/4 15
PHE-01 6 13 245 245 15 7.8 18 12
PHE-02 6 13 262 26.6 207 10.8 1/4 15
PHB-03 6 13 86 335 205 7 3/8 18
PHE-01 B 146 258 245 15 7.8 1/8 12
PHB-02 8 146 2775 266 207 10.8 1/a 15
PHE-03 8 146 302 335 205 L7 3/8 19
PHE-04 8 21 365 40.2 254 15.7 12 24
PH10-01 10 176 292 245 15 7.8 1/8 12
PH10-02 10 176 292 26.6 207 10.8 1/4 15
PH10-03 10 176 307 335 205 7 38 19
PH10-04 10 21 36.5 40.2 254 15T 12 24
PH12-02 12 21 336 266 207 10.8 /4 12
PH12-03 12 21 345 33.5 205 ILT 3/8 149
PH12-04 12 21 365 40.2 254 15.7 112 24

(e — T | () (e —] i ——| 1 ——| | —— | 2| ")

| jtemCode | Tube¢ | Ae [ 8 | ¢ [ b | E [ F | sw |
PH5/32-NO1 5/32 1 23 245 15 7.8 1/8 12
PH5/32-N0O2 532 1 246 266 20.7 10.5 1/4 15
PH1/4-NO1 1/4 13 245 245 15 1.8 1/8 12
PH1/4-N02 1/4 13 26.2 26.6 0.7 10.8 1/4 15
PH1/4-N03 1/4 13 286 335 205 17 3/8 18
PH5/16-N01 5/16 146 258 45 15 7.8 1/8 12
PHS5/16-NO2 5/16 146 275 266 207 10.8 1/4 15
PH5/16-NO3 5/16 146 302 335 205 1.7 3/8 18
PH5/16-N04 5/16 pil 365 40.2 254 157 12 24
PH3/8-N01 38 176 292 245 15 7.8 1/8 12
PH3/8-N02 38 176 292 26.6 207 10.8 1/a 15
PH3/8-N03 3/8 176 30.7 335 205 117 3/8 19
PH3/8-N04 38 21 365 40.2 254 15.7 12 24
PH1/2-NO2 12 21 336 26,6 207 10.8 1/4 12
PH1/2-N03 12 21 345 33.5 205 7 3/8 18
PH1/2-N04 12 2 365 40.2 254 15.7 12 24

PH
[ Tubeo =

emCode | Tubed [ Ao B | F | sw
PHA-M5 4 1 27.1 19.9 122 35 MS 8
PH4-M6 4 1 7.1 20.9 132 45 M6 8
PHE-M5 6 13 245 19.9 122 35 MS 8
PHE-M6 6 13 245 20.9 132 45 M6 8
PH4-G01 4 11 23 24 15 55 1/8 12
PH4-G02 4 1 246 27.1 207 6.9 1/4 15
PH6-GO1 6 13 245 24 15 55 1/8 12
PH6-G02 3 13 262 271 207 69 1/4 15
PH6-G03 1] 13 286 3.7 205 B2 3/8 19
PHB-GO1 8 14.6 258 24 15 55 1/8 12
PH8-G02 8 146 75 7.1 207 6.9 1/4 15
PH8-G03 8 14.6 30.2 3L7 205 8.2 3/8 18
PH8-G04 8 21 365 35 254 9.2 12 24
PH10-GOL 10 176 292 24 15 55 1/8 12
PH10-G02 10 17.6 292 211 20.7 6.9 1/4 15
PH10-GO3 10 176 307 3.7 205 8.2 3/8 18
PH10-G04 10 21 365 35 254 8.2 12 24
PH12-G02 12 21 3386 211 207 6.9 1/4 12
PH12-G03 12 21 35 EIR 205 82 38 19
PH12-G04 12 21 365 35 254 9.2 /2 24

57

Zhejiang Ideal Bell Technology Co.,Ltd. 58




Composite Push In Fittings
M i

PHF

I i S o o [
[iomcose [wee] ho | 5 | < [ o [« [ [ w | o | v
4 11 =il

PHF4-M5 249 12.2 25 M5*0.8 8 M5*0.8 i
PHF4-MG6 4 11 21 259 122 45 ME*1 8 ME*1 7
PHF8-M5 6 13 226 249 122 35 M570.8 8 M570.8 7
PHFE-MS& 6 13 22.6 259 122 4.5 M6*1 8 ME*1 7

T

m
w
i
&
3

ol I [ e

PHF4-01 4 11 23 33 15 7.8 1/8 12 /8 8.5

PHF4-02 4 11 24.6 34 15.2 9 1/4 17 1/4 11

PHF6-01 6 13 245 3 15 7.8 /e 12 1/8 9.5

PHF6-02 6 13 262 34 18.9 g 1/4 17 1/4 11

PHF6-03 ] 13 28.6 43,1 20.5 LT 3/8 19 3/8 12

PHF3-01 8 14.6 258 33 15 7.8 1/8 12 1/a 95

PHF8-02 8 14.6 215 34 18.9 a9 1/4 17 1/4 11

PHF8-03 8 146 30.2 43.1 20.5 11.7 3/8 15 3/8 12

5 5 PHF8-04 g 21 365 493 2.7 13 12 24 12 15

2 ‘N/sw PHF10-01 10 17.6 2982 3 15 7.8 18 12 1/8 8.5
| PHF10-02 10 17.6 292 34 18.9 9 1/4 17 14 11

@ I,/' 3‘ PHF10-03 10 17.6 30.7 431 20.5 ELT, 3/8 19 3/8 12
\ PHF10-04 10 21 36.5 493 227 13 1/2 24 1/2 15

il .u[ “_ka - PHF12-02 12 21 336 34 18.9 9 1/4 12 1/4 11
PHF12-03 12 21 345 43.1 20.5 ILT 3/8 19 3/8 12

PHF12-04 12 21 36.5 453 2.7 13 1{2 24 1/2 15

www.ideal-bell.com

PHF

IS Y N O B ™

PHF4-G01 4 11 23 315 15 5.5 1/8 12 1/8

mmmeI

PHF4-G02 4 11 24.6 32 18.2 6.9 1/4 17 /4

PHFE-G01 6 13 245 s 15 5.5 1/8 12 1/8

PHF&-GO2 B 13 26.2 32 189 6.9 1/4 17 1/4

PHF6-G03 6 13 28.6 411 20.5 8.2 3/8 19 38 10

PHF8-GO1 8 146 258 315 15 55 1/8 12 /8 8

PHF8-G02 8 1486 21.5 32 18.9 6.9 1/4 17 1/4 9

PHF8-G03 8 14.6 30.2 41.1 205 8.2 3/8 18 38 10

PHF8-G04 8 21 36.5 4T3 a7 9.2 12 24 12 13
PHF10-GO1 10 17.6 29.2 35 15 5.3 1/8 12 1/8 8
PHF10-G02 10 176 29.2 32 189 6.9 1/4 17 1/4 9
PHF10-G03 10 176 30.7 411 205 82 3/8 19 3/8 10
PHF10-G04 10 21 36.5 473 27 9.2 12 24 12 13
PHF12-G02 12 21 336 32 1889 6.9 1/4 12 1/4 9
PHF12-G03 12 21 345 411 20.5 8.2 if8 19 3/8 10
PHF12-G04 12 21 36.5 47.3 27 9.2 1/2 24 12 13

Tube OD BSPT Max | |
Item Code Tube ¢ AT [eTE c [ [ swi | sw2
3 1/8 9.5 45 26 14 14

PMF3-01 M12*1

PMF3-02 3 M12*1 1/4 1 a5 215 14 17

PHF PMF4-01 4 M12°'1 18 9.5 45 26 14 14

Tube OD - BSPT BSET PMF4-02 4 M12*1 1/4 11 4.5 275 14 17

PHFS/32-N01  5/32 1 23 3 15 7.8 18 12 1/8 95 et . i 14 i . i i bl

PMF6-03 6 M1441 38 12 6 30.9 17 19

PHFS/32-N02  5/32 u 246 34 192 9 14 17 1/4 1 2 P, 5 e 1 s g b ¥ =

PHF1/4-NOL 1/4 13 245 33 15 7.8 18 12 1/8 95 PMFa.01 3 MigH 8 o5 6 273 19 W7

PHF1/4-N02 1/4 13 26.2 24 189 9 1/4 17 1/4 1 PMFB-02 ] M16°1 1/4 1 6 292 19 17

PHF1/4-NO3 1/4 13 286 431 20.5 17 3/8 19 38 12 Wi PMF8-03 8 M16*1 3/8 12 6 3Lz 19 19

PHF5/16-N01  5/16 14.6 25.8 33 15 78 1/8 12 1/8 9.5 l PMFE-04 8 M16"1 172 15 6 342 19 24

PHF5/16-N02  5/16 146 275 k7] 189 9 1/4 17 1/4 1 N EMEIC:OL 2l LEL oS Ay 165 25 2L 13

g B PHFS/16-N03  5/16 146 30.2 431 205 117 3/8 19 38 12 w g . s 14 an 103 - 2 19

T kw PHF5/16-N04  5/16 21 36.5 49.3 27 13 12 24 112 15 s/ SR & BT s i s e = =

PMFL10-04 10 M18*1 1f2 15 10.5 386 21 24

| 0 PHF3/s-NOL 38 17.6 292 3 15 7.8 18 12 1/8 a5 S B G 14 o 5 = T =

o ( } PHF3/BN02  3/8 16 292 3 189 9 1/4 17 14 1 — 2 w1 38 > o 23 24 %

4 Hl PHF3/8-NO3  3/8 17.6 30.7 431 205 17 3/8 19 38 12 PMF12-04 12 M22*1 112 15 12 9.8 24 24
ﬂmF PHF3/3-NO4  3/8 21 365 493 n7 13 12 24 12 15
PHF1/2-N02 12 21 336 34 189 9 14 12 1/4 1
PHF1/2-N03 12 21 345 431 205 17 3/8 19 3/8 12
PHF1/2-N04 12 21 6.5 493 27 13 12 24 12 15

59 Zhejiang Ideal Bell Technology Co.,Ltd. 60




www.ideal-bell.com

Composite Push In Fittings
M i

PMF PMM

| lmweon | | Nt [ 0 ] Max [ [ ——" P T e o T [ | oo | s 1
PMF5/32-N01 5/32 M12°1 1/8 9.5 45 26 14 14 A PMMS/32 532 5 2 N1%a 7
PMF5/32-N02 5/32 Mi2"1 1/4 1 45 275 14 17 & 3
PMF1/4-NOL 1/4 MI14°1 1/8 9.5 [ 26.9 17 17 e 14 i i B 1
PMFL/4-NO2 14 Mi4*L /4 1 6 29.9 17 17 PMMS5/16 5/16 15 6.4 M16x1 19
PMF1/4-N0O3 1/4 Ml14*1 38 12 6 30.9 17 19 PMM3/8 3/8 8 402 M18x1 2
PMFL/4-NO4 1/4 Mi4'1 1/2 15 6 339 17 24 PMM1/2 112 2 46 M22x1 24
A PMF5/16-N01 5/16 MI15*1 18 95 ] 27.2 19 17 . -
PMF5/16-N02 5/16 M16*1 1/4 11 6 29.2 13 17
PMF5/16-N03 5/16 MI6*1 38 12 5 31.2 19 19
PMF5/16-N04 5/16 MI6*1 12 15 6 34.2 19 24
i PMF3/8-NOL 38 MIS*1 18 95 105 30.6 21 19
4 PMF3/8-N02 /s M18*1 1/4 11 105 3l6 21 19
PMF3/8-N03 3/8 Mis*1 3/8 12 10.5 351 21 19
e b PMF3/8-NO4 38 MI18'L 12 15 105 38.6 21 2 PUC
PMF1/2-N02 12 M22'1 1/4 11 12 333 24 24
o7 PMFL2-N03 » WL 3 12 2 43 2 2 o rueeo» [ 0O 00O
PAFL/2N04 1 w221 1 15 2 04 2 2 [ demcode [ Twbeo [ A [ L |
2 | PUC3 3 108 335
PUC4 4 108 335
1 PUCE & 128 346
PMF " PUCE 8 147 39
PUCLO 10 18 433
| [ Tweoo | [ esep | [ wa | | | ] o PUCI2 12 2 463
Temcode | mbeo | A | B [ ¢ | b0 | T | swi | s | i i 5 B
PMF3-GOL1 3 M12'1 1/8 8 4.5 24.5 14 14
PMF3-G02 3 M12°L 1/4 g 45 255 14 17
PMF4-G01 4 MI12"1 1/8 8 45 245 14 14
PMF4-G02 4 M12*1 1/4 9 4.5 25.5 14 17
PMF6-GO1 6 M14*1 1/8 8 6 25.4 17 17
PMF6-G02 6 M14*1 1/4 9 6 27.9 17 17 PUC
PMF6-G03 6 M14*1 3/8 10 6 28.9 17 19
PMF6-G04 6 M14*1 1/2 13 3 319 17 24
A PMF8-GOL 8 M16°1 1/8 8 6 257 19 17 ftem Code
PMF8-G02 8 M15*1 1/4 9 6 7.2 13 17 L | PLIC5/32 5/32 108 335
PMF8-G03 8 MI6*1 3/8 10 5 29.2 19 19 e— s i -
PMF8-G04 8 MI6*1 12 13 6 322 19 24
sw1 PMF10-GO1 10 Mig*1 18 8 105 291 21 19 < ‘ PUC5/16 5/16 147 3
i PMF10-G02 10 Mi8*1 1/4 g 105 296 21 19 ! | PUC3/8 3/8 18 433
I PMF10-GO3 10 MI8*1 3/8 10 105 331 21 19 pUCI/2 12 21 463
w2 o PMF10-G04 10 M18*L 1/2 13 10.5 366 21 24
PMF12-G02 12 M22*1 1/4 9 12 313 24 24
s/ PMF12-G03 12 M22‘1 38 10 12 323 24 24
PMF12-GO4 12 M22*1 172 13 12 ars 24 24
PMM PUL
| Tube OD R | 7 ] A ] A ]
e — e ] ke e ] &
N FETT T ———————
i i ' PMM4 4 13 2 M12x1 14 ] ! JJ_“ ] Sl - e e = : s o
fimi o ; :
| I FAIMG 9 = S A H i E PULS 8 07 234 14.6 10 32 6.5
n' PMM8 8 15 36.4 Ml6xl 1 —— ¢ PULLO 10 M5 25.7 176 1 32 65
PMM10 14 18 40.2 M18xl 21 & PULL2 12 40.2 297 21 12,75 32 6.5
8 5w PMM12 12 2 46 M22x1 2 PULLE 16 475 34.5 26 15 42 ]

61 Zhejiang Ideal Bell Technology Co.,Ltd. 62



Composite Push In Fittings

MBI RIE S

PUL

e it i [l

PY

www.ideal-bell.com

Item Code Tube ¢ A B | co “m ltemCode | Tubeg “ B |
PUL5/32 5/32 233 17.8 1 8 32 6 2 PY5/32 5/32 10.9 3.2
PULL/4 1/a 273 208 13 9 32 65 5 PYL/4 1/4 129 3z 36 132 233
PULS/16 5/16 30.7 234 14,6 10 32 65 PYS/16 5/16 14.7 32 44.8 146 26.5
PUL3/8 3/8 34.5 25.7 17.6 11 32 6.5 L :1 L §\ PY3/8 3/8 18 32 485 176 27.5
TUBE
PULL/2 1/2 40.2 29.7 21 1275 32 6.5 i PYL/2 12 21 13 55.1 71 237
Tube OD Tube OD
Item Code Tube ] Ad L1 L2
PUT PG4-3 4 3 109 10.8 335
PGE-4 6 4 129 10.9 356
T ) () ] ) | | | —r = : % s s
PUT3 3 356 215 11 8 16 6 32 PG10-8 10 8 18 14.7 418
PUT4 4 35.6 215 1 8 16 6.5 32 PG12-10 12 10 21 18 46
PUTE 6 418 255 13 9 18 6.5 32 PaTE 3 - 3k - g
PUTE 8 46.8 30.7 14.6 10 20 6.5 32
PUTLO 10 514 345 176 1 2 65 32
PUT16 16 69 415 26 15 30 8 42
IR T T I I
E I ) I D D S — i s 129 108 36
% (e | A | 8 [ co | 0 | e [ fo | ce ] 5 A esyts 1 . e o s s
PUTS/32 5/32 35.6 215 1 8 16 6.5 32 A iy
L
o = PUT1/4 14 418 255 13 9 18 65 12 ToRR1 PG3/e-1/4 38 14 18 M7 418
a m B PUTS/16 5/16 46.8 30.7 146 10 20 65 12 PG3/8-5/16 3/8 5/16 21 18 46
(&}
m PUT3/8 38 514 U5 176 11 2 65 32 PG1/2-3/8 12 38 2% 2% 552
A PUT1/2 1/2 58 395 21 12.75 255 6.5 32
(— T — p— T — i — —] D—) —
ttem Code Tube2¢ | A B co | o [ E [ Fo [ Go |
PGT4-3 4 3 35.6 215 11 8 16 [ 32
PGT6-4 £ 4 418 25 13 9 18 85 32
PY PGTE-6 8 6 46.8 30.7 14.6 10 20 65 32
| Tube OD PGT10-6 10 6 514 34.1 17.6 11 2 6.5 32
[l T b T n T 5 l & PGT10-8 10 8 514 34.1 17.6 1 2 6.5 32
— = p = %2 o - - PGT12-10 12 10 58 39.3 21 12.75 255 65 32
. : ? PGT16-12 16 12 69 47.1 26 15 30 8 42
® PY6 6 12.9 32 36 132 233
PY10 10 18 32 48.5 17.6 1.5 _ T
Item Code Tubelg | Tubeld Cop D G
oy 5 i & b ” 5 | ube1e | Tube2o | A [ B ] |
I Wones more 6 - m e o Pvem PGT1/4-5/32 1/4 5/32 418 25 13 9 18 6.5 3z
L2 PGT5/16-1/4 5/16 1/4 46.8 307 14.6 10 20 65 32
PGT3/8-1/4 3/8 1/4 514 34.1 17.6 11 2 65 32
PGT3/8-5/16 38 5/16 514 34.1 17.6 11 23 6.5 32
PGT1/2-3/8 172 ' 38 58 39.3 21 12,75 25.5 65 32

63

Zhejiang Ideal Bell Technology Co.,Ltd. 64



www.ideal-bell.com

Composite Push In Fittings
R AR Sk

PW PGJ

Tube OD
Item Cnde Tube ]

PGJ4-3 4
- PGJ6-4 -1 6
: : ] PGJo-4 4 10.5 8 20 35.5
PW12-10 12 21 32 54.9 21 215 PGJ3-6 6 125 8 20 36.4
PW16-12 16 2 42 592 26 337 PGJ10-6 6 12.5 10 24 384
6.8 PGJ10-8 8 145 10 24 352
PGJ12-6 6 125 12 275 435
PGJ12-8 8 145 12 275 44
e T S P e e e e e - i & s -
TN I ks
PW1/4-5/32 128 20 e Tube oD
. PW5/16-1/4 s 147 12 44.a uﬁ 233 ltem Code [ ubeo | A ¢ “
PW3/8-1/4 10 18 32 481 17.6 26.5 PGJ1/4-5/32 6
PW3/8-5/16 12 21 32 54.9 21 27.5 PGJ5/16-5/32 5/32 1&5 8 20 35_5
PW1/2-3/8 16 26 42 58.2 26 337 - PGJS/16-1/4 1/4 125 8 20 36.4
36.8 o PGJ3/8-1/4 1/4 12.5 10 24 38.4
PGJ3/8-5/16 5/16 145 10 24 39.2
PGJL/2-1/4 1/4 125 12 275 435
PGJ1/2-5/16 5/16 14.5 12 275 44
PGJ1/2-3/8 38 17.5 12 275 48.1
P GJ Tu be OD |
| | vwe [ [ [ [ ] HemCode | Tubed | A B Co
I T TS N S T W N S S w— A —
3 195 36 =
PGJ4 4 195 36 PLJE 6 2713 20.8 13 9 3.2 6.5 4] 19,5 3713
PGJS 6 195 364 PLI8 8 30.7 23.4 146 10 32 65 8 20 201
A PGJ8 8 20 387 PLJ1O 10 345 25.7 176 11 32 6.5 10 24 46
PLI12 12 402 29.7 21 1275 32 65 12 27,5 533
PLJI6 16 415 345 26 15 42 8 16 30 60.7
Tu be OD
“Item Code
PGJ5/32 4 19.5 36 @ ™
R iy i iz g 19 i i PLIL/A va 13 208 13 9 32 65 6 195 373
PGJ5/16 5/16 145 a8 20 8.7
PLI5/16 5/16 30.7 23.4 146 10 3.2 65 8 20 40.1
PGJ3/8 38 175 10 24 45.1 -
PLI3/8 345 25.7 176 u 22 6.5 10 24 46
o PGJ1/2 2 195 7 275 51 A
— PLI1J2 1/2 402 29.7 21 12.75 32 65 12 275 53.3
| | vweoo | 1 1 ] o]
[__tencose | mweo 4o |50 : : -----_--
T
PGJ3-4 4 105 3 195 36 et
PaS 6 125 ‘ 15 304 II ¢ _--
PGJ68 8 145 6 195 382 PLI4:3 3 195
PLJ64 4 233 17.8 11 8 33 6 6 185 345
PGJB-10 10 17.5 8 20 411
. PLIS-6 6 273 20.8 13 9 32 65 8 20 376
LoE 12 2 " At . PLJ10-B & 30.7 23.4 146 10 32 6.5 10 24 44.1
PGJ12-16 16 % 12 s 56 PLI12-10 10 345 257 176 1 32 6.5 12 275 495
PLJ16-12 12 402 29.7 21 1275 32 65 16 28 53.1

65

Zhejiang |deal Bell Technology Co.,Ltd. 66



Speed Controllers
EBEA

Composite Push In Fittings
YE R R L

PLJ weon| | ||| =S|
1remtc»deﬂﬁ-ll-ﬂﬂ.-ﬂﬂ T T ]
5 6 195 345

PLJ1/4-5(32 5/32 17.8
PLIS/16-1/4 1/4 273 20.8 13 9 3.2 6.5 8 20 318
PLJ3/8-5(16 5/16 30.7 234 148 10 32 6.5 10 24 44.1
PLJ1/2-3/8 3/8 345 25.7 176 11 32 6.5 12 275 49.5
A
B
Tuag =
gl
Wy =
I
—
G|

PYJ

ltem Code Tube ]

108 51.3 19.5
PYJ6 ] 129 £ 6 5L7 13.2 kL 195
PYJ8 8 147 32 8 61.5 14.6 432 20
PYJ10 10 32 10 68.4 176 418 24
PYJ12 12 32 12 785 21 57.3 275
= PYJ16 16 4.2 16 B2.9 26 60.5 8

TUBE—AF
BT
|

| R et
HI N B

; PYJ5/32 5/32 109 32 4 5L3 11 367 19.5

PYJ1/4 1/4 129 32 [ 517 13.2 95 19.5

3 PYJ5/18 5/18 14.7 22 g 6L5 14.6 43.2 20

] PYJ3/8 3/8 18 3.2 10 58.4 17.6 478 24
HE PYJ1/2 12 21 32 12 78.5 21 57.3 75

Applications/ RZF Features/ F¥iE

* Speed controllers used to control the speed of the air * Accurate regulation of an optimal airflow rate for precise motion control.
pressure actuator ERARSRERERE, ANERRERIEEEE,

e 1 e = —

bt Sl * Tube directi gg liand f?ngle air controlled according to piping as the main body can
* Mainly installed in the air actuator. [OtEte Lo SN Ease

EER RS L, SA0/E R oI e 360 B, Tﬁ%‘?ﬁﬂﬁlﬁrﬁﬂﬁﬁﬁﬁﬁa

* Easy speed control with drive tools in limited and crowded spaces.
EEFEAMRNNZER, ETHERTARNEE.

" Miniaturized products occupy small space attaching to devices.
RPN, SRECBIERE E NS EEYEEL.

* Control-In and Control-Out are available for all size.

Pl R~ Sl it TR HE TR .

67 Zhejiang Ideal Bell Technology Co.,Ltd.




www.ideal-bell.com

Speed Controllers
VA E]

i 4 (® v-Seal(NBR)
Specifications/ H&ARF#E O Hanceltrn=l - B (TR JSC _
a1 . — (T | — — | — | — — ]| o
* Fluid type SEFBSR : Ar (N other gases or © LockNut(Brass) ; @ clnzed | | femcode [ Tue¢ | A9 | 8 | M | Mn | o | e [ F [ sw |
liquids)/ &= (RAEREATATARLE) R @ e - e e = 350 (LG I 5 75 B
o () Release Sleeve(POM) )
* Working Pressure T{EFE;1] :0-150psif0-9.9kef/ @ Body(Brass) = BEGE (REE) JSCOBANGR. B2 b 246 48 99 201 s 1/4 12
cm’ (0-990Kpa) Mk (8) JSC1/4-ND1 1/4 13 245 43 389 15 78 1/8 12
* Working Temperature THEBEE :0-60°C JSC1/4-NO2 1/4 13 26.2 46 339 20.7 10.8 1/4 12
© O-Ring(NBR) JSCL/4-N03 1/4 13 286 52 445 205 117 19
* Negative Pressure i :-100Kpa(10Torr) OME (TH < £ S
J8C5/16-N01 5/16 146 25.8 43 389 15 T8 1/a 12
* Applicable Tube $EF%KE : Polyurethane, Nylon @ O-Ring(NBR} JSCSI16-NO2 5/16 146 275 6 309 20.7 10.8 4 12
B N W oRE TH JSGjJ.S—N(B 5‘;15 146 302 5 45 205 117 :fﬂ 19
(@ Body(PET) ; : :
gL JSC5/16-N04 5/16 21 36.5 59.9 50.5 25.4 157 12 24
J5C3/8-No1 /8 176 292 43 389 15 18 18 12
Tube{Polyurethane,Nylon)
® %ﬁdlﬁﬁa)rass) ogggg{lgﬁu) @ FE (PUE, BRE) Jsc3/a-N02 38 176 29.2 46 399 20.7 108 14 12
@ Lock Claw(sus) J5C3/8-N03 3/8 17.6 307 52 445 205 117 38 19
Thread
@ U-Packing(NER) © s FHE (THE JSC3/B-NO4 3/8 21 365 59.9 505 254 157 12 24
H OT' Bt (THIRRD (@) Back Ring(POM) JsC1/2-No2 112 21 336 46 300 20.7 108 1/4 12
High Accurancy 0 e n b ST e JSC1/2-N03 102 2 345 52 445 205 117 I8 19
= % J# JSC1/2-N04 12 21 36.5 59.9 50.5 254 157 12 24

JSC

TubeoD | | BSPP
J Sc Item Code Tube & | Ad '_

I T I A - = . AL —— ;
| temcode [ tweo | Ao [ 8 | W | wm | 0 | e [ Ff [ v | s c e
SSCADL 4 1 93 i3 = 15 78 18 = JSCE-M5 6 13 245 30.5 27.6 12.2 3.5 M5 8
ISCA.03 4 1 WG i6 4.9 6.7 105 14 12 JSCE-ME (] 13 245 315 2886 132 4.5 MG g
JSC6-01 6 13 245 43 38.9 15 7.8 18 12 e 2 u £ e sid 14 g Bl 2
JSC6-02 & 13 2%.3 i 299 207 168 14 12 JSC4-G02 4 11 24.6 42.4 363 171 72 1/4 12
e = 5 e = P e o 38 = JSCE-GO1 § 13 24.5 412 37.1 132 6 1/8 12
15C8-01 s 146 258 2 189 15 78 18 12 } B JSCe-G02 6 13 26.2 42.4 363 171 T2 1/4 12
Ko 3 e ore 1 50 o o 4 9 B JSCE-GO3 6 12 28.6 48.7 412 1732 8.4 38 19
Jscs-03 8 14.6 302 52 445 20.5 117 3/8 19 | Ty el . e = e Akl o g 7B 2
15C8.04 a 2 365 509 505 254 57 2 2 © 3.‘ JSCB-G02 8 14.6 215 424 363 171 T2 1/4 12
JsC10-01 10 176 25.2 43 38.9 15 7.8 18 12 el o = ﬁ;ﬁ : 1:'16 :‘; ::; ::j zj 181'4? i{: ;i
JSC10-02 10 176 29.2 46 39.9 20.7 10.8 1/4 12 = £ : 2
JSC10-03 10 17,6 30,7 52 44.5 205 1.7 3/8 19 ke i AL i e 2l bk f 3 &
JSC10-04 10 21 %5 50.9 505 25.4 15.7 12 24 JSC10-Go2 10 176 292 424 363 171 T2 1/4 12
JSC12-02 12 5 136 45 399 207 108 4 12 JSC10-Go3 10 176 30.7 48.7 412 17.2 8.4 38 19
JSC12.03 12 % i 52 i 205 s 38 19 JSC10-Go4 10 21 36.5 55.9 455 21.4 117 12 24
JSC12-04 12 21 365 589 50.5 35.4 15.7 12 24 Lo = = = 225 5 i i it 1
JSC12-G03 12 21 345 48,7 412 17.2 B4 3/8 19
JSC12-Go4 12 21 365 55.9 46.5 214 117 1/2 24

69 Zhejiang Ideal Bell Technology Co.,Ltd. 70



Speed Controllers Hand Valves
VIR FiE

PA

T [
4

= EEE ]
el = S e
49.6 34.1 17 15.5 18 25

PA4 39.T 4.3
PAS 6 53.1 39.7 34.1 17 15.5 18 a5 43
PAS 8 56.6 39.7 341 17 15.5 18 25 43
PALD 10 65.1 48.8 40.9 21 215 24 31 43
PA12 12 70.3 48.8 40.9 21 21.5 24 31 43

e e ] () | ]
e e R O | e |
PAS/32 532 43.6 39.7 34.1 17 15.5 18 15

43
PAL/4 1/4 53.1 35.7 341 17 155 1a 25 43
PAS5f16 5/16 56.6 39.7 34.1 17 15.5 18 25 43
PA3/8 38 65.1 43.8 40.9 21 215 24 31 43
PA1/2 12 703 48.8 409 21 215 24 31 43

Applications/ FZFE

" Used for switching compressed air.
AT B0 SR,

* Hand Valve switches compressed air on/off air pressure devices by simply turning the handle.

FiRRWEANER FRETR [ SRR,

* Maintenance or insectTon is possible when the remaining pressure in the device is removed.
17

HiEEHTHENOENSEERE, BATEREEANRRE.

* There are 4 types available depending on the method applied to air pressure flow.
BESERATENANSGZ, tENMEEHHERH.

n Zhejiang Ideal Bell Technology Co.,Ltd. T2



www.ideal-bell.com

Hand Valves
FiE

HVU HVF

| fwal [ T T T T T Tl |

HVF5/32-NO1L 56.8 3715 17 1585 18 L] 43 1/8 75
HVF5/32-N02  5/32 583 ars 17 155 18 25 43 1/4 9
HVF1/4-NOL 1/4 59.9 ars 17 155 18 25 43 1/8 75
HVU10 10 65.1 25 n 215 24 3 43 HVF1/4-NO2 1/4 613 ars 17 155 18 25 43 1/4 9
S o s Ve o e = - e HVE1/4-N03 1/4 633 75 17 155 18 25 43 3/8 10
D <} HVF1/4-No4 1/4 663 375 17 15.5 18 25 43 12 13
] HVF5/16-NO1 5/16 635 375 : I 155 18 25 43 1/8 75
L. 4TR
HVF5/16-N0Z  5/16 54.8 375 17 155 18 25 43 144 9
l HVF5/16-N03  5/16 66.8 ar5 17 155 18 25 43 38 10
HVF5/16-N04  5/16 59.8 375 17 155 18 25 43 12 13
H VU HVF3/8-NOL 38 715 425 1 215 24 31 43 1/8 7.5
HVF3/8-N02 38 729 425 21 215 24 31 43 1/4 9
e = HVF3/8-N03 3/8 749 425 21 215 24 31 43 3/8 10
HVF3/8-NO4 3 T8 42.5 21 215 24 31 4.3 1 13
HVU5/32 5/32 49.6 3715 17 155 18 25 43 4 v #
HVF1/2-N02 779 425 21 215 24 31 43 1/4 9
HVUL/4 1/4 53.1 315 17 155 18 25 43 B " !
HVF1/2-N03 12 799 425 21 215 24 31 43 38 10
HVU5/16 5/16 56.6 315 17 155 18 25 43
HVF1/2-N04 12 82.9 425 21 215 24 31 43 12 13
HVU3/8 38 65.1 415 21 215 4 kil 4.3
HVU1/2 12 703 25 2 215 24 3 43 HVC

Item Code

HVC 4-01 4 56.8 315 17 155 18 25 43 1/8 75
HVC 4-02 4 583 ars 17 155 18 25 43 1/4 9
HVC 6-01 6 59.9 ars 17 155 18 25 43 1/8 75
HVC 6-02 -3 613 315 17 155 18 25 43 1/4 9
---—-—--
HVC 6-03 6 633 ars5 17 155 18 25 43 38 10
IS T N N N N B I
TS e 185 18 HVC 6-04 [ 663 375 17 155 18 5 43 12 13
HVF 4-02 4 58.3 31.5 17 15.5 18 25 43 1/4 9 HVC 8-01 8 635 315 17 155 18 25 43 1/8 75
HVF 6-01 6 59.9 37.5 17 155 18 25 43 18 75
NF02 i s o5 7 155 1 = 5 14 5 HVC 8-02 8 64.8 375 17 155 18 25 43 1/4 9
HVF 6-03 6 63.3 315 17 155 18 25 4.3 3/8 10 HVC 803 8 66.8 375 17 155 18 25 43 38 10
HVF 6-04 6 66.3 315 17 155 18 25 43 12 13
F 01 8 635 315 17 155 18 25 43 18 75 HVC 8-04 8 69.8 375 17 155 18 25 4.3 112 13
HVF 8-02 8 64.8 315 17 15.5 18 2 4.3 1/4 9 % + HVC 10-01 10 715 2.5 21 215 24 31 43 1/8 7.5
HVF 8-03 8 66.8 315 17 155 18 25 43 3/8 10
m—" - o T 17 155 1 25 43 12 3 . | HVC 10-02 10 729 425 21 215 24 31 43 1/4 9
HVF 10-01 10 715 425 21 215 24 31 43 1/8 75 HVC 10-03 10 7459 425 21 215 24 31 43 8 10
HVF 10-02 10 729 42,5 21 215 24 31 4.3 1/4 9
HVF 10-03 10 749 425 21 215 2% 31 43 38 10 HVEC 10-04 10 18 425 4 215 e L 48 7 it
HVF 10-04 10 77.9 425 21 215 24 31 43 12 13 HVC 12-02 12 779 425 21 215 24 31 43 1/4 9
12 71 425 4 43 4
] - L e X 2k = = 1 2 HVC 12-03 12 799 42.5 21 215 24 31 43 3/8 10
HVF 12-03 12 7.9 42.5 21 21.5 24 31 4.3 3/8 10
HVE 12-04 12 82.0 425 21 215 24 31 43 1/2 13 HVC 12-04 12 829 42.5 21 N5 24 31 4.3 1/2 13

13 Zhejiang Ideal Bell Technology Co.,Ltd. 74



www.ideal-bell.com

Hand Valves
FiE

HVC

%

HVC5/32-N0o1 5/32 56.8 3rs 17 15.5 18 25 43 1/8 7.5
HWVC5/32-N02 5/32 58.3 3715 17 15.5 18 25 43 1/4 9
HVC1/a-NOL 1/4 59.9 375 17 15.5 18 25 43 1/8 75
" HVC1/4-N02 14 61.3 s 17 155 18 25 43 1/4 9
= HVIC1/4-NO3 1/4 63.3 37.5 17 15.5 18 25 43 3/8 10
HVC1/4-NO4 1/4 66.3 375 17 155 18 25 43 1/2 13
] ﬂ-:u.
HVC5/16-NO1 5/16 63.5 ars 17 155 18 25 43 1/8 1.5
2 4% HVC5/16-N02 5/16 54.8 375 17 15.5 18 25 43 1/4 9
HVC5/16-N03 5/16 66.8 375 17 15.5 18 25 43 3/8 10
HVC5/16-N04 5/16 69.8 375 17 15.5 18 25 43 1/2 13
HVC3/8-No1 3/8 715 425 21 215 24 31 43 1/8 75
HVC3/8-N02 3/8 729 42.5 pil 215 24 31 43 1/4 9
HVC3/8-N03 38 749 425 21 215 24 31 43 3/8 10
HVC3/8-N04 3/8 T7.9 42.5 21 215 24 31 43 1/2 13
HVIC1/2-N02 172 779 42.5 21 215 24 31 43 1/4 9
HVC1/2-N03 12 79.8 42.5 21 215 24 31 43 38 10
HVC1/2-NO4 12 829 42.5 21 21.5 24 31 43 1/2 13

75 Zhejiang Ideal Bell Technology Co.,Ltd. 76



(hG(k Va Ive www.ideal-bell.com
[

Features/ 1
- Uni-directionality of airflow is maintained while the flow of air in the apposite direction is completely prevented.
+ Constant input and output air pressure is achieved due to the controlled directionality of airflow.
- Suitable for the pneumatic applications under low operational pressure conditions.

Flow direction as below: Ais In type, Bis QUT type

IN Type QUT Type

CVPC

CVSFM

CVPUC >

CVSF =

Specifications/ HA S

Applicable Fluid Type Compressed Air

Working Pressure Range -100KPa ~ 1Mpa

Negative Pressure Skpa

Working Temperature Range [Pkl iii N (\s) -5~60°C (Air)

Recommanded Tubings PA1l, PA12, PAG, PE, PU,FEP,PFA

Zhejiang Ideal Bell Technology Co.,Ltd. 78




(hG(k va Ive www.ideal-bell.com
B[] {E]

CVPC CvVPUC

CVPC4-01A 4 1/8 Thread to Tube CVPC5/32-NDIA  5/32 1/8 Thread to Tube CvPUC4 4 CVPUC 5/32 5/32
CVPCA-02A 4 1/4 Thread to Tube CVPC5/32-N02A  5/32 1/4 Thread to Tube CVPUCK 6 CVPUC1/4 1/4
CVPCE01A 6 1/8  Thread toTube CVPCI/A-NOIA  1/4 1/8  ThreadtoTube cvPUCB 8 CVPUCS5/16 5/16
CVPCE-024 6 1/4 Thread to Tube CVPC1/4-NO2A  1/4 1/4 Thread to Tube CVPUC10 10 CVPUC'3/8 3f8
CVPCE-03A 6 3/8  Thread to Tube CVPCL/A-NO3A  1/4 3/8  Threadto Tube ' CVPUC 12 12 CVPUC'1/2 12
CVPCE-04A 6 /2 Threadto Tube CVPCL/4-NO4A  1/4 12 Threadto Tube
CVPC8-01A 8 1/8  Thread to Tube CVPC5/16-NOIA  5/16 1/8  Threadto Tube
CVPCB-02A 8 1/4  Thread to Tube CVPC5/16-NO2A  5/16 Y4  Threadto Tube
CVPCB8-03A 8 3/8  Thread to Tube CVPC5/16-NO3A  5/16 3/8  ThreadtoTube
CVPCB-04A 8 12 Thread to Tube CVPCS/16-ND4A  5/16 1/2  Threadto Tube
CVPC10-01A 10 1/8  Thread to Tube CVPC3/B-NOIA  3/8 1/8  ThreadtoTube
CVPC10-02A 10 1/4  Thread to Tube CVPC3/8-NO2A  3/8 1/4  Threadto Tube CVSF
CVPC10-03A 10 3/8  Thread to Tube CVPC3/a-NO3A  3/8 38 ThreadtoTube
orcom 0 i1 Tewwnse om0 i Thesors
CVPCI2-02A 12 1/4  Thread to Tube CVPCL/2-NOZA  1/2 1/4  ThreadtoTube CVSF-01 18
CVPC12-03A 12 3/8  ThreadtoTube CVPCL/2-NO3A 12 3/8  ThreadtoTube CVSF-02 1/4
CVPC12-04A 12 /2 Thread toTube CVPCL/2-NO4A 12 1/2  Threadto Tube CVSF-03 3/8
CVSF-04 12
CVPC
[tem Code OTD'iem TI:,':E,aGd' Flow Direction Item Code O;L_Jlt:::h Tr:f,:d‘ Flow Direction
CVPCA-01B 4 1/8  Tubeto Thread CVPC5/22-NOIB  5/32 1/8  Tubeto Thread
CVPC4-02B 4 1/4  TubetoThread CVPC5/32-NO2B  5/32 1/4  Tubeto Thread
CVPCE-01B 6 1/8  Tubeto Thread CVPC1/4-NOIB 1/4 1/8  Tubeto Thread
CVPCG-02B 6 1/4  Tubeto Thread CVPC1/4-N02B 1/4 1/4  Tubeto Thread
CVPCE-03B 6 3/8  TubetoThread CVPC1/4-N03B 1/4 3/8  TubetoThread
CVPCE-04B 5 12 Tube to Thread CVPC1/4-NO4B 1/4 12 Tubeto Thread Item Code Thread-PT/G/NPT  Flow Direction #1 [tem Code Thread-PT/G/NPT  Flow Direction
CVPCA-01B 8 18 TubetoThread CVPCS/16-NOIB  5/16 /8  TubetoThread CVSFM-O1A 1/8 Male To Female CVSFM-018 1/8 Female to Male
CVPC8-02B 8 1/4  TubetoThread CVPCS/16-NOZB  5/16  1/4  TubetoThread CVSFM-02A 14 Male To Female CVSFM-02B 14 Female to Male
CVPC8-03B 8 3/8  TubetoThread CVPC5/16-NO3B  5/16 38 TubetoThread CVSFM-03A 3/8 Male To Female CVSFM-03B 3/8 Female to Male
CVPC8-04B 8 1/2 Tube to Thread CVPC5/16-NO4B 5/16 12 Tube to Thread CVSFM-04A 12 Male To Female CVSFM-04B 1/2 Female to Male
CVPC10-01B 10 1/8  Tubeto Thread CVPC3/8-NDIB 3/8 1/8  Tubeto Thread
CVPC10-02B 10 1/4  Tubeto Thread CVPC3/8-NO2B 38 1/4  Tubeto Thread
CVPC10-03B 10 3/8  TubetoThread CVPC3/8-N03B 3/8 3/8  TubetoThread
CVPC10-04B 10 12 TubetoThread CVPC3/8-NO4B 3/8 1/2  Tubeto Thread
CVPC12-02B 12 1/4  TubetoThread CVPC1/2-N02B 1/2 1/4  Tubeto Thread
CVPC12-03B 12 3/8  TubetoThread CVPC1/2-N03B 112 3/8  TubetoThread
CVPC12-04B 12 /2 Tubeto Thread CVPC1/2-NO4B 12 1/2  Tubeto Thread

79 Zhejiang |deal Bell Technology Co.,Ltd. 80



www.ideal-bell.com

Brass Pipe Fittings
BSP %3k

HTB HTB

Thread Size(R/G/ Model Hose Barb  Thread Size(R/G/
Model Hose Barb NPT) NFT)

HTB02-01 18 18 HTB-03-M5 3mm M5
\ HTBO301  3/16 18 \ HTB-0401  4mm 18
\ HTBO5-01 5/16 1/8 \ HTB-06-01 smm 18
.—ag‘% HTBO6-01 3/8 1/8 % HTE-08-01 gmm 1/8
o HTBO03-02 316 s é HTB-09-01 9mm 18

:z:; 51;;; ij: HTB-10-01 10mm 1/8
HTB06-02 3/8 va HTB-04-02 4mm 1/4
HTB08-02 12 14 HTE-06-02 smm 1/4
HTB03-03 3/16 3/8 RIB:05-02 8mm i
HTBD4-03 1/4 /8 HTB-0g-02 9mm 1/4
HTBO5-03 5/16 3/8 HTB-10-02 10mm 1/4
HTBOG-03 3/8 3/8 HTB-12-02 12mm 1/4
HTBO8-03 12 3/8 HTB-06-03 Bmm 3/8
HTB04-04 1/4 1/2 HTB-08-03 9mm 3/8
HTBO6-04 3/8 1/2 HTB-10-03 10mm 3/8
HTBOE-04 12 12 HTB-12-03 12mm 38
HTB10-04 5/8 12 HTB-13-03  13mm 3/8
HIBI2-04 ik 1z HTB-16-03  16mm 3/8
:me'“: i';: :j: HTB0904  9mm 12
RS HTB-10-04 10
HTB12-06 34 3 o 12
S i 34 HTB-12-04 12mm 12
HTB12-08 3/4 1 HTB-13-04 13mm 1/2
e 3 3 HTB-16:04  16mm 12
HTB20-08 11/4 1 HTB-19-04 19mm 2
HTB24-12 112 11/2 HTB-25-08 25mm 1
HTB32-16 2 2 HTB-32-16 32mm 2
Model Hose Barb Threaig%etﬁf G/ Model HoseBarh 1O T%EI?I ;iTZ;e[Rf
\ HTFED4-01 1/4 1/8 HTFB-06-01 6mm 1/8
g HTFB04-02 14 1/4 él' : HTFB-09-01 Smm 1/8
. HTFRO4-03 144 3/8 3 HTFB-06-02 &mm /4"
HTFBO4-04 1/4 12 HTFB-08-02 9mm 14"
HTFROG-03 38 38 HTFB-13-02 13mm 1/4
— " 3 HTFB-06-03 6mm 38"
Features/ $¥{E Specifications/ HR iR 3 2 HTFB-09-03 9mm 3/8"
HTFB08-02 1/4
* BSP Fittings used for all air pressure piping * Fluid type $ER7Et4 : water, air (&, &4) M g HTFB-13-03 13mm 3/8"
SERAERT SRR WLRL, WiEEGEN 12 3/ HTFB-06-04 6mm 12
*“Working Pressure TEE7] : 30 bar/ 450PS1/30KG
* Different usages depending on the user’ s requirements. & ! / HTFB08-04 12 12 HTFB-03-04 smm 1/2"
RERF WEAFE, THESMHRR. * Working temperature T{FRE :-40°C to 80°C HTFB08-06 34 £ HTFB-13-04 13mm 107"
* Nickel plated brass body: anti-corresion and anti-contamination. * Applicable Tube EFR%E : PU, PE, Nylon/ PU S, PEE, BEE HTFB-13-06 13mm 3/4"

R AT T LU PSR PRFIRA;
*Thread: BSPT, BSPP, NPT
T G4, RERL, NPT BRI, MR AT HRRTIR, BhErECR B!

Pls feel free to contact us for special conditions! Thankst

81 Zhejiang Ideal Bell Technology Co.,Ltd. 82




Brass Pipe Fittings W
BSP ##

PS PS

HTBF

Size 1{R/G/NPT) | Size2{R/G/NPT)

Hose Barb| : y Model Hose Barb Hase Barb
G Si(;er,lnchj iThread SE={RGNET) HRO2-02 1/8 1/8 P5-01 18" PS02-01 14" 1/8"
N i ;ﬁﬁ ki HRO3-03 3/16 3/16 PS-02 e Ps03.01 W e

HTBF04-01 14" 18" : R{}EME-OGS 51;; ;:L == e 250302 Py m~
HTBFO3-02 3/16 1/4" iR 0 g 4" PS04 2 PS04-02 iira 14
HTBFQ4-02 1/4" 14" P504-03 v g
HTBFC5-02 5/15" 14" HRGG-06 ok 38 PS-06 3/47 m ™
HTBF04-03 ya 3/8" HROB-04 12" 14" PS-08 " i i 32
HTBF05-03 5/16" ETCA HRO8-06 12" 38" PS08-04 r a2
HTBF05-03 3/8" 3/8" HRO8-08 12 12 PS08-06 i EIE
HTBF08-03 12" 3/8" HRO8-09 12" 9/16"
HTBF06-04 3/8" 12" HR10-10 5/8" 5/8"
HTBFO8-04 1/2" 12" HRI12:12 34 3/
HTBFO8-06 12" 34" HR16-16 1 1
HTBF10-06 5/8" 34"
HTBF12-06 3/4" 3/4"
HTBF16-08 1 1

PBHN

HTBFW HSR

1 Madel Size 1(R/G/NPT) | Size 2(R/G/NFT)
1/8" 1/8"

-IEH “__ 2{R{GINPT)
Model No. Hose Barb >
1/8

PBHNOL PBHNO2-01 1/4 1/8

HTBFW6.2mm-01 HSRO3 3/16 mo——— "

HTBEW04-01 1/4" 1/8" HSRO4 1/4 PBHN03-01 3/8 /8

HTBFW04-02 14" 1/8" N 4 PBHNO3 3/8" PBHN03-02 3/8

HTBFW05-02 5!’;5" lj:" il il i PBHND4 142" PBHNO4-02 1;2 ﬁ

HTBFWO0B-02 3/8" /4" HSRO6 3/8 _

HTBFWO08-02 1/2" 1/4" HSROA 12 PBHNOG 3/4 PBHN04-03 1/2 3/8

HTEFW04-03 1/4" 3/8" ikt 3 PBHND8 " PBHN0G-02 34 1/4

Sl ol il PBHN06-03 3/4 3/8

HTBFW08-03 12" 38"

HTBFWO05-04 5/18" 12" PBHN06-04 34 1/2

HTBFW08-04 1/2' 1/2 PBHNOB-06 " 3/a"

HTBFW08-06 /7" 3/4"

HTBFW10-06 5/8" 34"

HTBFW12-06 3" 38"

HTBFW16-08 1 1

HTBF2 HHHT SU RB

Female < Female |
. Male Thread(R/ - Male Thread(R/
temCode | HOSeBO® |oy iy ciotercpn > Model No. Hose Barb Model Thread (R/G/ NPT s =3 Model Threadr/c/ | M THE
. - ze(Inch) NPT) NPT) |
= iy HHHTO2 1/8 i
- HTBF2 04-02 1/4" 1/4" .

SUO01-01 1/8" 1/8° RBO1-02 1/8" 14"
- . HHHTO3 3/16 5U02-01 1/4" 1/8" RBO1-03 1/8" 3/8”
HTBF2 05-02 5/16 1/4 T T SR 14 1/a" RBO2-03 14" s
HTBF2 06-02 3/8" 1/4" Fr ik SUD3-01 3/8" 18" REOL-04 /8" 12"
HTBF2 08-04 1/2" 1/2" 5U03-02 3/8" 1/4" RBO2-04 1}4: 1!2:
HTBF21206  3/4" 3ja" R ok 5U03-03 8" 38" g{;ﬁ if; 1;; ’
HHHTOB 1/2 SuU04-02 172" 1/4" 8 d
HHHT12 34 5U04-03 12" 38" mx ii :, ;‘; :“

HHHT16 1 $U04-04 12" 2 2 :

RBO2-08 1/4 1

RBO3-08 /8" 1"

RB04-08 12" 1?

RBO6-08 3/8" 1

83 Zhejiang Ideal Bell Technology Co.,Ltd. 84



www.ideal-bell.com

Brass Pipe Fittings
BSP ###:3k

PP-G FSP HPTF

- Model No. Thread Size 2(R/G/NPT) /( 7, Thread Size 2(R/G/NPT) [ ModelNo. | Thread Size 2(R/G/NPT)
4 PP-GO1 c1/8" SFP-01 1/8" Yy HPTF-01 18 HPTM-01 18"
l PP-GO2 G1/a :z:'j; ;::. w HPTF-02 1;:: HPTM-02 1;4:
- PP-GO3 G3/8" SEP-04 1 HPTF-03 3f : HPTM-03 3,!s'
PP-G04 G1/2" SFP-06 34" :;;: 1;;'_ :xg 1;;_
PP-G06 G3/4 SFP-08 1 : -
HPTF-08 1 HPTM-08 1
SP HPLF
Model No. Thread Size 2(R/G/NPT) Model N, Thread Size 2(R/G/NPT)
P01 18" £ HPLF-01 g HPTFFM HPTFMF
.o 14" @ N g HPLF-02 e
o " o s S o | Theaiieainighen
SP-04 12" biaiari b HPSTFFM-01 178 HPTM-01 1/8"
SP-06 34" HERESS 3"1 HPSTFFM-02 18 HPTM-02 14"
HPLF-08 1
SP-08 1" HPSTFFM-03 38" HPTH-03 38
HPSTFFM-04 2 HPTM-04 12
HPSTFFM-06 34" HPTM-06 3/4"
HPSTFFM-08 by HPTM-08 1"

HPLM HPLFM
[__vodeino__[ e st | 6;\\ ol | Treed s 2/
_ RN

HPLM-01 1/8” HPLMF-01 18"
HPLM-02 /4" HPLMF-02 14"
HPLM-03 3/8” HPLMF-03 3/8"
HPLM-04 12" HPLMF-04 112"
HPLM-06 3/8" HPLMF-06 38"

HPLM-08 3 HPLMF-08 Y HPYF HPYFFM

X 3
., HPYF-01 18" HPYFEMAOL 18"
SF HPYF-02 14" —— e
g HPYF.03 3/8"
HPYFFM-03 38"
[ hodedo | Thisisalionen | pem— v
SFO1 18" HPYFFM-D4 1/2°
5F02 14"
SHI3 378"
SF04 1z
SFO8 3/4"

35 Zhejiang Ideal Bell Technology Co.,Ltd. B6



Barbed Fittings
/MK

RTU

Straight Connector for Air Tubing
Assembly: Slide on the hose to the stop.  Disassembly: cut open the hose.
RTU2/2 2 2
= - RTU3/2 2
RTU3/3 3 3
RTU4/3 4 3
RTU4/4 4 4
- RTUG/4 [ 4
RTUG/6 6 6
LPK
L-connector for Air Tubing

Materials: brass and plastic

Temperature range: -10 ° Cto max. + 60°C
Assembly: Slide on the hose to the stop. Disassembly: cut open the hose

LPK 300 3
LPK 400 4
LPK 600 6

VPK

e

V-connector for Alr Tubing

Materials: brass and plastic

Temperature range: -10 ° Cto max. + 60°C

Assembly: Slide on the hose to the stop. Disassembly: cut open the hose

e e
VPK 300 3

VPK 400 4

VPK 600 &

TPK

YPK

T-connector far Air Tubing

Materials: brass and plastic

Temperature range: -10 ° C to max. + 60 ° C

Assembly: Slide on the hose to the stop. Disassembly: cut open the hose

www.ideal-bell.com

TPK 300 3

TPK 400 4

TPK 600 &
Y-connector for Air Tubing

Materials: brass and plastic
Temperature range: -10 °* C to max. +60° C
Assembly: Slide on the hose to the stop. Disassembly: cut open the hose

Item Code Tube ID-mm

YPK 300 3
YPK 400 4
YPK 600 6

Zhejiang |deal Bell Technology Co.,Ltd. 88




www.ideal-bell.com

Brass Push On Fittings
RiITERL

RITERTIEL

1, ERFIHBREEL, BERTEERR. PUE, —BRIEENN 1.0MPa, ZRFIELESERAE. REFEE. BSHEETR, SRELMEES
R R SR
2, SHUSH TENERE LD, BERERAEXL, BiFUSHEEL.

1.5uitable for joining the nylon pipe,pu pipe,maximum pressure is 1.0 Mpa.lt is easy used installing fastness and pressurizing trustiness.it is

instaslling at will with the terminal of piecing.
2.Demount the nut first,connect the pipe to the fitting and screw the nut.

FERABH The Main Technical Parameter

A (Material) W (Brass)

iR [BSP]
LSRR [BSPP)

EERERE (Threaded connection)

MRS (Metric thread)
O R EHE R A [NPT]
I{EES (Working pressure) #KES 2.5Mpal fEER, BATEEENHE]
B [PAl
HIEW (Connecting tube) W24 [PE)
BEE [PU]
HEEWHE (Connecting diameter of tube) 4/2.5,6/4,8/6,10/8,12/10,15/12.5[](Out diameter/inside diameter)
T (Medium) FEES S [ BT MMM EN, BEALNER]
T{FEE (Working temperature) -10-60°C [ [P He 48 [ FR AR RS e A 0 |
Tube Outside Diameter You Can Choose As Follows: Thread SizeFor Four Choice As Follows:
@] LUEEN S EIMERTI T BT RN R
Coteo. 23
CodeNo.#H | 4 | 6 | 8 |10 | 12 (5632 | 1/4 [516 | 3/8 | 12 m“ 04
Tub%);‘;;‘éf Dial wi | o6 | 08 | 010| o12|05/32| o174 |05/16| 6378 | 9172 e

Zhejiang Ideal Bell Technology Co.,Ltd. 90




www.ideal-bell.com

Brass Push On Fittings
RiTERX

RPC RPL-Rigid

Tube OD BSPT | TubeOD | BSPT | |
PART NO. ) R | L1 | PARTNO. D | R | L1 | L
RPC4x2.5-01 4 18" 8 RPL4X2.5-01-R 4 18" 1 175
RPC4x2.5-02 4 4" 9 235 14 o8( Hh) RPL4x2.5-02-R 4 14 14 17
RPCEx4-01 6 1/8" 8 233 12 10 RPLEx4-01-R 6 1/8" 11 19 10
RPCEX4-02 6 14" 9 248 14 10 RPLEX4-02-R 6 14" 14 19 10
RPC6x4-03 6 3/8" 10 263 17 10 RPL6X4-03-R 6 3/8" 145 21 10
RPC6x4-04 6 2 11 218 21 10 RPL6X4-04-R 6 12" 19 23 325 10
RPCEXE-01 8 18" 8 245 13 13 RPLEXG-0L-R 8 1/g" 1 15 20 13
RPCEXB-02 8 14 9 26 14 13 RPLEXE-02-R 8 14" 14 205 2 13
RPC8X6-03 8 38" 10 215 17 13 RPLEX6-03-R 8 38" 145 215 24 13
RPCExE-04 8 12" 1 29 21 13 RPLEX6-04-R 8 12" 19 b 35 13
RPC10x8-01 10 1/8" 8 215 15 15 RPLL0xB-01-R 10 /8" 1 24 21 15
RPC10x8-02 10 14" 9 285 15 15 RPLL0X8-02-R 10 14" 14 24 24 15
RPC10x8-03 10 3/8" 10 30 17 15 RPLLOX8-03-R 10 38" 145 24 24 15
RPC10x8-04 10 12" 1 3Ls 21 15 RPL10x8-04-R 10 12" 19 26 325 15
RPC12x10-01 12 1/8" 8 28 17 17 RPL12x10-01-R 12 1/8" 1 25 2 17
RPC12x10-02 12 14" 9 29 17 17 RPL12x10-02-R 12 14" 14 25 25 17
RPC12x10-03 12 3f8" 10 30 17 17 RPL12x10-03-R 12 3/8" 145 25 25.5 17
RPC12x10-04 12 12" 1 3L 2 17 RPL12x10-04-R 1 12" 19 26 25 17

Tube CD
PART NO. D PART NO.
RPCAx2.5-GO01 a4 M5x0.8 38 185 10 8| E4Y) RPL4x2,5-01 4 1/8" [ 4 17 233 12 ®8( Bk )
RPC4x2.5-G02 4 M&x1 3.8 18.5 10 DB HE) RPL4x2.5-02 4 1/4" 9 45 17 24.8 14 D8 B
RPCEx4-GO1 6 G1/8" 53 21.6 12 10 RPL6x4-01 6 18" B 4 18 20,5 12 10
RPCEx4-GO2 6 G1/4" & 238 12 10 RPL6x4-02 6 1/4" 9 45 19 22 14 10
RPCEx4-GO3 6 G3/a" 7 25.8 14 10 RPL6x4-03 3 a/a" 10 5 18 215 17 10
RPCHX4-G04 6 Gl/2" 9 27.8 17 10 RPL6x4-04 6 1/2" 11 55 19 25 21 10
RPC8x6-GO01 8 Gl/8" 53 238 12 13 RPL8x6-01 8 1/8" 8 45 215 205 12 13
RPCEX6-G02 8 GL/a" 6 25 12 13 RPLSX6-02 B 1/4" 9 45 215 22 14 13
RPC8x6-G03 8 G3/8" 7 27 14 13 RPL8x6-03 8 3/8" 10 5 215 235 17 13
RPC86-G04 8 G1/2" 9 29 17 RPL8x6-04 8 12" 1 55 215 25 21 13
RPC10x8-GO1 10 Gl/8" 53 253 14 15 RPL10x8-01 10 1/8" B 45 24 22 12 15
RPC10x8-G02 10 Gl/a" 6 275 14 RPL10x8-02 10 1/4" 9 45 24 23 14 15
RPC10x8-G03 10 G3/8" 7 295 14 15 RPL10x8-03 10 3/8" 10 5 24 245 17 15
RPC10x8-G04 10 Gl2" 9 315 17 15 3 : RPL10X8-04 10 1/2" 1 55 24 26 21 15
RPC12x10-GOL 12 Gl/e" 53 253 16 17 RPL12x10-01 12 1/8" 8 45 25 233 14 17
RPC12x10-G02 12 GL/4" 6 26 16 17 RPL12x10-02 12 1/4" 9 45 25 24.3 14 17
RPC12x10-G03 12 G3/8" 7 295 16 17 RPL12x10-03 12 38" 10 5 25 25,8 17 17
RPC12x10-G04 12 612" g 315 17 17 RPL12x10-04 12 1/2" 1 55 25 273 21 17
RPL-G
Tube CD BSPP Tube OD BSFP
PART NO. o M L1 i L | S 51 PART NO. D M L1 L L 5 si
RPCF4x2.5-01 4 GL/! 7 18 13 8( HL) RPL432.5-M5 4 M5x0.8 38 17 19.8 10 8 BHhr)
:EE:E;"; . g;"’; 1‘2 ;; i: ﬁ ﬁ ; RPL4X2.5-M6 4 Méx1 38 17 19.8 10 ©8(HL)
oy : ap © = - ool %) RPLEX4-GO1 6 Gl}ﬂu 53 19 18.8 12 10
RPCF6x4-01 6 G1/8" 7 203 13 10 B A-OH: 5 o g e 2L 12 0
RPCFEx4-02 6 oy o n3 16 10 REASA-CO3 € 3R T 19 3 14 0
RPCF6x4-03 6 G3/e" 10 233 19 10 RPLEx4-G04 6 G12° 3 18 25 17 10
RPCFEx4-04 6 612" 1 243 24 10 RPLBx6-G01 8 G1/8" 53 215 18.8 12 13
RPCF8x8-01 8 G1/8" 7 215 13 13 RPL8x6-G02 8 G1/4" 6 215 21 12 13
RPCF8x6-02 8 GL/4" g 23.5 16 13 RPLAXG-GO3 8 G3/8" 7. 215 23 14 13
RPCFBx6-03 8 G3/8" 10 245 19 13 RPLBX6-G04 8 Gl/2" g 215 25 17 13
RPCF8x6-04 8 Gm: u 255 24 13 RPL10x8-GO1 10 G1/8" 5.3 24 0.8 12 15
:;C'C:l;“:“";g; 12 25" ; i‘; 12 ig RPLIOXE-GO2 10 GLA4" 6 24 2 12 15
At oo e 16 s @ P RPL10xB-GO3 10 63!3: 7 2 24 14 15
RPCF10x8-04 10 612" 1 28 24 15 RPL10xB-G04 10 G1/2 9 24 26 17 15
RPCF12x10-01 12 G1/8" 7 24 17 17 REEL2L0;GOX 1% LLES 3 2 211 14 i
RPCF12x10-02 12 G1/4" g 26 17 17 RPL12x10-G02 12 GL/4" & 25 233 14 17
RPCF12x10-03 12 G3/8" 10 27 19 17 RPL12x10-G03 12 G3s" 7 25 253 14 17
RPCF12x10-04 12 Gl2" 1 28 24 17 RPL12x10-GO4 12 612" 3 25 273 17 17

91 Zhejiang |deal Bell Technology Co.,Ltd. 92



www.ideal-bell.com

Brass Push On Fittings
RITEREL

RPLF-G RPT-G

Tube OD
PART NO. D

Tube OD
P:QRT NO.

RPLF4x2.5-G01 4 G1/8" 6 RPT4x2.5-M5 MEHG 8 ®8( Hﬁ}
RPLF4x2.5-G02 4 G1/a" 9 6 17 0.7 18 O8( B ) RPT4x2.5-M6 4 B EHt)
RPLF6x4-G01 6 G1/8" T [ 19 18.7 13 10 RPTEx4-GO1 6 Gl‘m" 5 ,3 19 1&3 u 10
RPLFEx4-GO2 ] Gl/4" g [ 19 207 16 10 RPTEx4-G02 g GLia" 6 19 21 12 10
RPLF6x4-G03 6 G3/8" 10 6 19 217 15 10 RPTEx4-GO3 6 G3/8" T 19 23 14 10
RPLF6x4-G04 6 G1/2" 11 6.5 19 27 24 10 RPT6x4-G04 6 G2 9 19 25 17 10
RPLF8x6-GOL 8 G1/8" 7 6 215 187 13 13 RPTEX6-GOL 8 G1/8" 53 215 18.8 12 13
RPLF8x6-G02 8 G1/4" 9 (] 215 207 16 13 RPTEx6-G02 8 G1/4" ' 215 21 12 13
RPLF8x6-GO3 8 G3/8" 10 6 215 2.7 19 13 RPTAx6-GO3 8 G3/8" T 215 23 14 13
RPLF8x6-GD4 8 G1f2" 11 6.5 215 27 24 13 RPTBx6-G04 8 G1/2" g 215 25 17 13
RPLF10x8-G01 10 G1/8" 7 [ 24 1a.7 14 15 RPT10x8-G01 10 GL/8" 53 24 208 12 15
RPLF10x8-G02 10 G1/4" ] 6 24 21.7 16 15 RPT10x8-G02 10 G1/4" 6 24 22 12 15
RPLF10x8-G03 10 G3/8" 10 [} 24 2.7 13 15 RET10x8-GO3 10 G3/8" 7 24 24 14 15
RPLF10x8-G04 10 G1/2" u 6.5 24 237 24 15 RPT10x8-G04 10 G1f2" g 24 26 17 15
RPLF12x10-G01 12 G1/e" 7 G 25 21 16 17 RPT12x10-GOL 12 GL/8" 53 25 217 14 17
RPLF12x10-G02 12 G1/a" 9 6 25 23 16 17 RETL2x10-G02 12 GL/4" 6 25 23.3 14 17
RPLF12x10-G03 12 G3/a" 10 [ 25 24 19 17 RPT12x10-G03 12 G3/8" T 25 25.3 14 17
RPLF12x10-G04 12 G1/2" 11 6.5 25 25 24 17 RPT12x10-G04 12 GLf2" g 25 27.3 17 17
|  TubeoD BSPT | _ TubeOD | BSPT |
PART NO, | D R | L1 L B s1 | PARTNO. |
RPT4x2.5-01-R 4 1/8" 11 17.5 20 ©8( B ) RPST4x2.5-01 4 ®8( lﬂc )
RPT4x2.5-02-R 4 174" 14 17 2 8| Hi) RPST4x2.5-02 4 1,14" 9 24 a 14 ba( B4k )
RPT6x4-01-R 6 18" 11 19 20 10 RPSTEx4-01 6 /8" 8 4 .I.S 20.5 12 10
RPT6x4-02-R 6 1/4" 14 19 22 10 RPST6x4-02 6 1/4" 9 4.5 19 22 14 10
RPT6x4-03-R 6 3/8" 145 21 24 10 RPSTEx4-03 6 3/8" 10 5 19 235 17 10
RPTEx4-04-R 6 12" 19 223 325 10 RPSTEX4-04 B 12" 11 55 19 25 21 10
RPT8x6-01-R 8 1/8" 11 21.5 20 13 RPST8x6-01 8 1/8" 8 45 215 20.5 12 13
RPT8x6-02-R 8 /4" 14 20.5 2 RPSTExE-02 8 1/4" 9 45 215 22 14 13
RPT8x6-03-R 8 38" 14.5 21.5 24 13 RPSTEx6-03 8 3/8" 10 5 215 235 17 13
RPT8x6-04-R 8 2" 19 23 325 13 RPSTEx6-04 8 ¥y ol 11 55 215 25 21 13
RPT10x8-01-R 10 1/8" 11 24 21 15 RPST10x8-01 10 1/8" 8 4.5 24 22 12 15
RPT10x8-02-R 10 1/4" 14 24 24 15 RPST10x8-02 10 1/4" 9 4.5 24 23 14 15
RPT10x8-03-R 10 3/8" 145 24 24 15 RPST10x8-03 10 3/8" 10 5 24 245 17 15
RPT10x8-04-R 10 12" 19 26 325 15 RPST10x8-04 10 12" 11 5.5 24 26 21 15
RPT12x10-01-R 12 1/8" 11 25 2 17 RPST12x10-01 12 /8" 8 4.5 25 233 14 17
RPT12x10-02-R 12 1f4" 14 25 25 7 RPST12x10-02 12 /4" 9 45 25 243 14 17
RPT12x10-03-R 12 3f8" 145 5 255 17 RPST12x10-03 12 3/8" 10 5 25 258 17 17
. RPT12x10-04-R 12 12" 19 26 315 17 RPST12x10-04 12 12" 11 5.5 25 27.3 21 17
RPT Swivel
B e e e e e e e e e T e e
. [ egrio. | o [ w | u | 1t | v | s | s |
R 7 o T T ; T = o ey
RPT4x2.5-01 4 1/8" B 4 17 233 o8 E&x )
¥ @) RPST4x2.5-M6 4 Méx1 38 17 18.8 10 o8 B )
RPT4x2.5:|2 : 1.!4" ] 45 17 24.8 14 @8 & EETErT 6 G/ o5 15 o ] 0
::3& " :.fm" ; :5 i: 2:;5 ii ig RPSTEx4-G02 6 GL/4" 6 19 21 12 10
- i RPSTEx4-G03 6 G3/s" 7 19 23 14 10
RPT6x4-03 6 3/8 10 5 19 235 17 10 APSTER.GO4 6 612" P 19 75 i1 10
ERTSMON s LI’Z" 1 A b = 1 1 RPSTEx6-GO1 8 G1/8" 53 21.5 18.8 12 13
BETExo-A: B 18 g i e Zitk L L RPSTBx6-G02 8 G1/4" 6 215 21 12 13
RPTBxG-02 8 174" 9 45 215 2 bl B RPSTEX6-GO3 8 G3/R" 7 215 23 14 13
RPTBx6-03 8 3/8" 10 5 2L5 235 17 3 RPSTBX6-G04 8 G1/2" ] 215 25 17 13
RPTBx6-04 8 2" u 55 215 5 21 13 RPST10x8-GO01 10 G1/8" 53 24 208 2 15
RPT10x8-01 10 1/8" 8 4.5 24 2 12 15 RPST10x8-G02 10 GL/4" (3 24 22 12 15
RPT10x8-02 10 1/4" 9 4.5 24 3 14 15 RPST10x8-G03 10 G3/8" 7 24 24 14 15
RPT10x8-03 10 /8" 10 5 24 24.5 17 15 RPST10x8-G04 10 G12" 9 24 26 17 15
RPT10x8-04 10 12" 1 55 24 26 21 15 RPST12x10-GO1 12 G1/8" 5.3 25 211 14 17
RPT12x10-01 12 1/8" 8 4.5 25 233 14 7 RPST12x10-G02 12 GL/4" 6 25 233 14 7
RPT12x10-G2 12 14" 9 4.5 25 243 14 17 RPST12x10-G03 12 G3/8" 7 25 253 14 17
RPT12x10-03 12 3/8" 10 5 25 258 17 17 RPST12x10-G04 12 GLf2" 9 25 273 17 17
RPT12x10-04 12 1/2" 11 55 25 273 21 17

93 Zhejiang Ideal Bell Technology Co.,Ltd. 94



www.ideal-bell.com

Brass Push On Fittings
RiTERX

RPH

| TubeoD | BSPT

PART NO. D 5
P — M5X0.8 58 8 183 5 o8( 1)
RPHEx4-M5 & M5x0.8 58 17.5 183 8 10 RPUL-4x2.5 4 17 8 EiL) i _ RPUT-4x2.5 4 17 ©8{ EHL)
RPHEx4-M6 6 M6x1 58 17.5 183 8 10 RPUL-6x4 6 19 10 RPUT-6x4 6 19 10
RPHEx4-01 6 1/8" 7.5 215 245 12 10 RPUL-8x6 8 21.5 13 RPUT-8x6 8 215 13
:s:?x:ﬁ g 31';;» 12 2235 ;;g i: 13 RPUL-10x8 10 24 15 RPUT-10%8 10 24 15
RPHEx4-04 6 12" 12 295 37 2 10 RPUL-12x10 12 25 17 RPUT-12x10 12 25 17
RPHBXE-01 8 18" 75 22 245 12 13
RPHBX6-02 8 174" 10 242 278 15 13
RPHBx6-03 8 3/8" 11 85 337 19 13
RPHBx6-04 8 1/2" 12 30 37 24 13
RPH10x8-01 10 1/8" 75 25 215 12 15
RPH10x8-02 10 1/4" 10 26.7 308 15 15
RPH10x8-03 10 3/8" 1 a1 362 19 15
RPH10x8-04 10 12 12 325 37 24 15
RPH12x10-02 12 174" 10 27.7 308 15 17
RPH12x10-03 12 3/8" 1 33 362 19 17
RPH12x10-04 12 12" 12 335 37 24 17 RPZA-4x2.5 4 17 8| HE) RPGE4H2S 6 4 113 10 253 10 10 (&
RPZA-6x4 6 17.5 10 %)
RPZA-8X6 8 21 13 RPGEKGExé B 6 125113283 13 13 10
RPZA-10x8 10 24 15 RPG1Ox88x6 10 B8 15 125325 15 15 13
| TubeOD | —— = T o RPGIZI0-I0K@ 12 10 15 15 355 17 17 15
PART NO. D | | f RPGLEXIS-1Z:10 18 12 22 15 425 24 24 17
RPH4x2.5-G01 4 G1/8" 1/8" 7 15 19 29.5 13 B[ FL)
RPH4x2.5-GO2 4 Gl/a" 1/4" 8 10 217 342 16 o8 B4y )
RPH6X4-G01 6 GL/8" 1/8" 7 75 215 29.5 13 10
RPHEx4-GO2 6 Gl/4" ]J . B 10 23 342 16 10
RPHEx4-G03 6 G3/8" 3/8" 9 12 275 397 19 10
RPHBXG-GO1 8 GL/8" /8" 7 75 22 29.5 14 13
RPH8x6-G02 8 G1/4" 1/4" 8 10 242 3432 16 13 PART NO. D1 I s1 s2
RPH8x6-G03 8 G3/8" 3/e" 9 12 g5 39.7 19 13 RPGT6x4-4%2.5 6 4 19 17 10 ©8( BdY)
RPHB8x6-G04 8 G1/2" 1/2" 10 13 30 455 24 13 RPGT&X6-6x4 [ 215 19 13 10
RPH10x8-GO1 10 G1/8" 1/8" 7 75 25 29.5 17 15 s " 3 57 e = =
RPH10x8-G02 10 Gl/4" 1/4" 8 10 26.7 34.2 17 15
RPH10x6-603 10 G3/8" 38" ° 12 a1 39.7 19 15 RPETLEIL-1005 4 2 22 4 1 i
RPH10x8-G04 10 GL/2" 12" 10 13 325 455 24 15 RPGT18X15-12x10 18 1 36 25 24 17
RPH12x10-G02 12 G1/4" 1/4" 8 10 277 342 19 17
RPH12x10-G03 12 G3/8" 3/8" 9 12 33 397 19 17 RPGJ
RPH12x10-G04 12 Gl/2" 12" 10 13 335 455 24 17 STeon
PART NO. [E===x s 5
RPMM RPGJ04 4 195 355 10 8 BT ) 4
RPGJO4-06 4 205 365 10 B Bk ) 46
RPGJ04-08 4 15 375 10 o[ Wk ) L]
RPGJO4-10 4 25 385 10 o Wz ) @10
RPGJO5-04 6 195 368 2 10 4
L1 L g g1 L 5 51 RPGJOE & 205 ars 12 10 L]
RPGJOB-08 [ 215 388 12 10 8
y RPGJOE-10 [ 225 398 12 10 10
0 B5 8 [it'gn Roe 4 Med 315 10 "’gf : RSETB i e % %5 5 &
RPGJOB-06 8 0.5 r 13 13 e
13 266 10 10 “"5:‘;" 6 MBS 355 12 10 RPGI0S 8 215 8 13 13 @8
RPGJOB-10 8 215 g 13 13 @10
125° 205 13 13 REMW & Mua 309 14 1 zzgm fu f:: :'f 1‘; E ‘:‘:
REMM- RPGJ10-06 10 205 a2 15 15 o6
15 E 3 15 15 10x8 10 M13x1.25 45 ir 15 RPGJ10-08 10 s 43 15 15 ©8
RPGJ10 10 225 44 15 15 @10
5 355 1w 17 ROMM- 12 misazs 46 189 1 RPGJL0-12 10 225 is 15 15 o1z
RPGJ12-04 1o 135 415 1T 1T &4
RPEJ12-06 12 ans 425 T 17 o6
RPGJ12-08 12 215 25 17 17 o8
RPGJ12-10 12 225 4.5 17 17 D10
RPGJ1Z 12 225 45.5 7 17 D12

95 Zhejiang |deal Bell Technology Co.,Ltd. 96



==

Compression Fittings
R

FEERTIEX

1, FEAERLERATERMENER, RAENN L0Mpa

www.ideal-bell.com

2. 5BYUHE, EOETEEN, §EERANELN (—ERRHET) , AEHEREFIE, YEFORIERMN, SRR, 1/3 B, I FRiEEfEs.
3. BRVIFREATRTERE, NRMAERERENETEN A

1.5uitable for non-ferrous metal pipes,maximum pressure is 1.0Mpa.

2.Trachea get rid of burr after cutting off,Insert the trachea in the piecing{must insert and leave on earth)then fasten nut.When it can not be-

rotated,continue fastening tight 1/3circle so can firm connection seal.

3. This series of products are suitable for two kinds of union pipes only,if nylon tube of the hard quality is needed,please point out on the order

sheet.

FERABH The Main Technical Parameter

#E (Material)

HEHWA (Threaded connection)

IfEEAH (working pressure)
EEE (Connecting tube)
HEEEEE (Connecting diameter of tube)
i (Medium}

IfEiEE (Working temperature)

Tube Outside Diameter You Can Choose As Follows:

Gr LUEERNSEIMERTI T

Metric Size/ ARIRT | Inch Size/ EHIR

#1H (Brass)

SR EARL [BSP)

SR EH BB [BSPP]

&R L (Metric thread)

R P R E TR AR U R [NPT)

0-1.0Mpa[ ff/8EY, BUATEREENTE]

/R [METAL]

4,6,8,10,12,18,22,28( 5} |(Out diameter)

4z [ BT RAMENES, HEEATKR]

-20-80°C [ [E8¢4 M RE T B0 )

CodeNo. kB | 4 | 6 | 8 |10 | 12 |5/32| 1/4 |56 | 3/8 | 12
Tub%);‘;;‘éf Dial s | o6 | 08 | 610| o12|05/32| o174 |05/16| 63/8 | 9172

Thread Size For Your Choice As Follows:
S LUEENBS RTI T

Code No. 53

IR T N I

Thread Size &R ~F

Zhejiang Ideal Bell Technology Co.,Ltd. 98



www.ideal-bell.com

Compression Fittings
wEEL

CFPC CFPLF-G

Tube OD

Tube 0D

! | a
M L1 L L' | 51

1 | 1 1 ! PART MO,
PART NO. | CFPLF4x2.5-M6

4 Méx1 6 255 15.8 10
CFPCAX2.5-01 4 1/8" 8 21.5 12 10 CPRLPAG M8 4 Ml 1 235 i 10
5 CFPLF4x2.5-G01 4 Gl/8" 7 2% 18.2 10
CFPCExd-02 6 s 8 285 12 12 CFPLFdx2.5-G02 4 G1/4" g 275 n 10
CFPCEx4-03 6 14" 9 30 14 12 .4 CFPLF6x4-M6 6 MKl 6 255 15.8 2

CFPCBXE-01 8 /8" 8 295 13 14 SELLrouE M § L] i ] i
CFPLF6x4-GO1 6 Gl/8" 7 2 182 12
CFPC8x6-03 8 3/8" 10 325 17 14 CFPLF6x4-GO3 6 G3/8" 10 30 26 12
= CFPLF6X4-GO4 3 G2 1 3 30,5 12
CFPC10x8-01 10 1/8 8 31 15 16 b 5 e 3 nh 5 e
CFPC10x8-02 10 1/4" 9 32 15 16 CFPLF8XE-G02 a G1/4" 9 2 22 14
CFPC10x8-03 10 38" 10 335 17 16 CFPLFBXE-GO3 8 G3/8" 10 28.5 26 14
= CFPLFBXE-G04 8 G1/2" 11 35 30,5 14

CFPC10x8-04 10 1 11 35 2 16

4 - CFPLFL0x8-GO1 10 Gl 3 285 19 16

CFPC12x10-01 12 14" - | 335 17 13 CFPLF10%8-G02 10 GL/4" 9 285 2 16
CFPC12x10-02 12 3/3" 10 245 17 18 CFPLF10x8-G03 10 G3/8" 10 31 26 16
R 5 12" 5 % 2 =5 Lm] CFPLF10x8-G04 10 G2 1 3 05 16

CFPLF12x10-GO1 12 GL/8" 7 3L5 215 18

CFPC18x15-01 18 612" 11 385 25 25 CFRLTAS 6603 B G a nE A i

CFPLF12%10-GO3 12 G3/8" 10 aLs 26 18
U TubeOD | T . ! ! CFPLF12x10-GO4 1 G2 1 U5 30.5 18
PART NO. D M L1 | L | s | s1 CFPL

CFPCAx2.5-M6 4 Méx1 6 26,5 10 10
CFPC4x2.5-M8 4 Max1 7 275 12 10 | TubeOD | BSPT | ‘ ! .

CFPC4x2.5-G1 4 GL/E" 7 28 13 10 PART NO, D R L1 L | E 51
CFPCEX4-MB 6 Méx1 7 29.3 12 12 CFPL4x2,5-01 4 18 1 26 b 10
CFPCEX4-M10 6 M10x1 7 29.3 13 12 CFPL6x4-01 6 18" 1 26 18 12
CFPC6X4-G01 6 G1/8" 7 29.8 13 12 CFPLEx4-02 6 1/4" 14 26 2 12
CFPC6X4-G02 6 GL/4" 9 03 16 12 CFPLEX6-01 8 1/8" 11 245 19 14
CFPCBx6-M10 8 M10x1 T 29.8 13 14 CFPLAx6-02 8 1/4* 14 245 2 14
CFPCB6-G01 8 Gl/8" 7 29.8 13 14 CEPLEXE-03 3 378" 145 265 2 14
= e : 3 : % i’ % crrL08 01 1 " u 265 s 16
CFPCL0X8-M12 10 M12x1.25 9 a3 15 16 CEEI10X5 03 10 14 24 255 235 15
CFPC10X6-G02 10 i a 333 1 16 CFPL10x8-03 10 3/8" 145 285 24 16
CFPC10x8-G03 10 G3/8" 10 348 19 16 CFPLLOXB-04 10 12" 19 335 34 16
CFPC10x8-GO4 10 Gi/2" 11 36.3 24 16 CFPLI2x10-02 12 1/4" 14 315 26 18

CFPC12x10-M16 12 M16x1.5 10 358 19 18 CFPL12x10-03 12 3/g" 145 s 26.5 18

CFPC12x10-G0Z2 12 G1/4" 9 348 17 18 CFPL12x10-04 12 1/2" 19 345 34 18

CFPC12x10-G03 12 G3/8" 10 35.8 19 18 CFPLISI5. 04 16 12 19 36 24 25

CFPCI12x10-G04 12 G1/2" 1 73 24 18

CFPCI8x10-M20 18 M20xL5 1 ar 25 25

CFPC18x10-G04 18 GL/2" 11 ar 25 25

Tube OD

CFPCF-G

PARTNO. | D L

! o CFPL4x2.5-M6 4 Méx1 1 6 26 18 10 10
PART NO. D CFPL4x2,5-M8 4 Maxl 13 7 26 21 12 10
CFPCF4x2.5-G01 4 G1/8" T 245 13 10 CFPL4x2.5-G01 4 G1/8" 13 T 26 21 14 10
CFPCF4x2.5-G02 4 GL/4" 9 26.5 16 10 CFPLEx4-M8 € Max1 13 T 26 21 12 12
CFPCF4x2.5-GD3 4 G3fs" 10 215 19 10 CFPLEx4-M10 (-] M10x1 13 7 26 21 12 12
CFPCF4x2.5-G04 4 G1f2" 11 28.5 24 10 CFPLEx4-GOL g G1/8" 13 7 26 21 14 12
CFPCFEx4-GO1 6 Gl/a" i 25.5 13 12 CFPLEx%4-GO2 6 Gl/a" 155 g 26 235 1T 12
CFPCF6x4-G02 6 GL/4" 9 27.5 16 12 CFPLExG-M10 8 M10x1 13 7 245 21 12 14
CFPCF6x4-GO3 6 G3/8" 10 285 19 12 CFPL8x6-GO1 8 G1/8" 13 7 245 21 14 14
CFPCF6x4-GO4 6 GL/2" 1 20,5 24 12 CFPLBx6-G02 8 G1/4" 155 9 245 235 17 14
CFPCF8x6-G01 8 Gl/8" i 26.5 14 14 CFPLEx6-GO3 8 G3/B" 1T 95 26.5 265 19 14
CFPCFax6-G02 8 GLl/4" 9 285 16 14 CFPL10xB-M12 10 M12x1325 15.5 9 285 25 17 16
CFPCF8x6-G03 8 G3/8" 10 29.5 19 14 CFPL10x8-GO1 10 Gl/8" 13 [} 285 225 14 16
CFPCF8x6-G04 8 G12" 11 30.5 24 14 CFPL10x8-G02 10 G1/4" 15.5 9 285 25 17 16
CFPCF10x8-GOL 10 G1/8" 7 21.5 16 16 CFPL10x8-G03 10 G3/8" 17 95 285 26.5 19 16
CFPCF10x8-G02 10 GL/a" ] 29.5 16 16 CFPL10%8-GO4 10 G1f2" 13 1 335 34 24 16
CFPCF10xB-G03 10 G3/a" 10 30.5 19 16 CFPL12x10-M16 12 M16x1.5 17 g5 315 29 19 18
CFPCF10x8-GO4 10 GL/2" 11 3L5 24 16 CFPL12x10-G02 1 Gl/4" 15.5 8 315 21.5 17 18
CFPCF12x%10-G01 12 GL/a" T 28.5 18 18 CFPL12x10-G03 12 G3/8" T 9.5 315 29 19 18
CFPCF12x10-G02 12 GL/4" 9 30.5 13 18 CFPL12x10-GO4 12 G1f2" 19 11 345 34 24 18
CFPCF12x10-G03 12 G3/8" 10 315 19 18 CFPL18x15-M20 18 M20x15 19 11 36 34 24 25
CFPCF12x10-G04 12 GL/2" 1 32,5 24 18 CFPL1Bx15-G04 18 GL/2" 13 11 36 34 24 25

99 Zhejiang Ideal Bell Technology Co.,Ltd. 100



www.ideal-bell.com

Compression Fittings
+EEL

CFPT CFPST-G

Tube 0D Tube 0D

PART NO. D L2 S
PART NO. CFPST4x2.5-M6 4 Méx1 11 6 26 19 10 10
CFPT4x2.5-01 4 1/8" 11 26 19 10 CFPST4x2.5-M8 L Méx1 13 [ 26 21 12 10
« CFPST4x2.5-G01 4 G1/8" 13 7 26 21 14 10
ket : 1 = = = = CFPSTEx4-M8 6 m;xi 13 7 26 21 12 12
CFPT6x4-02 6 4 14 26 2 12 CFPSTEx4-M10 5 M10x1 13 7 26 2 12 12
CFPT8x6-01 8 1/8" 11 245 19 14 - CFPSTEX4-GOL 6 G1/8" 13 7 26 21 14 12
CrPTR0l g 14 " 2% 2 1 CFPSTGX4-G02 6 G1/4" 155 9 26 235 17 12
CFPST8x6-M10 8 M10x1 13 7 245 2 12 14
CRPTRad . an 145 il o 4 CFPSTEX6-GOL 8 G1/8* 13 7 245 21 14 14
CFPT10x8-01 10 1/8" 11 28.5 20.5 186 CFPSTBx6-G02 8 G1/4" 15.5 ] 245 235 17 14
CFPT10x8-02 10 4" 14 285 235 16 CFPSTEX6-GO03 8 G3/8" 17 95 26.5 265 19 14
iR o8 i o s &2 # = SO P S : e — 18
CEPTIONE 04 10 ol 19 s 24 20 CFPST10x8-G02 10 GL/4" 155 ° 2.5 25 7 16
CFPT12x10-02 12 14" 14 315 26 18 CFPST10x8-G03 10 G3/8" 17 9.5 285 26.5 19 16
CFPT12x10-03 12 3/8" 145 315 265 18 R CFPST10x8-GO04 10 G1/2" 19 11 335 34 24 16
SR i i = e - & Tty T ¥ 7
CFPTIRAS-04 18 w L 36 o ) CFPST12x10-G03 12 G3/a" 17 a5 315 29 19 18
CFPST12x10-G04 12 G1/2" 19 11 345 34 24 18
' ' CFPST18x15-M20 18 M20x1.5 19 11 36 34 24 25
Ladacehe | ! - ! - - CFPST18x15-G04 18 G1/2" 19 1 36 34 24 25
PART NO. D ,
CFPT4x2.5-M6 4 Méxl 11 6 26 19 10 10
CFPT4%2.5-M8 4 Max1 T 2% 21 12 10 CFPH
CFPT4x2.5-G01 4 Gl/8" 13 7 26 2 14 10 | TubeOD |  BSPT
CFPTAX4-M8 5 M8x1 13 7 26 71 12 12 PART NO. D R 5
CFFTEx4-M10 6 M10x1 13 T 6 21 12 12 CFPHAX2.5-M5 4 M5x0.8 58 21 18.3 B 12
CFPT6x4-GOL 6 G1/8" 13 T 26 21 14 12 CFPHEX4-M5 6 M5x0.8 58 255 18.3 E 14
CFRT6x4-G02 6 Gl/4" 155 9 2% 2.5 1 12 CFPHEXA-M6 6 Mex1 58 255 183 8 1
Shilost-MIO £ B ko L A = 2 24 CFPHEX4-01 6 1/8" 75 215 24.5 1 14
gmg‘,ﬁ : gﬁ: 1? e ; §i§ 22315 i: i: CFPHEX4-02 6 1/4" 10 295 278 15 14
CFPT8x6-G03 8 G3/8" 17 95 26.5 265 18 14 CFPHBX6-01 8 1/8" 75 265 24.5 2 16
CFPT10x8-M12 10 M12x1.25 155 9 28.5 25 17 16 CFPHEXE-02 8 14" 10 28.5 218 15 16
CFPT10x8-GO1 10 G1/a" 13 7 285 25 14 16 CFPHEX6-03 8 3/8" 11 305 337 18 16
CFPT10x8-G02 10 Gl/4" 15.5 9 2B.5 25 17 16 CFPH10X8-02 10 1/4" 10 30 0.8 15 18
CFPT10x8-G03 10 G3/8" 17 a5 285 265 19 16 CFPH10X8-03 10 3/8" 1 7] 36.2 19 18
CFPT10x8-G04 10 G1/2" 19 1 335 34 24 16 CRPHIONS 04 10 2" 12 35 p- 24 18
CFPT12x10-M16 12 M16x1.5 17 9.5 315 9 19 18 a
CFPT12x10-G02 12 G1/4" 155 9 s 215 17 18 e — '”4. & = = - —
CFPT12¢10-G03 12 G3/8" 17 95 3Ls 29 18 18 CrEHAOns 22 e i = o 19 A5
CFPT12x10-G04 12 G1/2" 19 1 345 34 24 18 CFPH12X10-04 12 12" 12 3 3 24 25
CFPT18x15-M20 18 M20x1.5 19 11 3% 4 24 25
CFPST CFPT18x15-G04 18 G1/2" 19 1 36 34 24 25

Tube OD

PARTNO. ' CFPHF

CFPST4x2.5-01 4 1/8" 11 26 19 10
CFPST6x4-01 6 1/8" 11 26 19 12 PART NO. L1

CFP5T6x4-02 6 144" 14 26 22 12 CFPHF6X4-01 6 G1/8" 1/8" 7 75 215 295 13 14
CFPSTax6-01 8 1/8" 11 245 18 14 CFPHF6X4-02 6 G1/4" 1/4" 8 10 295 342 16 14
CFP5T8x6-02 8 14" 14 245 22 14 CFPHFEX6-01 8 G1/8" /8" T 75 265 295 14 16
CFPST8x6-03 8 378" 145 26.5 24 14 CFPHF8X6-02 8 G1/4" 174" 8 10 285 34.2 16 16
CFPST10x8-01 10 1/8" 11 28.5 205 16 CFPHF8X6-03 8 G3/8" 3/8" 9 11 305 39.7 19 16
CFPST10x8-02 10 14" 14 285 235 18 CFPHF10X8-01 10 G1/4" 1/4" 8 10 30 342 17 18
CFPST10x8-03 10 3/8" 145 285 24 16 CFPHF10X8-02 10 G3/8" 3/8" 9 11 32 39.7 19 18
CFPST10x8-04 10 12" 19 335 34 16 CFPHF10X8-03 10 G1/2" 1/2" 10 12 35 455 24 18
CFPST12x10-02 12 1/4" 14 3L5 26 18 CFPHF12X10-02 12 G1/4" 1/4" 8 10 31 34,2 19 25
CFPST12x10-03 12 3/8" 145 315 265 18 CFPHF12X10-03 12 G3/a" 3/8" 9 11 33 39.7 19 25
CFPST12x10-04 12 1/2" 19 345 34 8 CFPHF12X10-04 12 G1/2" 1/2" 10 12 36 455 24 25
CFPST18x15-04 18 12" 19 36 34 25

101 Zhejiang |deal Bell Technology Co.,Ltd. 102



www.ideal-bell.com

Compression Fittings
wEEL

CFPUC CFPMM

PART NO. D D1 L i 51 | s2

|

PART NO. D L ‘ s s1 PARTNO. | B | M L 5 s1 CFPGTEX4-4x2.5 6 4 26 245 12 10

CFRUCH25 4 345 10 10 CFPMM-4x25 4 MexL 485 12 10 CRPGTExE-0x4 8 6 43 35 14 44

CFPUC-6x4 6 375 12 12 CFPMM-6x4 6 MI1Oxl 515 14 12 CFPGT10x8-8xb 10 8 285 26.5 16 14

CFPUC-8x6 8 39.5 14 14 CFPMM-8x6 8 M1l 54 17 14 CEPGTI2x10-10x8 12 10 15 10 18 16
CFPUC-10x8 10 42 16 16 CFPMM-10x8 10 Mldxl 565 17 16

CEPGT18X15-12x10 18 12 36 34 25 18

CFPUC-IZx10 12 44.5 18 18 CFPMM-12x10 12 MIlexl 59 19 18

CFPUC-18x15 18 48.5 25 25 CFPMM-18x15 18 M22x1 63.5 24 24

CFPUL
CFPGJ

‘ | TubeoD | | _ | Tube ID
p PART NO. ‘ D L 51 PART NO. D L 51 PART NO. D L1 L | s S1 | G
‘ CFPGID4 4 19.5 42 10 10 o4
CFRUL42.5 4 23 10 CFRUT-42.5 4 3 10 ks 4 205 2 A0 18 bd
CFPGI4-08 4 215 44 10 10 @8
CFPUL-8x4 6 26 12 CFPUT-6x4 6 26 12 CFPGJ4-10 - 22.5 45 10 10 10
I ® % 1 CFPGJOE-04 6 18.5 438 12 12 o4
CFPUL-8x6 8 245 14 o CFPUT-8x6 8 245 14 CFPGOG 6 205 448 12 12 6
CFPGJOG-08 6 215 45.8 12 12 8
CFPUL-10x8 10 285 16 CFPUT-10x8 10 285 16 CFPGIOE-10 6 25 46,8 12 12 $10
CFPGJI0E-04 8 19.5 443 13 14 @4
CFPUL-12x10 12 315 18 CFPUT-12x10 12 3Ls 18 ey . = s 1 A o5
CFPUL-18x15 18 36 25 CFPUT-18x15 18 36 25 L: CFPG.J08 8 L5 463 13 14 &8
8 CFPGJ0S 10 3 25 473 13 14 ©10
CFPGIIS-12 8 225 413 13 14 12
CFPGJL006 10 205 468 15 16 6
CFPGJ10-08 10 215 478 15 16 )
CFPGJL0 10 25 483 15 16 10
CFPGIL0-12 10 225 438 15 16 D12
CFPGII2.08 12 215 493 18 18 8
CFPGJ12-10 12 25 50.3 18 18 @10
CFPGEIL2 12 225 503 18 18 12
C F P C A CFP G CFPGJIS-10 18 225 505 25 25 ®10
CFPGJIE-12 18 25 505 25 25 ®12

PART NO. PART NO.
CFPCA-4x2.5 4 23 10 CFPGEX4425 6 4 36 12 12 10
CFPCA-6x4 6 % 12 CFPGBx6-6x4 8 6 385 14 14 12
CFPCA-8X6 8 245 14 CFPGIOXB8x6 10 8 41 16 16 14
CFPCA-10x8 10 285 16 CEPGI2x10-10x8 12 10 43 18 18 16
CFPCA-12x10 12 315 18 CHpa> mn4ss = 25 18
CFPCA-18x15 18 36 25

103 Zhejiang |deal Bell Technology Co.,Ltd. 104



Vacuum Generator
BETEREDS

How To ORDER www.ideal-bell.com
B 2SR SRR
R T

RV Y Y O 5 5 O T
L @ @ 4 (6 (6 ) @)

(1) E= 5% Vacuum Characteristics

H: BEZ+E High-Vacuum Medium Flow

L: FETAHRE Medium Vacuum Large Flow

E: BHS/)7i® High-Vacuum at Low air pressure supply type

(2) WEMEE TR Nozzle OD
M B Nozzle Dia.
AE T HeRE | fE
1M Code Negative Negative | Vacuum | Negative
| Pressure Pressure Flow Pressure
05 0.5 0.02 -90.4 7 -66.5 11 -92 3
a7 0.7 0.03 -93 13 -66.5 24 -93 10
10 1.0 0.04 -93 27 -66.5 26 -83 20
**H 7 L BN ESFED 0.5Mpa,E B3 0.35Mpa (TREN)
**The supply pressure for H and L types is 0.5Mpa; and that for E type is 0.35Mpa
(3) i@ 12EE valve Type (4) A% %R < Vacuum Port Size
GES Normally closed type
] misgy | Doublesolenoid t{pe(retention &5 Code 4 6
i type
EREIFIR, TR, FiFE
(5) SimR T Air Supply port size (6) HFSiBR T Exhaust port size
5 Code 4 6 £58: Code S J
o o — ot
(7) E=FF 3¢ Vacuum Switches (8) iE{&Z % No. of manifold
#8 Code | A No Code P 5 o o o8
ode
e o
=5 Pressure
s ¢ FEREF X Without ;
¥ Specification sensor with LED iR M@ NO.of
pressure indicator{two Vacuum Switch Manifold 2 % ¢ 8
switch outputs)

* I \ESFE DC 24V: Voltage DC 24V
* B3RS A\ FBE DC 24V: Solenoid valve voltage DC 24V

Zhejiang Ideal Bell Technology Co.,Ltd. 106




www.ideal-bell.com

Vacuum Generator
BETEREDS

EZFB: Applications
AL ZNATIEEE, k. BF. ES. 8% R, B8, SAFE.
Vacuum generators are widely used in industrial automation, machinery, electronics, medicine, packaging, printing, plastics, robotics and other

fields.

¥/ Characteristics

EFSTE: Fluid Media Fnoses (FeeRmd) (HeSnsdsE) compressed ArNot Liquid)
1 38¥WEE Lubrication Accuracy 10um
THEEH3ERE Working Pressure 0.3~ 0.5Mpa
T fE#EESEH Working Temperature 03~60°C
THEREEEE Working Vacuum 0~ -100 kpa
EE : HIN\ R Voltage DC24v
fEALH BN T, BEEST. ¥SATMHEE, KFEAE. BolEiUl. BIHE, SS0R. Eril. BRiE. SRR, a8, FEESE Applied Tubes PU,PA

BENG. NBAFFS ARSI 2N,

As a means of achieving automation, it has been widely used in electronics, semiconductor component assembly, automotive assembly, automatic

BB E T Nozzle Dia.

handling machinery, light industrial machinery, food machinery, medical machinery, printing machinery, plastic products machinery, packaging

RMEE{= Nozzle Dia. H Type L Type E Type
hi forgi hi bots, etc,. - -
machinery, forging machinery, robots, etc, BT RoTE R AorE G RonE
Negative | Vacuum | Negative | Vacuum | Negative | Vacuum

ﬁ A Characteristics | Pressure Flow Pressure Flow Pressure Flow
HSREBRENBEETES EQEN—HNL, B, A%, 67, (LNHSTEE, XEGEAEETSNES, WE— M HRGTANBEE (Himin). | fpe)
RENEARRAEERE B & 05 05 0.02 904 7 665 11 93 3
A vacuum generator is a new type of high-efficiency, clean, economical, and compact vacuum component that uses a positive pressure source

o7 0.7 0.03 -93 13 -66.5 24 -93 10
to generate negative pressure. With the help of Vacuum Generator, it becomes easy and convenient to get negative pressures in conditions with

10 1.0 0.04 -93 27 -66.5 26 -53 20

compressed air or in pneumatic systems which requires both positive and negative pressures.

**H 0 L Bl NS EH 0.5Mpa,E B 0.35Mpa  (TURES)

IVX BESRERR, k). BEE, R~ fAES. MNRERA. **The supply pressure for H and L types is 0.5Mpa; and that for E type is 0.35Mpa
IVX Vacuum Generator: High-efficiency, Light weight, Compact size, High Negative Pressure and Fast

o il Piping Example

A 0.35Mpa IEERA, E6iA3 -93kpa fiEE:

Input only 0.35Mpa positive pressure can get -93kpa negative pressure; Suction aolenoid valve

Vacuum switch with LED display

[ Vacuum level is easily adjusted by checking LED display.
2 types are available; One is 2 switch output and the
other is analog output type.Besides,vacuum switch with
analog output only which is reasonably priced is available.

WEThis valve s ta generate vacuum
suction.

AEISRESESHT R 1.2W SEmIED;

Only need a 1.2W solenoid valve to connect and disconnect the internal air circuit;

Erhis valve ensures releasing a
work-piece from a vacuum pad
securely,Blow-off airis supplied

EREA 12, WEHLFFXERR 92.58; during the power supply to the Filter
valve is ON. | ¥ Preventing foreign
Only 72g in weight, If with pressure switcher, weight is 92.5g; c substances sucked by
“ m ) avacuum pad from
ing into VX
EASMEIRS 104*55%10.5 MM, HENFFRR YA 117462.5710.5 MM: coming
: ; : egh : ; = Blow-off air rate adjustment needle
. -

Without pressure switcher Size: 104*55*10.5mm, with Pressure Switcher: 117*62.5"10.5mm WTurn the release needie to the fight{cockwselto FedUCe

blow-off air and to the left (counterclockwise)to increase
HHRi, AR, RSB, WMl ERAENERSSEENED: Filter regulator
Resonable Configuration design increases air circulation speed, fast response, making repair or replacement of parts easier MSelect a regulator which can secure the described

Compressor pressure and flow rate in the specifications.
EEATEEE, —MERNSSE, —MNERHSRT, EERERERE; Vacuum pad
vacuum pad_—

Applied with 2 Solenoid valves, One controls vacuum generation, Another controls vacuum distruction, can be used in more applications.

107 Zhejiang |deal Bell Technology Co.,Ltd. 108



Vacuum Generator

HEREHR

SRS

Mt
Vacuum
Characteristics

s
Valve Type

AERRY | #SERY | ASERY
Vacuum Port | AirSupply |Exhaust port

EHE No.
of manifold

L 05 NO Code 6 4 No code Na code 04
E 10 E 06
DE 08

REHE
BE Vacuum

Characteristics

AI%E
Valve Type

REWMRT | HSERSTT | SR
Vacuum Port | AirSupply |Exhaust port

size

REHx
Vacuum
Switches

FEEZ T No.
of manifold

www.ideal-bell.com

L 05 NO Code 6 4 Ne code No code 04
E 10 E 06
DE 08

HERE EMEE | SRR | MRS | HRERS HEAFx
Vacuum Nozzle vﬁ\':g%ﬂ ‘ Vacuum Port | AirSupply |Exhaust port Vacuum ifmi’:ﬂ;:g
| Characteristics | Dia. ype | Size port size size Switches
L 05 NO Code 6 4 No code Na code 04
E 10 E 06
DE 08
5> IVX-HO7-46J-DW

RS
MEEHE . MEBRY | #ISRRYT | BRERY HEAX 5
Vacuum ‘u‘ﬂﬂ%ﬁ . Vacuum Port | AirSupply | Exhaust port Vacuum f:‘:w%:lf;g
Characteristics yP part size size Switches
L 05 NO Code 6 L No code No code 04
E 10 E 06
DE 08
= IVX-HOT-46J-DW-02

? s HRMWRT | HSRRST REHx =427 No.
SACHMIT Valve Type Exhaqst port Ua:_:uum of manifold
Characteristics size Switches | |
VX H o7 D 4 6 J - DW - 02
L 05 NO Code 6 4 No code No code 04
E 10 E 06
DE 08

IVX-HO7-46J-DW-06

Characteristics P Size port size size Switches grim
VX H 07 ] 4 [ J - DwW - 02
L 05 NO Code [ 4 No code Ng code 04
E 10 E 06
DE 08
IVX-HO7-46J-DW-08

109

Zhejiang Ideal Bell Technology Co.,Ltd. 110



www.ideal-bell.com

Vacuum Generator
BETEREDS

RO - FORA PR
- TR 45
&l
0.7TMPa
HORERED 0.45MPa P 10 R N -LH
nass mabml  Eeemmom| —
TR S 5-60°C <
* g #—ie T %
o6 (S ORHEn) 1. B&SE 8t mm ERFRMELT fRIN0R, R
T ——— W pmm Eﬁ%? o iiﬁffm&}' m’}f.:{ﬂz} i 1 ) 3 4 6 8 10 15 20 2 | 30 40 50 60 80 | 100 | 150 | 200
! - 1ZU0SS 0.5 85 7 9.5 @ | @1 | @2 | 23 | @24 | @26 | 28 |@10| @15 | @20 | @25 | @30 | @40 | @50 | @60 | @80 | @ 100| @ 150| @ 200
* AR ERIREL, BEAHE e BEE o - = =
* IR, ERE — 0‘5 - - - 2, WA
* HERERT A : i ,
Ll S = | e — — = = wE | um EREETE MBS | GRGES | EEREEE |t
. N THESR A55/S -20 ~ 120°C B z @1~ 200 .
* %S 0.45MPa BIFER T S ERR A55/S -50 ~ 220°C Hfa - @ 1~@ 200 -
SE SRR A55/S -30 ~ 180°C p=Fan 10°~10°0-cm @1~@50 “
FS AREIRR A55/S -30 ~ 180°C Tt . @ 6~@ 50 "
NE FETHK AB5/S 0~ 120°C REESR 10°~10°Q-cm @1~@ 50 .
F R ATO/S -10 ~ 230°C R - @ 1~2 50 -
FE SERIGR AT0/S 0~ 200°C EE 10°~10°Q-cm @1~0 50 .
&R @1 @2 @3 @4 @6 @8 210

#* BREHREEESEAN, REMEREESEEY, FENDHERE; RREGFERSGHS &, HEE, BHhitE. 2 BREE Y fRk.
SANERE, MEBESEA ASS; ESHEERESR, M ShMEENTISERE, BEEHR A6YS, ESARARA.

SMERHE SMERTE K" NGRS, BEEE

RS | N
IZFC100-04B | IZFC100-6B | [ZFC200-6B | 1ZFC200-08B WEURWE ATENOL kEAAD kel AeeND kel S
@4 95 o6 8 o |
10 10 30 50 l .
A L S : (-]
ERAEARE 100-0kpa il = f
10um
0-60°C ({E:R7R%) * PISR [ *FR[ * F25R L] + PRORL] H PR * PSORL |
0.15MPa o - . e ] == h
B, WS, PUME. B PUE Ll
= (&) 1-628 1-635
BrES BES&RTAZE
A, BEE. IZFC [ 100 |- 04 | B
* Biieskst, RES B, T wrm
TR E LU E R, EETRE IN-OUT BSEFIME
* RAREIEIRESH, FRE LR @A B, 100 | & 20e/min(ANR) B% |EFie|zens
*EER, #OSHOER—®EL, REAR. 200 | ok 20¢/min{ANR) 04 ¢4 | zrcioo
" RS, 08 o | Zcao0 mEH 50
R A LR S Wpes/ B/ | cyr g, Mt H0—MN 1~ 3 ATHE

D>10 | 1pes/® | #: D HTEEHEOER (mm) o FEYIEBEFEE

m Zhejiang Ideal Bell Technology Co.,Ltd. 112



www.ideal-bell.com

Vacuum Pad
BT E

FSIRA - #7085 PR Q) L=t m! HOIRAR - R PR
| = =5 a J]
IR £ 48 4 E T3 ReEn | mmse | #st PA EFEX TS H SR - SHBIESL B4 mm PAL/2/3/4R  PAG/BR PA10/15R
ey | Y| otuE
" * 6J :zgg X HeH | B%
#B (@Ed| %8 | pEHE ¢ M (Sl |
P C 10 R N 6J -LH s pyp 2L (L |
smanl  pemal menml  memnl  ceammsom! IS %; 1 2| Mx05 | 8 | 2 | 8 | 4
6B 6 BE 2 " 21 | M5%05 | 8 2 8 4
- 01 Rcl/8 . 3 71 | M5%05 | 8 2 8 4
75
! 02 Rel/4 _ 4 21 | msX05 | 8 2 8 4
O A=REFREL 6 215 | Mexo7s | 10 | 2 | 105 | T
PE PE PA | B e B 26 | Mexors | 10 | 2 [ 105 ss
BESy0 |[REE( pg 365  Mex075 | 10 | 2 | 15 | 8
EEATMSESHO | BEEXNEESED | #RtmE RS0 | ¥EANEEEN0 | Betakess | setaseen TRHIR BRER |\ -
| @EO| 15 e ars | mexors | 10 | 2 | 15 | @
20 68 44 M12X1 14 4 15 10
25 45 M12X1 14 4 18 11
30 45 | mia | 14| 4 [ 18| 12
40 48 MI12X1 14 4 18 14
50 49 M12X1 14 4 18 15
BT 2 mm
@R 2 % WAHE (N S SE FS} AW, WHE, Hiths. ReHESEERaLIE
#E | 1 2 3 4 | 6 8 10 15 20 25 30 40 50 60 | 80 | 100 | 150 | 200 i, WEIEEEAR, % LRPER {1 <@ d< 15mm] HEESATEON—ER,
#% |01 | 02| 03 | 24| @6 | @8 |@10| 215|220 |@25| @30 | @40 | @50 | @60 | @80 |@100|@ 150| @ 200 TAEE, # ERADVELR P RATRBNARESEHR, ¥ BERRER, &
4 (B®m) " ek “ (" BtiF. 4l PAISR () 6B
@ BEME
PB B MEmRZiwO PBI/2/3/4R  PBG/BR PB10/15R
BERE shoreA SERREEE ke EAREEE u e
N TR A55/S -20 ~ 120°C e - 2 1~@ 200 . : f o
3 BRI AS5/S .50 ~ 220°C ae& . 0 1~@ 200 , g§d| 2n | mavm| A2 | ; el
SE SEER A55/S -30 ~ 180°C RBAR 10°~10°Q-cm ®1~@50 % 22 | M3X05 | 5 T T di [
FS FEERR AS5/S -30 ~ 180°C as - @6~ 50 7 w 22 Mm0s | 5 |50l 4 ; { k7
NE ST AB5/S 0~ 120°C REES 10°~10°Q-cm 21~ 50 3 8 [ 2 | mawos | 5 | 15| 1 | 4
F Fis ATO/S -10 ~ 230°C 3] - @1~ 50 - 4 22 | maxos | 5 [ 15 | 11| a PAG0/80/100R
FE SRR ATO/S 0 ~ 200°C == 10°~10°0-cm 1~@ 50 . 6 27 | Maxor | 8 | 18 | 1 | 7 M c L
& BEMREEESLSTH, REMREBESEEMN, #EWDENRE;, RTERFERTHE R, BEE, HNtE. " ZFREE 7 £ERE. 8 255| Mdx07 | 8 18 | 12 | 55 wf " MNIE]
EARE, HHERARA AS/S; ESHRERA, 0: AHABENTRIRR, BEX AC/S, ESHEOEA l“ Hilwon 143 % %16 et g
Pk 15 N. S. &) kT MEBX1 12 20 18 9 m \@ i
e 20 |papa| SE ep | 38| mex1 | 12 | 20 | 18 | 10 11T a _ ] X
PA EIERX TSP ESTRO - RIEIEL ae _ — TSR 3 [EGR g 39 | mext | 12 | 20 | 18 | 1 ..I_,.C_TI- | |
PA1/2/3/4R PA6/8R PA10/I5R PA20/25/30/40/50R e . 30 FE 39 | MeX1 | 12 | 20 | 18 | 11 - | 17— R
i | | 40 42 | mext | 12 [ 20 [ 18 | 14 { — ]
— . 1 26 | Mex0.75 | 8 | 2 | 10 | 4 p ol wee T2 T2 s s
Z 4 20 | s 2 2 L1 - 60 58.5 | MBX1.25 17 5 23 20.5
3 2 | M6x0.75 | 8 | 2 | 10 | a -
o 4 26 | M6X0.75 8 2 10 4 80 1 61 | M8X1.25 17 5 23 3 PAL50/200R
1, H 2 Mo | 1| 3 | D7 100 63 | Mex12s | 17 | 5 | 23 | 28 M e
= 8 05 Mix1 | 12 | 3 | 12 | 55 150 , ol mexa [26] 10| a0 | as g MIE
10 34 | Mixa | 14 | 4 | 20 | 8 o
- PA15D!2£?E. o’ 15 N§£5~ T TR 7] 7 0 5 200 115 | M1eX2 26 10 40 50 i N
ﬁ Wit 0 R S e S I MR (N S SE FS} NS, SUE, tHOLoE, REHRSBEETEH, a hj s
1] Ler SHO [ 30 BE 35| M | 17 | 4 | 20 | 11 EREEEAS. ¥ hRDERAETER, M4BH 4J. X HERUBESEP A | \|
| ) | I\ - :;: :im o j; 223 f; FIRBNAREESHR, X BEARAR, B8 * MR " 88 “ () " 8. [ F—F——%
1 G 1 1 = | 60 s05] maoxt | 24 | 5 | 20 [ 205 f: PBISR O 6J L ed 1
80 1 [ 53 | meox1 | 24 | 5 | 20 | 23
3 IR N S SE FS) 20 RO, U, AE0MERS, MR STIAI RSN, A DR, 100 55 | M20X1 | 24 | 5 | 20 | 28
# LEARRE {1 €2 d € Simm} IERSEESEOA—WE, FrEE, ¥ RRUGEeR P *H 150 95 M24X1 30 10 30 45
RETEREARKIR, * ERRLR, WE © (M) © WE " 0 " KT 9 PAISR () 6 00 & e vema 8 18 s [0

13 Zhejiang Ideal Bell Technology Co.,Ltd. 114



Vacuum Pad
BT E

HE R - #FRES PR
PC SN R eEig 0]

HERE - #7458 PR
PE BIEXEZERER

www.ideal-bell.com

g mm  PCU3/AR Pcs,!a PC10/15R PC20/25/30/40/50R B B
o we
- — l = —
Tl e £3 | &Fd | X0 | BEME | KEE0 | 4EB M I
. e . . l | PEO.T/1/15/2/3/4RM  PE1/2/3R PEG/SR
2 4) |43 | M12¢k1 | 14 | 4 | 13 | 4 3 ol 2 hions : -
3 4B |43 | M1X1 | 14 | 4 [ 13| 4 3 1 9 M3X0.5 4 a o Maos
4 43 | MiXL | 14| 4 | 13| 4 3 = AT - == M3x0.5 MSx0.8
S [RMRe ~ %
6 43| Mi2x1 | 14 | 4 | 13| 7 3 ey ol v H55 | 2 of ™
2 9 | wmaxos 4 &
8 45.5) MI12X1 | 14 | 4 | 13 | 55 3 . & = o &
10 60 [ Mi4x1 | 17 | 4 | 20| 8 6 3 9 M3X0.5 4 =.od
A ET N. 5 61 | MI4XL | 1T | 4 | 20 6 PC60/80/100R PE N, S Al od
s » = PC150/200R EEst | ° SE. FS, $ | Woms | &
20 | Ri | SE 62 | M1 | 17 | 4 [ 20 | 10 &
£ waE | 5. | 6B Retia HER NE, Fy 13 | mamos | 4
BR| 25 | ma NEF, 63 | MI4XL | 17 | 4 [ 20 | 11 6 22 FE
= [ FE 63| MI4XL | 1T | 4 | 20 | 1 & 2 13 | M3x0s 4
40 86 | M14X1 17 4 20 14 6 3 REDE 13 M3X0.5 4
50 67 | MI4X1 | 17T | 4 | 20 | 15 6 i
50 755| M22XL | 27 | 5 | 26 | 205 & A 13 | MBOE 4
80 1 79 | M22X1 .73 5 26 23 B B 15 M5X0.8 T
100 BL|M2XL| 2T | 5 | 26 | 25 6 . s EET— g
150 , |164| ma0x2 [ 36 [ 10 [a8 [ 45 6
o e % 0] % | W e X IREPF (N S SE FS} uEe g, S0, BnE. XeHRSHED
¥ MR H PN S SE FSHAMSH™ &, BAE, HMS. RedRS5EE BT LIEH, AILUEM, FREFE0AE. ¥ RS P RYIMBMIERE S E5NR,
HiEiEEEER. ¥ LRPEFHNETER, M4BM4). X HRLDBELMP R ¥ ECOTEE, B0 * (BR) " ® Y 0 " 5T #: PEBR O
FImERITRESENRE, » SEREAE, BiE " (HE " #5% “ ) © ®if
fl: PC15R ()} &J = i
PAEIEATNSES RO - HRIEL
PD #EXMmESEHO _ PDL/2/2/4R PD6/8R PF1/2/3/4R PFB/8R
BEfi: mm
| = | s 014 ~a1d
e ' , M z rﬁk‘ M
85 [ WA [ ] = X : = |moa| o5 | 3 | 4 <\ ”
1 ' 40 |MBx075) 10 | 2 | 13 |165] 4 | 3 P : 2 2 |mox1| 95 | 3 | 4 o o 12 o r_ |
2 4) |40 |mexo7s| 10 | 2 |13 [165] 4 | 3 o 19, & P w \wiml &% | & | % = =y LH
3 48 |40 |mexo7s| 10 | 2 | 13 [165] 4 | 3 F E 4 E& g
4 40 |MEX075| 10 | 2 | 13 |165] 4 | 3 ) 32 |MwX1| 85 | 3 | 4 ﬁ & pd| | ©
6 41 |msxo75| 10 | 2 | 13 | 18| 7 | 3 6 32 |moxa| 95 | 3 | 7
8 395[Mex075| 10 | 2 | 13 | 18 | 55 | 3
10 58 | M4x1 | 17 | 4 | 20 | 20 | 8 | & gl B || T Rem) % | 3 | B ” PF10/15R PF20/25/30/40/50R
PD HER| , |REE| o 51 |nwal| 115 | 6 | 8 519
P 15 N. S. 59 | M14X1 | 17 4 20 | 20 9 6 j=t; 2] /g NE. F. i 219
[ 20 R\ SE | & Teo [maxa| 7|4 [20[20w0]6 o | 15 FE | 52 |mMaxi| 115 | 6 | 9 = | < M
B[ 25 | |NEF. 61 [ Mxt | 17 | 4 [20 (20 [11] 6 1 20 54 |Naxa| 115 | 6 | 10 % " H o
ol I FE 61| MI4XL | 17T | 4 | 20 | 20 | 11 | 6 H17
40 64| MI4XL | 17T | 4 | 20 | 20 | 14 | & % 55 [N LS5 ) 6 |4 d Hiz il
50 65| MI4XL | 17 | 4 | 20 |20 | 15 | & 30 55 |Nmx1| 115 | 6 | 11 = : | st 4 |
C sisfvom [ s [ [ - [aos] e PDG0/80/100R PD150/200R 0 8 |nea| 15 | 6 | 1 ] IEL _lerma
1 M 1 T 5 -
H12
100 9 | M22x1 | 27 | 5 | 26 | - | 25 | 6 i ) 50 B (M) us | ¢ B E (L L L ® 4] | %
150 164| M3oxz | 35 | 10 | 48 5 | 6 i . % ©
= bt T T Ta Ty X A N S SEFS} B #™E, HBIE, NI, HEHRS dq] | ed
bt o EEGAMEY, #EEEEETE. * ARLHEE P RIIMER
3 R HPE {N S SE FS} tair=5, HUEE, HMthS. HERESEEh TR, = CLES ng Rt =] on Q VIR, R BT I (MR " B Y O " i
#W§M$ﬁa P Ikhﬁﬁﬁﬁ ﬁ?ﬂl‘*ﬁﬁlﬁﬁ. HJ 4B ﬂ] 4)s % E*ﬁﬂ%ﬁ P ﬁ - = m: PF10R O
IRSREREAGAE, ¥ BRABTE, WL * (HE) " 28 * (" B, i ===
fl: PD15R () 6J T od | A R
115 Zhejiang |deal Bell Technology Co.,Ltd. 116



AI R TU B ES www.ideal-bell.com

=)

PU Tube

Features/ $3E

*Good performance under high-pressure and extreme weather, resistant against
vibration, corrosion, wern-out and bending.

*Digital screen control of tubing OD & ID during production, keep tolerance within +/-
0.12MM,

*Use imported color toner, to make sure no color fading after longer time.

*Can be used together with various kinds of fittings.

Technical Data/ BRI
Applicable Fluid Type Alr, Water(No Drinking Water/Hot water)
Working Pressure Range -14~150 PSI -0.99~10 bar
Negative Pressure -29.5 in Hg{-14Ps1) -750mmHg(-750Torr)
Working Temperature Range - 23~140 °F (Air)  32~104 °F (Water) uqu“ga ﬁ.}:{;’r}
Connect With Push-to-connect fittings, barb-type and compression fittings

POLYURETHANE (PU) TUBING POLYURETHANE (PU) TUBING

0.0, LD | packinG Item Code ‘ 0.D. ‘ 1.D. PACKING

PU-0320 3mm 2mm 200m/roll 3 M
PU1/8 3.17 2 200

PU-0425 4mm 25mm 200m/roll B = o e
PU-0E40 6mm 4mm 200m/roll PLI5/32" 3.97mm 2.5mm 200m/roll
PL-0B50 Smim Smm 100m/roll PU3/16" 4.76mm 3.2mm 200m/roll
PU-0855 8mm 5.5mm 100m/roll

BL-0860 Simif i 100m/roll PU1/4" 6.35mm 4.23mm 200m/roll
PU-1065 10mm 6.5mm 100m/roll PUS5/16" 7.94mm 5mm 100m/roll
PU-L380 A B 1pmmeoll PU3/E" 9.52mm 6.35mm 100m/roll
PU-1280 12mm gmm 100m/roll

PL-1410 Tkt Tiirion 100m/roll PU1/2" 12.7mm B.46mm 100m/roll
PU-1612 16mm 12mm 100m/roll PUS/8" 15.9mm 12mm 100m/roll
PU-1613 16mm 13mm 100m/roll :

Available Colors: [Blue] [Clear] [black] [Red] [Orange] [Green] -~ Available Colors: [Blue] [Clear] [black] [Red] [Orangel [Green] -,

17 Zhejiang |deal Bell Technology Co.,Ltd. 118



AI R TU B ES www.ideal-bell.com

=)

Bonded PU Tubing HIE Reinforced PU Air Hose F4VE

Features/

- Exceptional flexibility allows a lower degree of tubing curvature radius.

Features/ ¥
« Time-Saving Measure for OEM Applications
- Durable, light weight, abrasion resistant, chemical resistant, and cost-

effective,

- Easier and quicker for assembling
« Excellent performance under high-pressure and extreme weather, resistant against
vibration, corrosion, worn-out and bending.

Technical Data/ B R M4 Technical Data/ BEARHE
Applicable Fluid Type Air, Water(No Drinking Water/Hot water) Applicable Fluid Type Air, Water(No Drinking Water/Hot water)
Working Prassure Range -14~150 PS| -0.89~10 bar Working Pressure Range -14~150 PSI -0.99~10 bar
Negative Pressure -29.5in Hg(-14PS1) -7150mmHg(-750Torr) Negative Pressure -29.5 in Hg(-14PSI1) -150mmHg(-750Torr)
Working Temperature Range 23~140 °F (Air)  32~104 °F (Water) ojaﬁguﬁé::;)r} Working Temperature Range 23~140 °F (Air)  32~104 °F (Water) 0:_54?.20&,}:2{)

Bonded PU Tubing PU HF& Reinforced PU Air Hose PU 3£)E&

2BPU-04 2 Bores 4mm 2mm 20myRoll 1
8mm Smm

1BPU-06 2 Bores 6mm 4mm 20m/Roll
38PU-04 3 Bores 4mm 2mm 20m/Roll RS 100m/roll
3BPU-06 3 Bores Bmm 4mm 20m/Roll
4BPU-04 4 Bores 4mm 2mm 20m/Roll RPU-1065 10mm 6.5mm 100m/roll
4BPU-06 4 Bores Emm 4mm 20m/Roll
5BPU-04 5 Bores 4mm 2mm 20m/Roll
5BPU-06 5 Bores 6mm 4mm 20my/Roll RPU-1280 12mm 8mm 100m/roll
6BPU-04 6 Bores 4mm 2mm 20m/Roll
6BPU-06 6 Bores 6mm 4mm 20m/Roll
THBaH — P oo 20m/Roll RPU-1410 14mm 10mm 100m;/roll
TBPU-06 7 Bores &6mm 4mm 20m/Roll
8BPU-04 8 Bores 4mm 2mm 20m/Roll RPU-1612 16mm 12mm 100m/roll
8BPU-06 8 Bores 6mm 4mm 20m/Roll

19 Zhejiang |deal Bell Technology Co.,Ltd. 120



AIR TUBES ———

=)

PE Tube Nylon Tube

Features/ $3HiE
- Excellent resistance to solvents and lightweight

Features/

- Low moisture absorption, has good chemical resistance, a high tensile strength
- Resistant to sunlight and other forms of ultra violet radiation and exellent coupling retention in high pressure, temperature and vibration
- made from 100% non-toxic ingredients, It' s inert nature and FDA approved status environments
makes it perfect for food, water and beverage piping. - Electrical resistance, can act as insulator in some conditions
- It is ideal for use in pneumatic, drain piping, lab use and chemical transfer - Self-retracting and self-storing coil tube characteristics with excellent memory.

applications which require an inexpensive tubing. - Hardness: Shore D 70

Technical Data/ BRI Technical Data/ BRI

Applicable Fluid Type Air, Water Applicable Fluid Type Air, Water(No Drinking Water), oil,
-14~150 PSI -0.99~10 bar Working Pressure Range -14~218 PSI -0.99~15Bar
-29.5 in Hg(-14PSI) -750mmHg{-750Torr) Negative Pressure -29.5 in Hg(-14PSl) -750mmHg(-750Torr)

TR N 3
Working Temperature Range 23~140 °F (Air) 32~104 °F (Water) D_'Smﬁ.,g mg ) Working Temperature Range 23~194 °F (Air) 32~104 °F (Water) []fﬁﬂgg;cwg:}
Connect With Push-to-connect fittings, barb-type and compression fittings Connect With Push-to-connect fittings, barb-type and compression fittings

POLYETHYLENE (PE) TUBING POLYETHYLENE (PE) TUBING
NYLON (PA) TUBING NYLON (PA) TUBING

[ _itemCode | 0D | D[ PACKING |
PE-0425 2.5mm 200m/roll Item Code PACKING S

4mm NY-0420 4mm 200mjroll
PE1/4" 6.35mm 4.35mm 200m/roll NY-0425 4mm 2.5mm 200m/roll
PE-0640 6mm 4mm 200m/roll / / NY1/4" 6.35mm 4.35mm 200m/roll NY-0530 Smm amm 200m/roll
NY-0640 &mm 4mm 200m/roll
PE-0850 8mm Smm 100m/roll PES/16" 7.9mm 59mm 100m/roll NV5/16" 7.9mm 5.9mm 100m froll NY-0860 gmm émm 100m/roll
NY-1075 10mm 7.5mm 100m/roll
PE-0860 Smm smm 2ol NY3/8" 9.5mm 65mm  100m/roll NY-1080 10mm 8mm 100mroll
PE-10ES 10mm 6.5mm 100mjroll PE3/8" 9.5mm 6.5mm 100m/roll NY-1210 12mm 10mm 100m/roll
Ny1/2" 12.7mm 9.7mm 100m/roll N”:ﬁg? ]limm 191mm 15%0"}!«::1

. mm mm im/rol

PE-1280 120 S A0cmal PEL/2" 12.7mm 97mm  100m/roll . NY-1512 15mm L2mm 50m/roll
NYS/8 15.8mm 12.8mm 50m/roll NV-1612 16 12 50 1

PE-1290 12mm 9mm 100m/roll ' L mm m/fo
, ) . NY-1815 18mm 15mm 50m/roll

PE-1612 16mm 12mm 100m/roll PED/8 15 8rmm 12 8me 1K coll Actable Cators: [Blael (Chaue], Thisck). IRed) [Svanged Kowuan) Available Colors: [Blue] [Clear] [black] [Red] [Orangel [Green] -

m Zhejiang Ideal Bell Technology Co.,Ltd. 122



AI R TU B ES www.ideal-bell.com

=)

PTFE Tube FEP Tubes

PTFE Tubing: PTFE Tubing(Teflone tubing), which is extruded with very tight tolerances, is a good choice for many advanced applications. PTFE FEP Tubing: Fluorinated, ethylene propylene (FEP) is a chemically inert thermoplastic. This transparent, FEP tubing is excellent for acids (all
straight tubes properties allow exceptional resistance to degeneration of mechanical properties under severe conditions. PTFE tubing does not concentrations), aliphatic alcohols, aldehydes, bases, esters, hydrocarbons (aliphatic, aromatic and halogenated), ketones and strong oxidizing
support combustion and has very good dielectric properties. agents.
- | Features/ % Features/ $S{F

- Smooth, non-porous & dimensionally stable The cost-effective brother of PTFE, FEP was developed as a conventionally melt-

- Ultra-pure & non-toxic processible fluoropolymer in response to the limitations and initial difficulties in

- Autoclavable processing PTFE.

| - UV resistant - Excellent physical & electrical properties
3 - Temperature range: -270°C to 260°C /-450° F to 500° F * Ultra-pure & non-toxic
- Meets FDA standards - Non-corroding, non-oxidizing & non-stick

+ Can be cleaned in boiling nitric acid & autoclavable
+ Do not radiation sterilize
v . * UV resistant
' - Temperature range: -240°C t0205°C /-400° F to 400° F
+ Meets FDA & USP Class Vi standards

Applications/ B2 Applications/ BZF
Demanding lab, chemical, electrical, mechanical, pharmaceutical, and automotive applications. Goed for high-purity work. PTFE tubing Demanding lab, chemical, electrical, mechanical, pharmaceutical, and autometive applications. Excellent for the transfer of extreme temperature
withstands extreme temperatures. or highly corrosive materials. Also good for high-purity work.

PTFE Tubing
FEP TUBING

‘ OD(MM) ‘ ID{MM) | Packing/Roll | ©OD(mm) ID(mm} | Packing/Roll

PTFEL/8 * 3.18 L6 50m/roll OD(MM) ID(MM) | Packing/Roll OB{mm) ID{mm) | Packing/Roll
PTFE-0425 4 25 50m/roll - = '
PTFE5/32 © 4 25 50mjroll FEP1/8 3.18 16 50m/roll
FEP-0425 4 25 50m/roll
El - 4
PTFE-0604 6 4 50m/roll PTFEL/A © -1/8 * Eos 344 Som)roll FEP5/32 2.5 50m/roll
FEP-0604 6 4 50m/roll FEP1/4  -1/8 © 635 3.18 50m/roll
PTREH08 8 ¢ Somjroll PTFELf4  -5/32 © 6.35 3.96 50mjroll
FEP-0806 8 P 50m/roll FEP1/4 " -5/32 “ 6.35 396 50m/roll
PTFEL/4 ° -3/16 ° 6.35 4.78 50m/roll
PTFE-1080 10 8 50m/roll FEP1/4 “ -3/16 “ 6.35 478 50m/roll
PTFE3/8 © 953 6.35 50m/roll FEP-1080 10 8 S0mfroll
FEP3/8 © 953 6.35 50m/roll
PTFE-1210 12 10 50m/roll .
PTFEL/2 12.7 9.53 50m/roll FEP-1210 12 10 50m/roll FEPI ° 127 053 50m/roll
* We can make different length per Roll as your request! Thanks! * We can make different length per Roll as your request! Thanks!

123 Zhejiang |deal Bell Technology Co.,Ltd. 124



=)

AI R TU B ES www.ideal-bell.com

Weld Spatter Resistant Tubing PH¥AEE Single-Core Weld Spatter Tubing

SPU: Single-Core Weld Spatter Tubing is a rubber/polyurethane blended material specifically designed for use near welding operations.

Extruded from a single core, there is no extra process required, such as stripping away a jacket. It provides protection against indirect exposure to _
6mm 4mm

weld sparks. SPU-0604 100my/roll
SPU-0805 8mm 5mm 100m/roll
SPU-1065 10mm 6.5mm 100m/roll
TPU: Weld Spatter Resistant Tubing is made 2 layers, inside is PU and outside is anti-flaming jacket, it Is specifically designed for use near SoLiET0 bmm Tram 100m/roll
welding operations. The protective olefin flame-resistant jacket provides protection against direct exposure to weld sparks s S R 100myroll
SPU-1410 14mm 10mm 100m/roll
TAPU: Weld Spatter and Static Resistant Tubing: 3 layers: inside is PU, middle layer is an aluminum foil, outside is anti- oo il il L0 roll

flaming jacket An aluminum foil is added between the outer layer and the inner tube to increase the flame retardant life. Compared with the TPU
series, the flame retardant life is extended by 2 times longer. Can be used in sparking environments such as arc welding and electric welding.

Weld Spatter Resistant Tubing

TR
I S S N B N
TPU-0604 6mm 4mm 100m/roll
TPU-0805 8mm Smm 100m/roll
TPU-1065 10mm 6.5mm 100m/roll
TPU-1070 10mm Tmm 100myroll
TPU-1280 12mm 8mm 100m/roll
TPU-1410 14mm 10mm 100m/roll
TPU-1612 16mm 12mm 100m/roll
Technical Data/ B AR##E Weld Spatter and Static Resistant Tubing
el — | =]
Applicable Fluid Type Air, Water(No Drinking Water/Hot water) _E Bﬂmg%%ﬂ gﬁ Bﬁﬁ EE
Working Pressure Range -14~150 PSI -0.99~10 bar
TAPU-0604 Gmm 4mm 100m/rall
Negative Pressure -29.5in Hg(-14PS1) -7150mmHg(-750Torr) TAPU-0805 Bmm 6mm 100m/roll
Working Temperature Range 23~140 °F (Air)  32~104 °F (Water) gliggg-&:igr} flabdie ABnR i o ki
TAPU-1280 12mm 10mm 100m/roll
Connected with Weld Fittings
RPU-1612 16mm 12mm 100m/rall

Outside Cover Color Available: Black, Blue, Red, White, Green

125 Zhejiang |deal Bell Technology Co.,Ltd. 126



www.ideal-bell.com

A Type Series Muffler B Type Series Muffler

Model ‘ Thread(R) m Thread(R) S(mm)

A-M5 M5 g

A-06 /8" 13 o L 2
A-08 1/4" 17 B-08 1/4"
A-10 3/a" 2
A-15 12" 24 B-10 3/8"
A-20 3/4" 30 ys 2" »
A28 2 36
A-32 11/4" 46 B-20 3/4" 27
A-40 112" 52
A-50 i 64 B-25 : b 36
SD Type Timing Muffler B Type Exhaust Muffling Throttle Valve
5D-06 1/8" 12 BE-06 18" 12
5D-08 1/4" 15 BE-08 14" 14
SD-10 3/8" 19 BE-10 3/8" 17
SD-15 12" 22 BE-15 12" 24
5D-20 3/4" 27 BE-20 3f4"
SD-25 hi 34 BE-25 i
V Type Series Muffler SU Type Plastic Muffler
- Sy TR T
Features/ $¥1iE | Lo ] T 5U-06 1" 12
= o ; S S s v-06 18 12 =
* Installed at exhaust ports to diminish ventilating noise. *Very compact, can be easily installed in limited spaces. su-o8 1/4 15
TREAFSOLURLHSHRE, EWES, ERNFEETER. v-08 14 15 o0 e -
* Plastic Silencer are made from corrosion-resistant plastic to have long * Excellent noise reduction and filtering effect in dry conditions. s il 3 S35 1" -
durability and be light-weight. ETR&H TEESEREEHSEE. V-15 12" 2
EEBHE AR A 2R, SRR, . 5U-20 3/4" 2
* We have BSPP thread, BSPT thread, NPT thread for your choice. V20 34 30
* Metal Silencer are available for high temperature and pressufi{155 BSPP M4, BSPT #i&, NPT iRar{HififiZ. V-25 0 36 sU-25 i 34

environments,
and they are durable against impact. * We also can do according to customer’ s requirement or drawing,
EREERTATEESEFH, HoRS T, BINEAIREE ANE RN EHLE M,

127 Zhejiang Ideal Bell Technology Co.,Ltd. 128




PNEUMATIC SILENCER —

SEEE s
PSU Plastic Silencer (Grey) PSU Plastic Silencer (Blue)

o ¥
e Total Total
.-\\<\ Model | Theead(S) | | qortiinin) Model ‘ Thread(G)
S M5 18
(s

PSU-M5 PSU-M5 M5 18
PSU-06 G1/8" 41 PSU-06 G1/8" 4
PSU-08 G1/a" 64 PsSU-08 G1/4" 64
PSU-10 G3/8" 84 PSU-10 G3/8" 84
PSU-15 G1/2" 94 PSU-15 G1/2" 94
PSU-20 G3/4" PSU-20 G3/4"
PSU-25 G1" PSU-25 G1"

PSE Plastic Silencer

m Thread(R) | Leng?rlnm]

PSE-06 1/8" 13
PSE-08 1/4" 17
PSE-10 3/8"
PSE-15 12"
PSE-20 3/4" 37
PSE-25 17 a7

129 Zhejiang Ideal Bell Technology Co.,Ltd. 130



	可拓样本最终稿_页面_01
	可拓样本最终稿_页面_02
	可拓样本最终稿_页面_03
	可拓样本最终稿_页面_04
	可拓样本最终稿_页面_05
	可拓样本最终稿_页面_06
	可拓样本最终稿_页面_07
	可拓样本最终稿_页面_08
	可拓样本最终稿_页面_09
	可拓样本最终稿_页面_10
	可拓样本最终稿_页面_11
	可拓样本最终稿_页面_12
	可拓样本最终稿_页面_13
	可拓样本最终稿_页面_14
	可拓样本最终稿_页面_15
	可拓样本最终稿_页面_16
	可拓样本最终稿_页面_17
	可拓样本最终稿_页面_18
	可拓样本最终稿_页面_19
	可拓样本最终稿_页面_20
	可拓样本最终稿_页面_21
	可拓样本最终稿_页面_22
	可拓样本最终稿_页面_23
	可拓样本最终稿_页面_24
	可拓样本最终稿_页面_25
	可拓样本最终稿_页面_26
	可拓样本最终稿_页面_27
	可拓样本最终稿_页面_28
	可拓样本最终稿_页面_29
	可拓样本最终稿_页面_30
	可拓样本最终稿_页面_31
	可拓样本最终稿_页面_32
	可拓样本最终稿_页面_33
	可拓样本最终稿_页面_34
	可拓样本最终稿_页面_35
	可拓样本最终稿_页面_36
	可拓样本最终稿_页面_37
	可拓样本最终稿_页面_38
	可拓样本最终稿_页面_39
	可拓样本最终稿_页面_40
	可拓样本最终稿_页面_41
	可拓样本最终稿_页面_42
	可拓样本最终稿_页面_43
	可拓样本最终稿_页面_44
	可拓样本最终稿_页面_45
	可拓样本最终稿_页面_46
	可拓样本最终稿_页面_47
	可拓样本最终稿_页面_48
	可拓样本最终稿_页面_49
	可拓样本最终稿_页面_50
	可拓样本最终稿_页面_51
	可拓样本最终稿_页面_52
	可拓样本最终稿_页面_53
	可拓样本最终稿_页面_54
	可拓样本最终稿_页面_55
	可拓样本最终稿_页面_56
	可拓样本最终稿_页面_57
	可拓样本最终稿_页面_58
	可拓样本最终稿_页面_59
	可拓样本最终稿_页面_60
	可拓样本最终稿_页面_61
	可拓样本最终稿_页面_62
	可拓样本最终稿_页面_63
	可拓样本最终稿_页面_64
	可拓样本最终稿_页面_65
	可拓样本最终稿_页面_66
	可拓样本最终稿_页面_67

